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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempiting guestions :
There are EIGHT questions divided in two SECTIONS and printed both in HINDI and in
ENGLISH.
Candidate has to attempi FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers wriiten in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.
Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a

question shall be counted even if attempted parily. Any page or portion of the page left blank in the
answer book must be clearly struck off.
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Q1.

Q2.
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SECTION A
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Write short notes on the following in about 150 words each : 10x5=50

(a) Conditions for availing of CENVAT credit under various categories of
goods and services.

(b)  Intangible assets and their treatment in the books of accounts of a firm.
(¢)  Assumptions and limitations of Cost-Volume-Profit analysis.

(d) Provisions of Indian Accounting Standards regarding treatment of
depreciation when an asset is revalued.

(¢)  Audit procedures to detect cash defalcations.
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(b)

(c)

(a)

(b)

(c)
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Arvind Enterprises Ltd. had issued Debentures amounting to ¥ 100
lakh on 15t January 2008. The Debentures are to be redeemed on
315t December 2012. In terms of the issue the company is required to
create a Debenture Redemption Reserve Fund. The Trustees of the issue
expect to earn a net return of 10% p.a. on investment of the fund.

(i)  Ascertain the amount to be appropriated from profit every year to
ensure full redemption of Debentures at the appropriate time.

(i) Draw up Debenture Redemption Fund Account for 5 years.

Define and distinguish between marginal and absorption costing with
examples. What are their uses and limitations ?

Explain whether services provided by a Veterinary clinic and Yoga
establishment are exempt from service tax.
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Mr. Asoke and his wife are partners in a trading firm. Their respective
shares of profit for the financial year 201112 were ¥ 50,000 and

< 30,000 respectively.

Their minor son has been admitted to the benefits of another firm
manufacturing toys from which he received = 45,000 as share of profit
and ¥ 1,20,000 as interest on capital. The capital was invested out of the
minor’s own fund gifted to him by his uncle amounting to T 10,00,000.

A house in the name of Mr. Asoke was transferred to his wife on
01.12.2011 for adequate consideration. The property has been let out
throughout the financial year 2011 — 12 at a monthly rent of ¥ 50,000.

Non-convertible debentures of a limited company of ¥ 2,00,000 and
T 2,64,000 were purchased three years ago in the names of Mr. Asoke
and his wife respectively, on which interest is payable at 10% p.a.
Mrs. Asoke had in the past transferred = 1,00,000 out of her income to
Mr. Asoke for purchase of debentures in Mr. Asoke’s name.

Mr. Asoke had transferred & 1,50,000 to Mrs. Ascke in the year
2008 — 09 without any consideration, which she lent out to one Mr. X.
Mrs. Asoke earned ¥ 60,000 as consolidated interest during earlier
financial years, which was also given on loan to Mr. X, During the
financial year 2011 — 12 Mrs. Asoke received interest @ 10% p-a. on the
loan amounting to ¥ 2,10,000.

Mr. Asoke transferred ¥ 1,50,000 to a Trust. The income accruing from

its investment amounted to ¥ 15,000, out of which & 10,000 shall be
utilised for the benefit of his elder son’s wife and T 9,000 for the benefit

of his minor grandchildren.

Calculate Gross Taxable Income of Mr. Asoke and Mrs. Asoke for the
financial year 2011 — 12.
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(b)  Mention the cases where valuation of house property for purpose of
income tax shall be NIL. Also mention the exceptions to such rules, 15
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(a)  KKO (P) Limited is engaged in manufacturing and selling components of
television sets. After drawing up Trial Balance and making necessary
adjustments the following account heads are finalised for drawing up
Profit and Loss Account for the year ended 31.03.2012 :

(T in thousands)

Account Heads Amount
Sales 26681
Cost of materials 14872
Salaries and Wages (factory) 480

Contribution to PF and Welfare Expenses
For workers 96
For office staff 218

Repairs and Maintenance

Office premises 5

Plant and Machinery 90
Provision for gratuities 26
Interest 6
Consumables | 77
Printing and Stationeries 26
Travelling expenses 47

Import and Transportation Costs 1027

Power, Electricity and Oil 1361
Opening Stock 883l
Closing Stock 2054
Depreciation

Plant and Machinery 901

Building and other office assets 60
Wastages | 281
Packing materials 3868
Salaries and allowances 1125
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Rent, Rates, Taxes and Insurance

For factory 100

For office 94
Advertisement and Publicity 39
Postage and Telephones 10
Bank charges \ 9
Miscellaneous expenses 92
Scrap sales 8
Rent received 12
Interest earned on investments 60
Profit on sale of assets 20
Miscellaneous receipts 39

Calculate the following with your comments :

1)

Gross profit ratio

(ii) Operating profit ratio
(iii) Interest coverage ratio

(b)  “An auditor expresses an opinion on a company’s financial statements
taken as a whole, not on individual items on the statements.”

Explain the above statement with examples.

(¢)  How should an auditor evaluate cost of gathering evidences for purpose

of

audit ?
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Write short notes on the following in about 150 words each : 10x5=50

(a) Risks associated with variation between loan maturities and liability
maturities of commercial banks and minimisation of these risks without
affecting profitability.

(b) Distinction between Baumol’s Cash-EOQ Model, Miller & Orr Model and
Stone Model pertaining to cash management of firms.

(c) Checks and balances in Algorithmic Trading as provided by SEBL.

10

10
10
10

(d) Information ratio as developed by Treynor and Black.

(e)  Trade-off theory in capital structure decisions.
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(c)

(d)

(a)

(b)

(c)

(d)

Q7. (a)
(b)

(c)
(d)
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“Rapid financial innovations have led to the emergence of several new
near substitutes for money.”

Discuss at least two such instruments and analyse their impact on the

monetary policy of RBI.

“Asset-based reserve requirement of financial institutions as against
deposit-based reserve requirement of banks can go a long way in
preventing slippage in monetary policy transmission.”

Critically analyse the statement and discuss the mechanism and
modalities of the two systems. ‘

Classify various securities investment of commercial banks. Also
mention how these are valued. Under what circumstances is migration
of securities from one category to another allowed ?

Define and distinguish between ROA and ROI. Decompose these two
ratios into other ratios and interpret each of them.
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(a)
(b)

(e)

(d)

(a)

What is a Credit Forward Contract ?

An investor thinks that the credit spread will widen to more than the
current 250 basis points for an issue.

points ?

Explain ‘Security Market Line’ with illustration under the assumptiong

of CAPM.

Discuss the reasons behind such a state of affairs and critically analyse
various steps taken by SEBI to remedy the situation.
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(a) ~ Prof. James C. Van Horne, by way of example, used the following data to
arrive at a Beta of 0-53.

Period | Market Return | Risk-free Return Stock Return
1 0-11 0-05 0-091
2 017 © 007 0-110
3 (0-02) - 006 0-024
4 0-25 0-08 0234 | 0000
5 0-18 R L 006 0-132
6 0-28 0-07 0-275
7 (0-08) 0-07 0-121
8 0-27 0-09 0-292
9 0-14 0-07 0-105
10 0-00 0-08 0-077
Show the model and make detailed calculations to arrive at the Beta. 30
(b)  Interpret the Beta so arrived at. 5

(¢) What is Exchangeable Debt ? When and why do companies issue
Exchangeable Debt ? What is the likely impact on the price of
underlying assets when such an issue is made ? 15
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (CA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struch off.
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C ®mIE A
SECTION A ' SH

QL. Frfafgn % I AR, S e T 150 Tl A & ;
Answer the following in about 150 words each: "+-" R 10x5=50
(a)

(b)

(c)

(d)

(e).

Q2. (a)

ST FET ) T & el A | o 10
‘Accounting is a language of business.’ Comment. ' ‘

mw(ﬁm)ﬁﬁmm(m)%@m%mﬁwaﬂmﬂa
S (S0 g Sldn) woEE A

Discuss Zero Base Budgeting as a tool’ of planning and controlling. 10

ma{%ﬁ%ﬁwaﬁnmé@mm@%mmﬁmﬁmﬁ

- forfT |

- Write a short note on the provisions of Indlan Accounting Standards

regardmg Inventories. . 10
mwﬁﬁumﬁmé@mﬁmaaaﬁﬁmﬁaﬁﬁm 2013%9gawa
- § 7

What-are the main’ 'px‘o{r'isions of Companies Act, 2013 with respect to

the audit related to D1V1dends N 10

faftr msﬁﬁ’w%wﬁaﬁmsﬂﬁﬁamﬁmﬁﬁm

What are the various ‘Heads of Income’ ? Explam bneﬂy each head of
income. . 10

e duw o ﬁ@%ﬂﬁ%%qﬁﬂ%%aﬁﬁmwwmm

fEgel = A |- = 50 9 31 1 & 9,000 T
figaltl = B { = 100 ¥ 3K 1 A F 6,500 FHEA
ﬁar—ﬂm C ?15oqﬁrﬁ|§rﬁaﬁ12ooow

mﬁlﬁ‘d mﬁ%%ﬁﬁmﬁﬁf@ﬁ%m%ﬁ
Raeit — A| = 55 wfi 35 61 @ @ 10,000 FHEET
Taei1 - B| T 95 3 3 1 € 87,000 TR
faei - C | = 156 9f 391 1 QA 11,000 THEA |
figelld A, B3t ¢ & Wit %18 v HR: T 45, ¥ 85 iRk T 130 ot |

Fofia ot arafa® g () ¥ T o 1 W FW % o i s
(AfredrE) =t i T |
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Modern Toys Ltd. had budgeted the following sales for the month of

June :

Toy - A

9,000 units at ¥ 50 per unit

Toy — B

6,500 units at ¥ 100 per unit

Toy — C

12,000 units at T 150 per unit

As against this, the actual sales were as under :

Toy - A

10,000 units at ¥ 55 per unit

Toy — B

7,000 units at T 95 per unit

Toy - C

11,000 units at T 156. per unit

The cost per unit of Toy A, B and C was ¥ 45, T 85 and T 130
reSpectlvely Compute the different vananc'es to explam the dlﬁ'erence
between the budgeted and actual proﬁt ' 20

(b) w7 e fa. ﬁamaﬁ%%s@rﬁmﬁﬁm%f‘@aaﬂmmgé

fﬁﬁ%%%mﬁ f@uama

lis ARSI A Rrare - T
(1) s awfiEf 2% -
(2) Y% o9 28% -
(3). Faeht e 12% 1,89,900
(4) fomo == 5% - 58,400
(5) YITEA EF 2% 66,700
mﬁaﬁf%%qaaﬁaﬁaﬁ?lsmooo%mmﬁﬁm%ﬁaamﬁvm
FE H T B >

() H@mw(aﬁéaﬁ)ﬁﬁwﬁmm
(ii) mﬁaﬁﬁmmmw(m)l
(iii) Hﬁamﬁm%ﬁaaﬁaﬁﬁﬁlouﬁmﬁmm,a’tm
(@) |
(iv) - aﬁmﬁﬁﬁwﬁaﬁﬁﬁ5mﬁa@ﬁﬁ€tm,
. AR (@) |
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An analysis | of costs of Namya Polymer Ltd. led to tl'l'(;,'.j'following

information :

Cost of Element Z:I;’ba};;esgf:; g;:f d? |
(1) Direct Materials 32% —
(2) Direct Labour 28% —
(3) Factory Overheads 12% 1,89,900
(4) Distribution Expenses 5% 58,400
(5) Administration Expenses 2% 66,700

Budgeted Sales for the next year are Z 18,50,000. You are required to
determine

(i)  the break-even sales volume.

(ii) the profit at the budgeted sales volume.

(iii) the profit, if actual sales drop by 10 percent of budgeted séles.
(iv) the profit, if actual sales increase by 5 percent of budgeted sales.

© ‘affa e w0 % e s e Hif |
Describe the salient features relating to Value Added Tax’.

Q3. (a) i fa. 4 1,00,000%%2%@@%:%11,%@ F 100 1 & 3T 6%
' a%méﬁ%%qaﬁmam%ﬁm,ﬁﬁﬂ%ﬁaﬁiwéﬂﬁ:

AR W T 25
AEHA T T 34

weor 3t 3if<m Wi W T 35
9oooom#mmm@aﬁwmﬁﬁwwmml
1000ﬁaﬁmuwaﬂta¢ﬁmmﬂﬁ®ﬁmwmmgﬁ | 3
1ooosﬁaﬁmmﬂﬁfwaﬁ¢amﬁmt@sﬁﬁ%mmm(qﬁﬁz)
WWWIWﬁﬁmoﬁaﬁﬁ@m(gﬁﬁﬁ@m)%aﬁm%go
ek T YA ﬁv‘rﬁﬁ(ﬁmmnmi

e . 61 5) e ) (30 %) o (i) et @ st i |
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ABC Ltd. invited applications for 1,00,000 equity shares of ¥ 100 each
at a discount of 6% payable as under :

On Application ¥ 25
On Allotment ¥ 34
On First and Final Call T 35

The applications were received for 90,000 shares and all of these were
accepted. All payments due were received except the first and final call

on 1,000 shares, which were forfeited after doing all legal formalities.

500 shares out of them were re-issued at T 90 each as fully paid-up.

Pass entries in (i) the Cash Book and (ii} Journal Book of ABC Ltd.

b) TR %, f1. F A, I8 5 3 31 9 2014 1 9, Frafafaa &

gfere g Ffee T

g 30,72,000 | 3R gSft 40,00,000
LITE 33,00,000 | 12% fes=x 30,00,000
WiF (1-4-2013) 7,50,000 | @TY-gI @ren 2,62,500
TN 8,70,000 | 2a fa= 3,70,000
e 2,50,000 | VTS (SER) 4,00,000
FhE AR dF 4,06,500 | fosfi (fashar) 41,50,000
CEap iR Ui 75,000 | \moTy smfafy 2,50,000
S=iTw iy vaw 3,92,500 gﬁlﬂm gm 35,000
wlicgifar 18,50,000
IR =3 50,000
EEEce] 9,79,800
T = 68,350
am 2,02,250
& W 21,100
fEd=r =91 Yew 1,80,000

1,24,67,500 1,24,67,500

C-DRN-N-EPBA 5



G)  HE T 15% A TeAerd Hif | o

G) SRR =@ A T 5,000 9% TR A IR | |

Gi) o) o W A = E 2 | |

() ﬁﬁ?ﬂﬂiﬂﬁ%méﬂaﬁq{%mmaﬁﬁm

(v) - 35% % e W o FH Fard HIf |

(vi) 31T, 2014 W Vi® T 9,50,000 1 |

(vii) Wﬂﬁaﬁtﬁ%mfzsoooéﬁ@aﬁmmﬁmw

frFRT @R o
Frft  afm oF A AR | |
The following are the balances of Manohar Co. Ltd. as on 315* March,
2014 : N - )
| Debit R " Credit oz
Premises ‘ ©30,72,000 {Share Capital 40,00,000
_Plant S ~33,00,000 |12% Debentures 30,00,000
Stock (1-4-2013) 7,50,000 | Profit and Loss Alc . . 2,62,500
Debtors 870000 |Bills Payable - 8,70,000
Goodwill : 2,50,000 | Creditors - 4,00,000
Cash and Bank 4,06,500 |Sales © 41,50,000
Calls in Arrear | 75,000 Ger:leral Reserve 2,50,000

Interim Dividend paid 3,92,500 Bad debts provision

as on 1-4-2013 35,000
Purchases : 18,50,000 -
Preliminary Expenses 50,000
Wages 9,79,800
General Expenses 68,350
Salaries 2,02,250
Bad debts _ - 21,100
II))aeil()ic-:-nture . Interest 1,80,000
' 1,24,67,500 | . 1,24,67,500

C-DRN-N-EPBA | 6



Q4.

(a)

(b)

(c)

Additional Information :

(1)  Depreciate Plant by 15%.

(i1) Write-off ¥ 5,000-from Preliminary Expenses.

(iii) Half year’s Debenture interest due.

(iv) Create 5% provision on Debtors for doubtful debts.
(v)  Provide for Income Tax @ 35%.

(vi) Stock on 315t March, 2014 was T 9,50,000.

(vii) A claim of ¥ 25,000 for workmen’s compensatlon is bemg disputed
by the company.

Prepare Final Accounts of the company. | o : 30

amfamaﬁaﬁm(mﬁﬁ%n) aﬁmwﬁaﬁm(ﬁﬁaaﬂ@n)%aﬁa
faiga fifom |

Distinguish between Job Costing and Process Costing. "~ " - - 20

| e, T wE o I o 6 erard R @ Rl T %

for st arfufaem Y Sienfiss vt 1 e HIfTT |

State the basic conditions of Income-Tax Act to' deterine the
residential status of an individual; a company and all other _persons. 15

m%m@mmw@ﬁmm%wwm%
I 8§ HAfA | we oot dar Hife |

Prepare a note on deductions from gross total income in respect of
certain incomes and certam payments for- 1nd1v1duals - 15

C-DRN-N-EPBA 7
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SECTIONB

Q5. frffiad % I i, S Y ST 150 WeG H B |
Answer the following in about 150 words each : cr 10x5=50

(a)

(b)

(c)

(d)

(e)

‘%ﬁw@wﬁaﬁ%aﬁmaﬁfﬁﬁﬁéﬂmm%ﬁﬁéﬁ
AT T R |7 HATEEee Jodih i |

“Internal Rate of Return Method of Capital budgeting is considered to be
superior to Payback Period Method.” — Critically evaluate. '

o Geen 6 Reifel % ) Frw s 3T SR (i) RS STt
JUITH < ATER A 3t ot <t AT o Wi R R @ 7
What is the relationship between leverage and cost of capital as per the

(i) net income approach and (il) net opérating income approach of
theories of capital structure ? ‘

S50 ) S A AT O B oA 8 | Wi § Jeh-a o adue TG
T TATAEATCHR qoaTehd T |

Banks are permitted to enter the insurance sector. Critically evaluate
the current scenario of Bancassurance in India.

g ot A 3 o 3, am@gﬁma@qﬁmﬁa (w TheE)
1 Tt W U (mifee giwrl we) 3R i) sFeamaty fafaa %
WWWW(W%WW)W@WW|

Write a note on two important issues of (i) the ratio of current assets to

salé (relative asset liquidity) and (i) the ratio of short-term financing to-

long-term financing (relative financing liquidity) in formulating working
capital policy.

W%maﬁmﬁw%aw%wﬁwﬁﬁa%?

What is the justification for the goal of maximising the v_vealth of
shareholders ?

C-DRN-N-EPBA . 8
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Q6. (a) Trefufes qom-wl, 98 f 3 Rwmw, 2012 3k 2013 § 9, 3 s AR
g faatm it Frisfia 45t A oftgdal 6t arpeEh dor &l 2

- LG 2012% | 2013 %
I Gt 2,00,000| 2,50,000
T Imfafa 50,000 60,000
AW -FIH 30,500 30,600
drataty x=m 70,000 —
fafay den 1,50,000| 1,35,200
R & e yragm 30,000 35,000

5,30,500{ 5,10,800

gfefeat 2012 | 2013 %
iy 3R W 2,00,000| 1,90,000
St ' 1,50,000| 1,69,000
[SAED 1,00,000 74,000
fafey Ter . 80,000 64,200
THe! 500 600
GEd — 8,000
g (Tefaa) — 5,000

5,30,500| 5,10,800

2013 F FHTH B T ¥ F A s T Asfafea

(1)
(i1)

(ii1)
(iv)
(v)

(v1)

C-DRN-N-EPEA

T 23,000 1 AN 37 fHI1 W |

% 9 Ol h gt € 50,000 § @6 T8 REeh gl
o A g8 | @i ittt § € 20,000 W &, T 25,000 H
weftd 3t gam T 5,000 H oA

zg% A oft el = 8,000 § @O T |

TeRE w2 @ o m gl € 12,000 S oft |

¥ & A FEgu™ fRam T 3 W T 33,000 |

Tefia 6 fshl ® = 200 H 7R wEE ey w2 @ el W

9




.....

‘are required to prepare a Statement of Funds Flow and’ Schedule of
‘ Changes in Worklng Capital : .

" From the followmg Balance Sheets as on December, 2012 and 2013, you

Liabilities 2012F | 2013 %

" 'Share Capital - 2,00,000 | 2,50,000
" General Reserve : . 50,000] 60,000
Profit and Loss 30,500 30,600

. Long Term Loan .. 70,000|. - —
. Sundry Creditors 1,50,000 . 1,35,200
‘Provision for Tax 30,000[ 35,000

5.30,500| .5,10,800

. Assets 2012% | . 2013 %

 Land and Building 2,00,000|" 1,90,000

* Machinery © 150,000 1,69,000
steck 0 1,00000] 74,000

| SundryDebtors. | .. 80,000 64200
Cash : 500 600

e Bank o e — | 8,000

Goodwill . - — 5,000

5,30,500 5,10,800

' Addltlonal 1nformat10n durmg the year ended 2013 is as under
-,(i)' ' D1v1dend of T 23 000 was paid.

(ii) Assets of other company were purchased for T 50, 000 payable in
. shares. Assets purchased were Stock of T 20,000, Machmery
¥ 25,000 and Goodwill ¥ 5,000.

: (iii): Machinery was further purchased for ¥ 8,000.
(iv) Depreciation written off on machinery ¥ 12,000.
" (v) Income Tax provided during the year ¥ 33,000.

(vi) Loss onsale of machine ¥ 200 was written off to General Reserve. 20

C-DRN-N-EPBA 10



(b) ﬁm%%a@ﬁﬁﬁﬁm%m%émaﬁwm(@aﬁﬁzm)
&1 e hif, fees forg et A f () 35% 6 :ER, (i) = 6
FH T 10%, (i) FEd= # 3ifda 723 = 1,000, (iv) faa — 20 ¢

(1) ﬁmlo%ammﬁm%mmm(mﬂ
) 2%

@) zreeamo/oa;agmaamgammmg%%r
206&%%%1@%(@)@3@@%%?1@%&

o % forg adwm e wre fergEn § |
LT 1% fn | 9% | 0% | 1%
R 1 T Gt e 1 - 20 7 % Ree | 9.120 | 8514 | 7963
ST F FE A 2041 0-178 | 0-149 | 0-124

Calculate the explicit cost of debenture for each of the .following
situations, assuming (i) tax rate of 35%, (ii) coupon rate of 1nterest 10%,

(iii) face value of debenture ¥ 1 000 (iv) matunty 20 years

(1) If debentures are sold at'a premium of 10% and ﬂoatatlon costs

are 2%. |
(2) If debentures are sold at a discount of 5% and'ﬂ_o-atapion costs

are 3%. . ' : 20
The present value factor of an annuity of ¥ 1 for 20 years and present

value factor of ¥ 1 for the 20th year are as under :

For¥1 . 9%k 10% | 11%

PV factor of Annuity for years 1-20 | '9.199 | 8514 | 7:963

PV factor for the year : 20t - | o8, _0_:1'_49_' 0-124

(©) ﬁmaﬁtaﬁa%ﬁmm%mamﬁ;ﬁmgam (wiaTte
{rgeraftn) @ @ aread 8 7

What is Corporate Restructuring with special reference to Mergers and
Acqu151t1ons ? A _ _ 10

C-DRN-N-EPBA 11



Q1. @ % f = g, S i R 31-12-2013 1 o, Frefefiad % $9ER R :
qoT—TT (31-12-2013 1)

2gand T - gfterafEt T
e §&ft (T 10 I W) 60,000 | frer womé Wit 1,50,000
109 Eertafy T 80,000 ‘e tfewfe 50,000
yfienfa ar 20,000
T GHATY 40,000 |
2,00,000 2,00,000

m:ﬁmgawﬁamﬁqmﬁagw(ﬁaﬁa;bh) 3.0 ¥ | sEh B

(fBR) sareM aFd 2 1,00,000 § | 38R Afer e @l w1 iRt %

1Y S 40% ¥ | A RA35%E |

) 'Wﬁ?ﬁﬂh,ﬁ?ﬂﬂ?ﬂaﬁ'aﬂtﬁgﬁ’ﬁﬁah@ﬁmmm
HINT | S

(ii) aﬁuﬁiﬂmaﬁq(EPS)(m)?3343'{‘(@)?0(51321)3“1,??[@1&131*!1
T Y T80 AW (EBIT) % BWIT &R ! fFRgiear Hifsg |

Rudra Ltd.’s Balance Sheet as on 31-12-2013 is as under :
- Balance Sheet (As on 31-12-2013)

Liabilities <  Assets T
;E;‘ig:-‘); Sra;’}i‘;a:e) 60,000| Net Fixed Assets  1,50,000
10% Long-term Loan 80,000 Ct_?lrrent Assets | 50,000
Retained Earnings 20,000 -

Current Liabilities 40,000 ‘
2,00000( - 2,00,000

The company’s total assets turnover ratio is 3-0. Its fixed operating costs
are T 1,00,000. Its variable operating costs to sales ratio is 40%. The

income tax rate is 35%. , |

(i)  Calculate the Degree of operating leverage, financial leverage and
combined leverage.

(i) Determine the likely level of EBIT if EPS is (a) ¥ 3 and
{(b) ¥ O (zero). L

C-DRN-N-EPBA . 2
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rHark e

(b) A Fe R . 9 W e T 20 Wit AR R | o i iy
#1 AT=NH G (FeHa @ A% fed) 12 vhiva 2 3R goffewtr g€ 10 v
2 | 1o & W Hisd i T i g Frefafea s frafon fifs
(i)  H 1 3EGH o9 TR (F-313) AU
(i) 3939 TR W IR St Figg
Earnings per share of Shree Laxmi Textile Ltd. is ¥ 20 per share. The
company has an internal rate of return of 12 percent and the
capitalisation rate is 10 percent. Determine the following using Walter’s
Dividend Model :

(i)  Optimum payout ratio of the firm.
(ii) The price of the share at this payout.

) Tre=fafea S =1 seama #3147, = R T ger-am w1 qu Hif

o~
ISft TR Smamd T giErafR T
HEECIRCl 2,00,000 | T I ITH ?
BIRPIGRE D 3,00,000 | HTerg= ?
FUEE (FFRR) s fm 7 | FEw ?
| EETA| ?

4 Fd

= SRR} :

G) T w0 AR Taa wiforrd (THf) 1 31U ;050 10
(i) P IRERET W/ IwEd ;2

(iii) FhE HATHI (ATH) TSR : 30%

(iv) oftoa smgw srafy (360 fom wft ad w enanf@) : 40 &

(v) TIEE e (S A W ArTa SR Ay % S| W AT ©
NYIE) : 3 IR

(vi) et A9 (VS 2w M) : 0-75: 1.0
C-DRN-N-EPBA | 13



Q8.

(a)

(b)

(c)

Using the following information, complete the Balance Sheet given

below :
Balance Sheet

~ Capital and Liabilities < Assets T

Equity Capital _ 2,00,000 Plant and Equipments ?

Retained Earnings 3,00,000 | Inventory ?

Creditors and Bills Payable ? Debtors ?
Cash ?

Total ' Total

Other Information :

(i)  Total debt to Net worth Ratio is : 0-5: 1-0

(ii) Turnover on Total Assets : 2

(ili) Gross Profit margin : 30%

(iv) Average Collection Period (based on 360 days year) : 40 Days

(v) Inventory Turnover (based on cost of goods sold and year end
inventory) : 3 times

(vi) Acid Test Ratio: 0-75: 1-0 ' 20

(1) T SR 3R (i) YSft 99N wos (Segiew) & ey # wefien oft fgdas
IO <t AMHATAT HT T TS Yeaich Hi |

Critically evaluate the functioning of primary and secondary markets in
relation to (i) money market and (ii) capital market instruments. 20

e Gof (G Hew) Teahe R @ frw s fm 2 2 S o

faftr & fafim yer T 8 2

How is venture capital different from traditional financing ? What are
the different types of venture capital funds ? . 10

Tt s % gfean 3R () 3wt Mg Aift o () 3wkt 3w Aify =
AT TcHS JedTeh T |

Critically evaluate Reserve Bank of India and (i) its monetary policy and
(11) its credit policy. . 20

C-DRN-N-EPBA 14



CS (Main) Eiam:2015 G-AVZ-O-DPNA

grter » ArfAftr/ commerce and accountancy

= T“wl/ Paper |

ftvfM vm : rffcwi 37%$fam3&: 250
Time Allowed: Three Hours Maximum Marks: 250

WAMSW&# &m sf$ ftvrftm# <m 3jfr ST&D &ff# stf # /

m w m | 3ffcs %wWw $d dm -d-m XW rpm rffrwff i
c&FAM/nFi % m*dffrw it
yif & 3fK Pft W&m # ~ A 37N& 2$W-W $ fe&T W #, 3/fc  *TPW W fw 3 2
r-wNrfz (*%.&2.m) yied'hi % 1T Zjf&f ftffe 2w 7Tftm vm i mm &siMw
btitmm $ w2 zfff m~ /
yjf wifeftfife 1 Tvwx 3™mw fewrvm ™Mi& i
iSww* & (ft ftffe i

rRf  LMWRTHINHH  *m*ft/ 2§f6 ofrdd J(oF (& <3777 $>drf< Tjufl  wAf) Aif? W drfi< 3W(F: f&T JW
11 J&?-W-3rK $ @7cH# &AWE3TT "8 W 3V& 37## W W # ttT *&T I

Question Paper Specific Instructions

Please read each ofthe following instructions carefully before attempting questions:

There are EIGHT geestias diviced in TWO SECTIONS and printed loth in HINDI and in
ENGLISH.

Cadichte hes toattept FIVE g estias indll.

Questias o, 1 and 5 are aompulsary and autof tte remaining, any THREE are toloe attenpted
doosingat kesst ONE franeach section

The numer ofmarks camied by a gLesticn/part isindicated agairst it

Ansners must ke written in the nmedium authorizad in the Admission Gartificate which nust ke

stated dearty an tte cover of this Questian—-aum-Arsner (QCA) Boddet in tte soece providsd No
markswill bkegnenfarasierswittien inanmediumattertren treauthorizzdae

Word limit ingestias Wherever gosafied dould beadhered to

Assune suitadle chtg, foasidared recsssary, and indicate tresane dearly:
Aapts of g estias Salll e acounted in seq ential ardkr. Unless struk dff, attenpt ofa gestion
dHll ke canted even if attepted partly. Anypage ar portian ofthamge Ht blak In tre
Qestiaram-Asner Boddetmust ke dearty strudk off.
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Ql.

Q2.

- 4 SECTIONA =

}dk'y +§4 ’ , * * e ) 7\

A VAR \%

P>Hfr)f&d 3iyff SA31?&S3513TCTrPm*I 1 5 0

-Answer the following questions in about 150 words each : 10x5=1
(@) % MikerfN srmTfor wra A 2K i i
.., wiw t; 3515m 1

Explain in brief ; the concept of "Activity Based Costing*. Give a
numerical example.

(b)  “s%?rcf aftr ~ () % sfta aim A<T1 T’
. WI 3m.w n f 2 ndWJ] - 36T PWICT /A
;AN

“Cash from operations (CFO) is not the same as profit after tax (PAT).”

, Do;you agree with this statement ? Give reasons using the Accounting

Standard - 3.
(c) 3*k (TTTTTTHSH) % 3 A sffa
i |
What are the objectives and functions of Audltmg and Assurance
Standards Board (AASB) ?Explain. .
() A Asrioh<ui, CEAN SRR
Explainlhe accounting for VAT, with examples.
(e) gWJT W AcTT | ? 'STento
|
What is inter-process profit ? Show the treatment of inter-process profit
with an example.
(@) X 1% 38 TIdi <ttt «lc™ ™ 1%5nT A | '1fadHR 3TE#
draMH 'S, A A if £ 1 PISMW
5 ypft |, 3tk ~51 STIM frcffa sficR 10~ A t |
:? 1,50,0003 iate w *taflT  “aknff % fair 2=io.000 jrifcf * % %rra
e m % 3#0t 17N *st 11

C-fivZ-O-DPNfi 2



trefr ~ wra ? 2,20000 n Jrefir % W.
? 1,70,000 wra 3WTift | spfft SfJ ~3T 7 TCRW. 10
to KM feft PllKxl % RT | SHIM well » non
y™wal % %ti, r 30000  3#ftri; to f wft<a A sira’Rii i
N nsfa % ~ro %pft An~TIMRI 3'ton N A?ft, fira%-~"RgW 5ifl*
TRR3 ? 60,000~ ~mp 3ftt MteRff iIMMH W |1 ? 2,00,000 ~

? 2,20,000 i
A A 35%3fk3 A WRT 10%t |
W wpft*Stft™ TRta% *SfR TCo&ft % fewR

n#f % Riftm tR ginft fift % fori <J#m erf 3 ft ~Ng-37ctft Tjsft %
3 NYart o M barll

A Ltd. is considering the replacement of one of its machines. The existing
machine is in good operating condition, but the company is looking for a
bigger machine. The existing machine is 5 years old, and has remaining
depreciable life of 10 years. The machine was purchased for T 1,50,000
and is being depreciated at ~ 10,000 per yearfor tax purposes.

The new machine will cost ? 2,20,000 or ~ 1,70,000 if exchanged with
the existing machine. It will be depreciated on a straight line basis for
10 years with no salvage value. The management anticipates that, with
the increased operations, there will be a need for an additional net
working capital of W30,000. The new machine will allow the company to
expand current operations thereby increasing annual revenue by
~ 60,000 and variable operating costs from T 2,00,000 to ~ 2,20,000.

The company's tax rate is 35% and its cost of capital is 10%.

Should the company replace its existing machine ? Assume that the loss
on exchange of existing machinecan be claimed asshort-term capital
loss in the current year itself.

(b) 4 wra  TIBRJIHHd t
w. aiw f 'siggra = 30%; ‘Jtacff wra = ? 7jrfcf Tig™"R-"R %
10,000 11 W .
10% 33T l, N
~cft t.afo, fotim w. ? 4,000 w*! t i? 6000 % 5# n

| | P
20%"N?r ~cft |; *Ifar#WRJ » w k W6~m
t alkktern gt ? 40000 M .1 1*35H*arc ftsft

C-AVZ-O-DPNA 3



Q3.

=

Cost and revenue information of A Ltd. is as follows :

Contribution to Sales Ratio = 130%; Variable cost = ~ 7 per unit;
Break-even point is equal to 10,000 units. Find the following:

e Company reduces the selling price by 10%, reduces the variable
cost to ™ 6 and spends T 4,000 on advertisement. Find sales to

earn a profit of T 6,000.

= Company increases the selling price by 20%; reduces the variable
cost to ~ 6 and spends 4,000 on advertisement. Find the

break-even volume of sales. 15
am =it 1961 % at* aft™sro’
% srsfft afk » cim % Nw i

Explain the provisions of the Income Tax Act, 1961 with regard to set-off
arid carry forward of loss under the head Income from Business and

Profession and Capital Gains. 15
5T 31 2015~ NN S Hrffet N
INT W 1«5 2015 - 16 % swft 3P ~
WRT % ftHfafisk t:
(i); 50,000 W

(ii) oMirbld 3tR @? 30,0003 # WIF

(ili)y 3TF *ffn @ < 3,0003# W

(iv) &l @ r 2,0003# IT?

(y) IR 3Pt @ r 2,5003%# W

(vi) Kjl+rHI W @ ? 5,000 3# *TT?

(vii) W @ ? 1,0003# in?

(viii)  3# erf ? 15,000 % 3TISR fa* A5#f |

(ii) » M tM33% TH 15% HvdIMra ftfa Hit 3
~rto | N 37% t 9t
(X) STRrefNr gfctsir % ? 20000 3# nr? *rar
t; ™ 33% mRT 3 AT ? 25,000 3# % fc[~St |
(xi) 3$% 33% 3n<TOfa % felcft 3jk JUrfl-blH %

. fArt# a”ppft  ftrocgr *rar;l#r sfisrac ? 70,000 sffc ? 20,000 «ft i

C-flvZ-O-DPMfl q



(xii) PIHfclfisM 3<<WO6T  sff :
. R St iifitvH 2 1,20,000 (“TT Tift ? 10 ¢RAt)

n. 3/ n n ? 25,000
m. 3NppfticT W TIHAJT /TR SlidRV 2 30,000
(\VA jif ~frra ("R ) w 2,00,000"1

AW 2015 - 16% %r?,, 3TF# Mld 3IFt  WHI |

Mr. S is employed by A Ltd* at Delhi throughout the financial year

ended on 31st March, 2015. He furnishes the following particulars for
computation of his income for the assessment year 2015 - 16 :

(1) Basic Salary @ ~ 50,000 per month

(i) Personal Pay @ W30,000 per month

(iii) Conveyance Allowance @ ~ 3,000 per month

(iv) Uniform Allowance @ ~ 2,000 per month

(v) Knowledge Update Allowance @ ™ 2,500 per month
(vi) Medical Allowance @ T 5,000 per month

(vii) Entertainment Allowance @ ~ 1,000 per month

(viii) He is provided with gift vouchers of ~ 15,000 per year.

(ix) His employer contributes 15% of the basic salary to his recognised
provident fund account. Similar amount is deducted from his salary
as his contribution to the fund.

(X) He gets house rent allowance @ ™ 20,000 per month against a rent
of ~ 25,000 per month paid by him for his residential
accommodation.

(xi) His employer paid electricity and telephone bills of his residential
house amounting to ~ 70,000 and T 20,000 respectively for the

whole year.

(xii) During the year he made the following payments :
I. Life insurance premium % 1,20,000 (sum assured is
~ 10 Lacs)
Il. Life insurance premium on the life of his major son T 25,000

I11. Mediclaim policy premium paid in cash ~ 30,000
IV. Donation of  2,00,000 to an approved charitable trust

Compute his taxable income for the assessment year 2015 —16.

C-fivZ-O-VPNA 5



w( b ) ~ n wij ?
A1'OT! STOT™  gi?ft faKfou]loH* 7TIPET3E A Whc? 3 U*p
|

What5is the need and importance of sampling in audit ? Briefly outline
the analytical procedures to be adopted while conducting audit. 15

© ‘sfcf "Ro(41 3T&5 sfk ‘aft 2sr <pjfar a#f % »(k, vincfk <3<dwsw
wiw % 3 1 % *rra, i

Differentiate between ~Basic Earnings Per Share7and Diluted Earnings

Per Share’ with reference to Indian Accounting Standard. 10
Q4. ; (@ = RnfcHfed X %. % ftrfe 11# <t % f.1arffa, 2014 «ft,
w
AN gftMrRIT 50,000
H <iHl M 1,00,000
50,000
#2> t#fi 1,50,000
10 25,000
(w) 30,000
: 3,60,000
($ <k} 25,000
Mm (~cm tea) 130,000
urn (?\m m) 50,000
N % ANTH AN
(i) HWAWI 60% ? 2,00,000% 3*IK T™:].

(i) araftt % jifen sthifeu w”~cR ?20,000. -
A -
(i) Ufa™ few ? 10,000#? 3RTfen |

(iv) a”, WglxRn 3pt™ crflm sroravsrcRre nfell ter i

C-ftvZ-O-DPNA 6



™ ("R sfrc N % .feir);~ji:fenifflt:]
(vi) y#t. % ? 20sfitifcrct, r 50,000% A

(vip 31 2014~ (M3 < 3RPPit% «N ? 255 3Rl «PIRcftiR

NN IfTE N mmnm: ./

e>es ' | e % . 1 - AVl
(viii) 60% ~KIdisfi (37AKF) ATWAA T TOM

(%) 3T5[INftgn% 30 % # A~ H#A |
13T, 2014 3fc 31 WS, 2015 % filler % 3F$m < TN

ark 31 205 w<f 2~ % N ermNift Amr stk
7STEIT *ft |

Following table shows relevant financial items of X Ltd. as on 1st April,
2014

Items

Intangible Assets 50,000

Inventories at cost 1,00,000

Share Capital (Face Value = 2 per share) 50,000

Cash and Bank balances 1,50,000
10% Bonds 215,000
Receivables 30,000
Total Sources 3,60,000
Creditors 25,000
Plant (Net of depreciation) 30,000
Plant at cost 50,000

Transactions during the year are given below :
(1) Sold 60% of the inventories on credit for ~ 2,00,000.

(i) Salary for the period paid fully ~ 20,000.

C-AVZ-0-2PNA 7



(iti) Rent peryear ? 10,000. Paid rent for three years.

(iv) Intangible assets amortized over next four years equally.

(v) Plajat is 4 years old. Depreciation is charged using the Straight
Line Method (SLM) (for both tax and accounting purposes).

(vi) Purchased shares of Y Ltd. worth W 50,000 by issuing shares.

, > at ? 20 per share.
. (vii) Redeemed Bonds on 31st March, 2014 (after the payment of
interest) by issuing shares at the market price of ™ 25 per share.

(viii) Paid off 60% of the creditors.
(ix) Tax paid @ 30% of profits.

; Prepare; Balance Sheets as at 1st April, 2014 and 31st March, 2015
along with Profit & Loss a/c and Cash a/c for the year ended on
31st Mai*ch, 2015.

\

(b) sifc-awM % I
Distinguish between Divisible profits and Dividends.
© o (ts) % XY (M) % Myt (S Tifctfa) ~ |

Discussjthe mechanism of levy of Value Added Tax.

C-MZ-O-DPNA 8
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SECTION B
gs. ftnfcifeH mw i 150~2rs"ff

Answer the following questions in about 150 words each: 10x5=50

(@  O0dEHMIKPT™  |CL ofN~r 3jfc rtmiftdl % |
Examine with an example the relationship between leverage and
profitability.

(b) W ft % %IT OTR T m# yiyPl+dl ~ 2 fafeR. |
Write a note on the relevance of credit-rating for a power sector
company.

(© tRT eft (WIf-%) %

3 I
Explain iii brief the regulations of SEBI for Buy-back of shares by a
company.

(d) *tft# Wit CcTWRTiftta W w 35#f 1
Explain briefly the factors that determine the dividend policy of a
company.

(e) “yfcltliftd 3#fr ~ ~ WRT  #cft] I I
“Retained earnings have no cost.” Comment.

Q6. (@) RhINNMd SWMgR rfefcf ~ W , fedfa cfNtsr W afa grE
N S D
(~ f 3) 17,500 6,700 31,800
OTtecff dPTZ of) 4,00,000 3,50,000 2,50,000
in W 1,25,000 7moo ¥V
sfcf M\Z fluSl-$m - (?) 85 130 37
J-lﬁ)\d-jﬂthecff criMid (?) 38 42*50 12

OoTWt mMW h % MRuilfii 33T 374 ft+WHI't |
C-fIVZ-O-DPNft 9



Calculate the degree of operating leverage, degree of financial leverage
and djegree of combined leverage for the following finns :

N - S D
Production (in units) 17,500 , 6,700 31,800
Fixeji costs (™) 4,00,000 3,50,000 2,50,000
jinterest on long-term loan (T) 1,25,000 75,000 NIL
ISelling price per unit () \ 85 130 37
Variable cost per unit (©) 38 42-50 12

You are also required to interpret'the results of your calculation.

(b) ftnfdferfRIfM 3 1 ™ "Hilcerl to; NaicTt
(i) ~ 50 N Nt toft % ~
Wt
(i) WATCT A *TIRTATT | % 33T N AftfcT f
|
(111)1Tics Nr toft "Fft 3 SICHt N T %
(iv) ~ fefk w&Fz % to; "t t? w to R
ST t |

Explain the important ratios that will be used in each of the following

situations:
(1) Abank is approached by a company for a working capital facility of
W50 lacs.

(@i); A long-term creditor who is interested in knowing whether his
1 claim is adequately secured.
(iti) A shareholder who is examining his portfolio to decide whether to
hold or sell his holdings in the company.
(iv) A finance manager who is interested to know the effectiveness with
which the available resources are utilised.

C-MZ-ODPNA 70
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© WT jPfif A SficT  cltfa

(i) fswij<J #15
(i) fKoft eft#>3
(iii) (W ife

(iv) (gfen) Wb

Describe the nature of the following debt instruments :
(i) Deep Discount Bonds

(i) Floating Rate Bonds

(ili) Extendable Notes

(iv) Junk Bonds

Q7. (@ S%.% 317, 20123ffc31~, 2013% pR ~
31-3-2012

50,000
« imm ftrd 5,000
w t 10,000

<K 15,000
ftcT . 4,000
1,000

85,000

~roRraT:
nRhRmMT:
TO 50,000
8,000

«l<> 5,000
(™) 20,000
2,000

85,000

>AVZ-0-DPNA \%

f:
31-3-2013
T

70,000
8,000
15,000

19,000
5,000

1,217,500

80,000
12,000

7,500
15,000
3,000
1,17,500



(i) SRHmM r 5000 3Tk TfiMt TRT 2,000  iJMURT <# 2012 - 2013 %,
#itj TmiThr Lart w11

(i) TRfig %?pEt HPIET ? 1,200 «ft, 1 sdfo, 2012~ ? 800 3
fi"TW «n 133 TR3HR3, 2012335 ? 700 % fen
TNt

31317, 2013/ Ftoi erf%  =jM&pd mpe? idoowr foR i

The Balance Sheets of S Ltd. at 31st March, 2012 and 31st March, 2013
are as under:

31-3-2012  31-3-2013

Particulars f5
Equity and Liabilities :
Shareholder’'s Funds :
Share Capital 50,000 70,000
General Reserve 5,000 8,000
Profit and Loss Alc 10,000 15,000
Current Liabilities :
Creditors 15,000 19,000
Bills Payable 4,000 5,000
Outstanding Expenses 1,000 500
85,000 1,17,500
Assets :

Non-Current Assets :

Building 50,000 80,000

Machinery 8,000 12,000
Current Assets :

Stock in Trade 5,000 7,500

Debtors 20,000 15,000

Cash and Bank Balance 2,000 3,000

85,000 1,17,500
C-AVZ-OrPPNA 12



(0)

©

Q8. (a)

(0)

©

Following further information is available :
(1) Depreciation of ? 5,000 on building and T 2,000 on machinery has
been charged for the year 2012 - 2013.

(i) A machine costing w 1,200 was sold on 1st April, 2012 for
? 800. Depreciation of ? 700 was provided on the same upto
31st March, 2012.

Prepare classified cash flow statement for the year ended on

31st March, 2013.

HAari 3 FTC 'stftr?, |
Explain briefly the factors influencing the working capital requirement.
ft&T ftnfa % eft yi4d ~ (3NMN3TR3TR) Nt
sik gtowtafi o I

Discuss the utility and limitations of Internal Rate of Return (IRR)
method of appraising a capital investment decision,

*TK?T 3 sffal «bl<1«IK % 3 ‘fIf (3TIN3TK.it.T'.) ~ft ijftcBT T0O
Mtftny; |
Explain the role of IRDA in regulating insurance business in India.

fift sft (~A572)wm A

Give a critical appraisal of the Modigliani-Miller (MM) approach to the
theory of capital structure.

WU % ? NcfT fen ~i | |

What is corporate restructuring ? State the major forms in which it can
be carried out.
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ety M-ESC-U-CMA
TS § ST / COMMERCE AND ACCOUNTANCY
I9A-9= I/ Paper 1
FeaiRa aag : diT g 3Jferad 3% : 250
Time Allowed : Three Hours Maximum Marks : 250
TyA-ua & fore fafvre sraew

FuAT TP T I 37 @ G AT Ied® S F ST 0

57 arre v & 7 gt et # i & aur Rt ik st @il A 99 F (

TeTrelT %1 o7 grer 3l & I G 8 |

wo7 @ 1 sk 5 Rar & o a1 § @ y% @S @ FH-8-%H U JvT GAH [ di 5 @ IR g [

T Fo/ 91T & 3% 3G G 1cT T & |

gt & I 3 are F @ 5 TR g 3gE TS JaV-97 # 5T T 8, 3N 9 A F T I
m—w—m(ﬂ.mq)gﬁw%w—wwaﬁvﬁﬁvmwﬁmwaﬁqfaﬁv@am%aqﬂﬁmm
et greem 7 for@ Y I R BIE 3 781 7T |

v B vreg @, STEl @A 8, T SFER 1537 ST Fiiey |

IR STIEvIF &), T ITYH AiHS! BT I FHT, TIT ITH [AE BT |

ol & I B TUHT HHAFER H T | A7 FeT T8 8, ﬁm%m#mﬁm@ﬁm@a@mw 12 7
& | FT-TE-ITR GIRHT § It DIgT gaT Y8 IT 3G W F L &G & Fiel Al ey |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attemptea
. choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. Nc
marks will be given for answers wi itten in a medium other than the authorized one.

Waord. limit in questinns, herener specified, should be adhered. to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off; attempt of a questior
shall be counted even if attempted partly. Any page or portion of the page left blank in th:
Question-cum-Answer Booklet must be clearly struck off.
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Qs A
SECTION A

Q1. T=afafRaa & @ y=® =T ST TN 150 vreat A it
Answer the following in about 150 words each : 10x5=50

(a) SAFEYH Td oo Al o cr@meRtr fFreuer @ weft AR SR@rehtur A
% YAyl i == hife |

Discuss the provisions of Indian Accounting Standards regarding the
accounting treatment of Research and Development costs. 10

(b) < T SR AT =i aetel % s e ifse et fufam w
¥ JuTEl i e ot hifs |

Distinguish between the techniques of Cost Control and Cost Reduction
and also explain their implications on decision-making. 10

(c) =HHfal o qumeH i fed wgr fafy 6 =men $Hifv |
Explain Pooling of Interest method of amalgamation of companies. 10

(d) Wéﬂﬂﬁﬁﬂﬁﬁﬁﬁﬁlﬁﬂl-ﬂ@?ﬁ%?

What are the various deductions made from Gross Total Income ? 10

(e) ‘ﬁmﬁawﬁﬁé&qﬁma&wﬁm&r&ﬁ%a&haﬁwﬁﬁ
feaurent = gam s g |7 feonft Hifso |

“Audit of divisible profits enables the stakeholders to judge the
philosophy of majority shareholders.” Comment. 10

Q2. (a) SmMuE & 3 T 103 MWW w T 2 Hiftrm & 20,000 IR/ F T A
AT Hd §¢ T foaror-afyest st <, <t = s & 2 9

3MAET T T 2
3 I T 5 (Shiftem afga)
e [ W T3
feeia wd sifaw wifn w T2

30,000 W & AT 3T W Y 3R W & 24,000 T F S Hr
I 3T L feam a1 | AeeH W e ifere Ut b steie ufyr ¥
TR ST form T |

@, T 400 IR swefea fobe T &, e Uy &1 YA & W gh |
TTCIER SIH R ST U H-3TeHe @ 9T 38 I T gL ot Torm 71T |

M-ESC-U-CcMA 2



(b)

glt, S 600 WERT hl e oft, G HIT ST KU W 3w} W, I I Ay
%1 gEl AT < 1] BT KL foram T |

¢4 g pT e IRl & & 800 A% MurE B T 9 W W gOF Fg G- ifr
R feu, form @war & @i R Wi o |

IR.wg. fo1. < geaeht # TawEs SHa gfafsear i |

RS Ltd. issued a prospectus inviting applications for 20,000 shares of
¥ 10 each at a premium of ¥ 2 per share payable as under :

On Application L7
On Allotment T 5 (including premium)
On First call T3
On Second aud Fiual call < 2

Applications were received for 30,000 shares and pro-rata allotment was
made on the applications for 24,000 shares. Excess money paid on
applications was utilised towards allotment money.

Kherwa, to whom 400 shares were allotted, failed to pay the allotment
money. On her subsequent failure to pay the first call, her shares were
forfeited.

Suri, the holder of 600 shares, failed to pay the two calls, and her shares
were forfeited after the second call.

Out of these forfeited shares, 800 shares were reissued to Gopal,
credited as fully paid for ¥ 9 per share, the whole of Kherwa’s shares
being included.

Pass the necessary Journal entries in the books of RS Litd.

@ fafmior st A, e e faao fefafea 2, Fol oo 5 5%
ﬁaﬁawmm:

4. 1 g. 2
AT 3T (% W) 90 60
fosht (T @t #) 540 300
gitad=sfia @vra (T el °) 396 225
for e (T aral ®) 80 50

T f6 gEara s foean T 8, aiehed i

() feRm ga= 6 dqer-ar 56 td 39 Yaen § HHar T |
(i) 80% &waT ST W R a1 i AvgRIhar |

(iii) T 75 @ 1 AN ARAd HE & fog foeila a@@e= &1 foht o1med |

Mm-esc-U-cmaA 3
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Two manufacturing companies, which have the following operating
details, decided to merge :

Company Company

No. 1 No. 2
Capacity Utilization (in %) 90 60
Sales (¥ lakhs) 540 300
Variable Cost (¥ lakhs) 396 225
Fixed Cost (¥ lakhs) 80 50
Assuming that the proposal is implemented, calculate : 15

(i) Break-even sales of the merged plant and the capacity utilization
at that stage.

(i) Profitability of the merged plant at 80% capacity utilization.
(iii) Sales turnover of the merged plant to earn a profit of T 75 lakhs.

() “HFuiitd 7 Faa o R W H H YW T @ dfesh gall hl R
Rt I a8 1”7 39w S i |

“An assessee not only pays tax on his own incomes but also on others’
incomes.” Explain this statement. Vs

Q3. (a) TS S & AN AEHR hl B, 2016%@&@3&%%3%@1
e bl g off :
(1) 3ufter arma fo=ro : T 1,400 Shiga
(2) U= AET =R/ : T 1,000 Sk
(38) HEdl, 2016 % sie =S : 1,200 HUE
(4) wEd, 2016 % s SRS : T 6,000
(5) uReAT <t aTEfaeh SEE G AN I TS : T 8 Ufd wveT

W, 2016 % o Freafafaa womr &g SAeht ggrar Hifs -
() Sufteaa =t o=

(i) T YN AFT T8

(iii) IrEafaes et % foru arefess woe

Gv) Iule ewar fo=ro |

(v) Suleay srigen fomo

e o Nty i
(v1) di&dideh ScHigd <h 11 Hideh &Vc

M-esc-U-cmA 4



(b)

(c)

The Cost Accountant of a company was given the following information
regarding the overheads for February, 2016 :

(1) Overhead cost variance : ¥ 1,400 adverse

(2) Overhead volume variance : ¥ 1,000 adverse

(3) Budgeted hours for February, 2016 : 1,200 hours
(4) Budgeted overheads for February, 2016 : ¥ 6,000

(5) Actual rate of recovery of overheads : * 8 per hour

You are required to assist him in computing the following for
February, 2016 :

(1) Overhead expenditure variance

(ii) Actual overheads incurred

(iii) Actual hours for actual production

(iv) Overhead capacity variance

(v) Overhead efficiency variance

(vi) Standard hours for actual production

90 6 @R AEH 2 (ANifta) & SHER, 9K 4¢ sarsy e wrerfEl %
e fretor # smfie i fop smar @ |
State four items which are not to be included in determining the cost of

inventories in accordance with Paragraph 6 of Accounting
Standards 2 (Revised).

R % & Rawi e 3 91g ifsd & e o2 W = gF wHia fea,
@ fer % faftm e e &t Tga gfshar vg sem m | gt % s

TR S 3 Saeh 38 A % Rie 3% @t oraren % R g

e, Red eF i wE wre difsdl &g o1 wn | fafte gEl f it @
i T gre & O 1§ Ui & fou, dEedan 3g SR R
Hife | wRfeufa & e W@ v faesw fog sase, (< e wiFfaa S0
A1 SrETTher HrisHn # gHi Y Tiftaat Te fordwr it Semadian 8 T |

An NGO operating in Delhi had collected large scale donations for flood
victims. The donations so collected were sent to different NGOs
operating in Bihar for relief operations. The NGO operating in Delhi has
appointed you to audit its accounts for the year in which it collected and
remitted donations for flood victims. Draft a programme for audit of
receipts of donations and remittance of the collected amount to different
NGOs. Mention five points each, peculiar to the situation, which you
would like to incorporate in your audit programme tfor audit of the said
receipts and remittances of donations.

Mm-esc-U-emA 5
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Q4.

(a)

(b)

o1, It v g Fafehen Afespit § | 3% T 15,000 i W1 94 T 25% hi
@ Q HEs o e @ | 9 st wiesy B e d s S = 15%
IEH 20 8 | I & gl s FEw oft ofvie S @ | 3% feet e i
R @ g amam e gem @, frehl SHee 5 @@ R | 39 qehe i Sfia
ot et T 6,000 Uit WTE R | 3 T W= % TQ EEE Wel T 500 SR
HTE AT BI1 & | 38 31 ¥ 1 HHM T 500 Wi wiE fepue W fem gam
%ﬁam?zooommﬁwaﬂga;mw | Ieht Freferfea o oft § -

QR o et | < 5,000
GghRI TTAT o FUIA W A T 3,000
st st @ ST T 1,000
T, & @l # fae T 2,000

3R 9T Fafehedn e Sium T 12,000 % A g1 AT foham | IR TS
%9 & ¥ 1,500 3R aRam FHEis wrlshat 61 defd & e 2 1,500 g T |

o Faitor a¥ 2016 — 17 & T, $a1 ™ F1 yfeweq HT |

Dr. Sharma is a Chief Medical Officer. He receives a salary of T 15,000
per month and Dearness Allowance @ 25%. He contributes 15% of his
salary to a Recognised Provident Fund. The employer also contributes

an equal amount. He is provided with a Rent Free House in a city with a
population of 5 lakhs. Fair rental value of the house is ¥ 6,000 per

month. He receives Hostel Allowance of T 500 per month for his child.
He has let out his own house at ¥ 500 per month and paid ¥ 2,000 for
Municipal tax of the house. He has the following incomes too :

Dividend from a domestic company T 5,000
Interest on debentures of a cooperative society T 3,000
Dividend from a foreign company T 1,000
Share in the profits of A.O.P. T 2,000

He paid ¥ 12,000 for his own medical health insurance by cheque. He
donated ¥ 1,500 to a national fund and ¥ 1,500 for promoting family
planning programmes.

Compute the total income for the Assessment Year 2016 — 17.

H= & T g T F & Ara feeiel @ wRl gean 303 % g ¥ off
?:
TR : T 4,010
W@?ﬁ:
fawmr a1 : 60 EW, T 3 UM TV T W

20

Ryms . 4099, T oyfgaR faaw
oy a . 209w, T 59fd g0 Hi AW

M-ESC-U-CMA 6




3 Tt & Suftesa o1 Wieshera T wehR @ foparm T R
TREdite SHRET

 fawm &1 ;T 5,000, 5000 ¥9 TS % foQ

fawm s : = 3,000, 1500 5| =i % faQ

favm @ ;. = 2,000, 500 3W TvE & fow
fRr 9= : T 20,000 Y AT 10,000 T HH €Ul & (o0, |

JUh! HR T 303 F AT ARG 1 Ufhe HET & T 25% M. IAfd
% *q fasha e 1 ot afehem e R |
The information given below has been taken from the costing records of
a company in respect of Job No. 303 :
Materials : ¥ 4,010
Wages :
Dept. A : 60 hours @ ¥ 3 per hour
Dept. B : 40 hours @ ¥ 2 per hour
Dept, C ; 20 hours @ ¥ 5 per hour
Overhead expenses for these departments were estimated as follows :

Variable overheads :
Dept. A : T 5,000 for 5000 labour hours

Dept. B : ¥ 3,000 for 1500 labour hours

Dept. C : T 2,000 for 500 labour hours
Fixed overheads : Estimated at ¥ 20,000 for 10,000 normal working
hours.

You are required to calculate the cost of Job No. 303 and also calculate
the selling price to earn a profit of 25%. 15

(¢ Tt @@ = g q@mden 3 R-femes afguRe’ (TW.de) % §9 8 |iva
S U Id T AQHIES & GRI ISTT I a1t Al Sl AT |

Enumerate the steps to be taken by an auditor before declaring an
account as Non-Performing Asset (NPA) in a bank audit. 15

M-ESC-U-cMA 7



w©us B
SECTION B

Q5. T=fiRaa & O ysw &1 S oA 150 Wesai W R -

Answer the following in about 150 words each :

(a) ﬁﬁaﬁﬁﬁ@%wwﬁmmﬁmﬁﬁm

v nlain the ralavanca *Fhmn va 11 -P-rn ne
J. l_‘.J. WALELN, LA Ll m-.;\l\’ A ALELEN, V¥ A4 V

(b) sREd W ufawa & Tiehed & fog & 9 9 @ M@ &9

i |

Diagrammatically pi'esent the Du Pont chart to calculate return on

equity.

(¢) Usfi s @rTa W MifSferar v fiier Surm # SIC T SEdTEl Sl aY W T

i |

Explain briefly the propositions made in Modigliani and Miller approach

on cost of capital.

() TduH Hifges Hfifa i e Sy |
Explain the current Monetary Policy.

(e) HRG SHITCHHNCT T TSIl hl YIHeHT T HeATh hIfT |
Evaluate the role of Credit Rating Agencies.

Q6. (a) Tr=fciRad =T 1 AT HLd FY IoH 99 dIR HIFT :

10x5=50

L
o}

10

10

10

10

() Taa TR | Ha w0 1:2
(i) o giEEaRa Ed 2
(i) fosha T Hhel ™ 30%
(iv) oitaa agef & (wm efifre ad & 360 fem) 40 fe=
(v) =TT AT Sl AR SR 99 i SAfaH ATt
T TG AR STed STaTa 3
(vi) U@ fAgior U 0-75
(vii) Sferadl IR YSit T 4,00,000
(viii) STRI&feET e 3rfersy T 6,00,000

M-esc-U-cmA &




Using the following information, prepare the Balance Sheet :

(i) 'Total debt to net worth
(11) Total assets turnover
(iii) Gross profit on sales

(iv) Average collection period (Assume

360 days year)

(v) Inventory turnover ratio based on

cosl of goods sold and year-end inventory

(vi) Acid test ratio
(vii) Equity share capital

(viii) Reserves and Surplus

0-75
T 4,00,000

Z 6,00,000

(b) T fa. @ aE 0. H MR H TIE T FH SARET g AR T THR Jo

3R 3Tei =1 TR =1 wga fomam 2
o X f«1. Y f&1.
& ZF

Sferadl 6,00,000 3,00,000
Eaui = 2,50,000
6,00,000 5,50,000
Jfela @™ 90,000 90,000
ST : &S = 22,000
90,000 68,000

I HrfAE At HUUH o §1g St Uit i AN, T @G U9 WG 3Ea
ISft it T 1 aiteeH IR, F8 JHd g TR BT WS T Hl X 35%

& Td AT T w 20% fafes st g |

M-ESC-U-CMA 9
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X Ltd. and Y Ltd. have the same level of business risk and their market
values and earnings are summarised below :

Calculate the post-tax cost of equity, cost of debt and weighted average
cost of capital of both the companies. Assume that the income-tax rate
on the company is 35% and the additional tax on dividend distribution

is 20%.

() 1991 % sie f=faRaa &= # fpy gT wewmqul gurl =i fafe

Particulars

Equity

Debt

Earnings

Less : Interest

() ofehm &
Gi) rerfies ve fedies e IR

(iii) =T fofi 9NR

Write the important reforms that have taken place in the following
sectors after 1991 :

(i) Banking Sector
(ii) Primary and Secondary Stock Market

Y Litd.

X Ltd.
X 5
6,00,000 3,00,000
- 2,50,000
6,00,000 5,50,000
90,000 90,000
- 22,000
90,000 68,000

(iii) External Financial Market

15

15

M-ESC-U-CMA
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Q7. (a) THHaE. 4. b guet axfe (S smEfa & T R), % uirem wt ¢ wsia
AT STEdt B | B 3 geeh! fga Site % a1g I St § @ S o1 =9
foha | g Afsdt i AT, Seaned T qatgEi Haa emm e € | g
WA o1 STATHG Sieq 5 Y @ | gfed a9 & 37d A 3fafire ged =1 & 7
Se | A et foeror fean = 2

QEIHIT R % G The TaT8
T |ar| a1 | 92 | 9§83 | a4 | a5
| bR = 5 20 14 6
| 40 | 10 14 16 17 8

ST T ISt W AN 16% B | T QAT TGl BT YAl hlsh BH I,
freferfaa =1y i ge, o i

() YTYTaE Ity

(i) od qaHH e

(iil) TATHGTRAT YIDTH

(iv) 3= Ffawa

XY Ltd. wants to install a new machine in place of an existing old one
which has become obsolete. The company made extensive enquiries and
from the proposals received, short-listed two offers. The two models
differ in cost, output and anticipated net revenue. The estimated life of

both the machines is five years. There will be only negligible salvage
value at the end of the fifth year. Further details are as follows ;

Anticipated after-tax cash flow

Machine | Cost | Year 1 | Year 2 | Year 3 | Year 4 | Year 5

A 25 - 5 20 14 6

B 40 10 14 16 17 8

The company’s cost of capital is 16%. You are required to make an
appraisal of the two offers and advise the firm by using the following : 20

(1) Payback Period

(ii) Net Present Value

(iii) Profitability Index

(iv) Internal Rate of Return

M-ESc-U-cmA 7



Qs.

(b)

(e

(a)

(b)

(e)

ot fo1. B adur s T 20,00,000 ® | FHFHT 2/10, Y5 30 hl Uhs og1 HAifd
AT O B A S W R | $Eh RO, SR Sl SAed Seell '
10 &1 %9 B 3T 80% Tkl % Uehs weT <hl ITHT HI AT hi U # |
e ot Bt T gt Fiaw T W 20% Bt R, A S8k gRI 91 A5 Sel il
1 @] foRem ST =fen ?

Shree Ltd. has current sales of ¥ 20,00,000. The company is planning to
introduce a cash discount policy of 2/10, net 30. As a result, the company
expects the average collection period to go down by 10 days and 80% of
the sales to opt for the cash discount facility.

If the company’s required return on investment in receivables is 20%,
should it introduce the new discount policy ? 15

st e PRt aur redl fofiufoRt & foem 3g @t g 33T Y
fafirg surt =1 whew i |

Examine various measures taken by SEBI for the development of
Foreign Institutional Investors and Venture Capitalists. 15

T I T 10 3ifha Tou I I B AW G T 10,00,000 7 | HEEH
i =0 §Sf 10% I @ W T 6,00,000 8 | BH hl foshl T 5 9fd 3h1S &
farshl gt T 3,00,000 sHIEAT 9f I 3 R wfadRfi @ T 8 Wi TR
2 | fOR @ T T 2,00,000 § | HEHT 35% T G H H HT WA Bt
2 | afe fosht & 109% <6t gfig Bt 2, A iteher <hifoT :

() wftr IR o # wfawrd 9fg

(i) aF1 U W o SKiem i AE

The share capital of a company is ¥ 10,00,000 with shares of face value
of ¥ 10. The company has debt capital of ¥ 6,00,000 @ 10% rate of
interest. The sales of the firm are 3,00,000 units per annum at a selling
price of ¥ 5 per unit and variable cost is ¥ 8 per unit. The fixed cost

amounts to T 2,00,000. The company pays tax at 35%. If the sales
increase by 10%, calculate : 20

(i) Percentage increase in EPS
(ii) Degree of financial leverage at the two levels

il s iy & ufy MR aur frer Surm H Swen HINY |

Explain the Modigliani and Miller approach for corporate dividend
policy. 15

IR STafY % AR Witd § ST AT 89 YR gu E ?
What are the various insurance sector reforms that have taken place in

India during the period of liberalisation ? 15

M-Esc-U-cmA 2
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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and § are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

Q1. T=feRas & & T &1 I o 150 vreet # iR ;

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

STH-P-LOMA

foesft gg1 ol @ wref WY SEmR qEeRl % WEYE! @ heH
i |

State the provisions of Indian Accounting Standards regarding Foreign

Exchange Transactions.

Frafal o ST YAt T A gk % e faves i |

Distinguish  between Internal Reconstruction and External

Reconstruction of Companies.

‘SaETRica g’ bl UG FIfSY | seh forfirer wehrl =61 Tase hifSw |

Define ‘Responsibility Centre’. Explain its various types.

“Uar U I ue feouuft forfag |

Write a note on ‘Service Tax’.

“aﬁﬁwmm%%é@qﬁwww%ﬁ@m%%f’
HAATRT |

“Verification of Advances is an important function of an auditor of a

Bank.” Explain.

10x5=50

10

10

10

10

10



Q2. (a) Tehw T, g drehw T, & 31.12.2013 &l gor-ua F=ferfaa o -
- Thy fo. | erenwr 1. Rt Tehyr fe1. | =repar T,
T T 4 T

Sfoael R gSht fesR gwafo=rt (g
(s R = 10) | B00,000| 4,00,000|3 opy 5,00,000| 3,50,000
et 1,50,000| 1,00,000 [fershar Teieh 95,000\ 75,000
AT <@ 75,000  60,000|3TER 1,40,000| 1,00,000
fafay e 37,500| 30,000 |G T e 1,17,500| 60,000
IR =g 10,000 5,000
8,62,500| 5,90,000 8,62,500| 5,90,000

STH-P-LOMA

gy . 3 &reher 4. &1 1.7.2014 ) foema e | s1feer 8 @9 areft
TG 1 dlhy . &1 goH-99 IR T@ R mm oem | @feR moeRt
Frafafaa SepiET 39y s St &

(i)

(ii)

(v)

30.6.2014 Wl 3{d BH I B8 WaHl H drehw fof. 4 feom weafa @
10% aTfeh &1 € Heagid 1 YIEU hid o 91 T 60,000 1 FHaa
e 3fsta R |

3t o7afy # wehw T, 3 R il W 10% aifis @ @ gous™
T o 99T T 1,45,000 1 ot ey a1fsia femam |

1.4.2014 =l ST HEIAT 3 10% nsren farafa fomam o |

ﬁﬁmﬁ@%:ﬁ%nﬂ\:ﬁﬁrﬂ% =7 araorhe oo (metae)
il s’ i | | k4 | M1 [0 AN A ha KA | e K4 Nl 2 F A V_l\s'"lll (AN} 3 [ B | \\5\3"1\'}

T 25,000 o7 AT IR TEA(T 73 Fob Afereem # 9 areht fafsr = Aiew
fA. = &l $I T 15,000 8 qeadfg i Smar |

TRy fot. o g iehe fot. a1 STfepR o areft faf¥r w s & siawifa
Hed o YR 9T W T AT 1 7 |

AT o =T Tehdl oA, T oH-99 d=R I |



The Balance Sheets of Rakesh Ltd. and Lokesh Ltd. as at 31.12.2013
were as follows :

Rakesh | Lokesh Rakesh | Lokesh
Liabilities Ltd. Ltd. |Assets Ltd. Ltd.
- L T R
Equity Share Capital Fixed Assets (other ;
(Shares of 10 each) 6,00,000 4,00,.000 e Goodvedlil 5,00,000| 3,50,000
Reserves 1,50,000| 1,00,000({Stock-in-trade 95,000 75,000
Profit and Loss A/c 75,000 60,000(Debtors 1,40,000{ 1,00,000
Sundry Creditors 37,500 30,000(Cash and Bank 1,17,500 60,000
Preliminary
Expenses 10,000 5,000
8,62,500| 5,90,000 8,62,500 5,90,000

(b)

(c)

STH-P-LOMA

Rakesh Ltd. took over and absorbed Lokesh Ltd. as on 1.7.2014. No

~ balance sheet of Lokesh Ltd. was prepared on the date of takeover, but

the following information is made available to you :

(1) In the six months ended 30.6.2014 Lokesh Ltd. made a net profit
of T 60,000 after providing for depreciation at 10% per annum on
fixed assets.

(i1) Rakesh Ltd. during that period made a net profit of ¥ 1,45,000
after providing for depreciation at 10% per annum on the fixed
assets.

(iii) Both the companies had distributed dividends of 10% on 1.4.2014.

(iv)  Goodwill of Lokesh Ltd. on the date of takeover was estimated at
T 25,000 and it was agreed that the stocks of Lokesh Ltd. Would
be appreciated by ¥ 15,000 on the date of takeover.

(v)  Rakesh Ltd. to issue shares to Lokesh Ltd. on the basis of the
intrinsic value of the shares on the date of takeover.

Prepare the Balance Sheet of Rakesh Ltd. after absorption. 20
favees arra fereersor, frotem # fohg TohR TEIs BraT 8 2
How is Differential Cost Analysis helpful in decision-making ? 15

“3TR R0 ST, 1961 % 31l ST 3T % TR T STaTRE TreaRy
T 9T JHTE BT g |7 ==t i |

“Residential status has its effect on computation of taxable income
under the Income Tax Act, 1961.” Discuss. 15

4



Q3. (a)

STH-P-LIMA

Uk I, S @l Icq1E s 2, U 9y o fou fyeAfaiaa stiehe Sd Ll

®:
~ | spF ATl hT | Qe-3mi hi
IE | aTies IcTeT (3HTE) | et I = & e et EeT
E2 5,000 20,000 160 20
9 60,000 1,20,000 384 44
aTier Iufery ffafaa 2 -
T
T Ersf-erg iafater emrd 5,50,000
Te-319 TEfEd AT 8,20,000
9 graf-ad AnTd 6,18,000
SAT9ehT
G) 3Ty sl uvTid SR <ht grufis fafe
Gi)  Teramerera smuni @ma et fafy

¥ IUR T IAF 3AE F 3R @ 1 9id geh1s ANTd &l IRehedd T 8 |

A company manufacturing two products furnishes the following data for

a year :
T s Annual Total Machine| Total Number of |Total Number
roduc
e Output (units) Hours Purchase Orders of Set-ups
A 5,000 20,000 160 20
B 60,000 1,20,000 384 44
The annual overheads are as under
=
Volume related activity costs 5,50,000
Set-up related costs 8,20,000
Purchase related costs 6,18,000

You are required to calculate the cost per unit of each product ‘A’ and ‘B’

based on

(1)

(ii) Activity based costing method

g

Traditional method of charging overheads

15




(b)

(c)

STH-P-LOMA

BT o (oY QT T qAT GTeRT0] HHeh! & TEEMT W ==t $Hifu |

Discuss the provisions of Indian Accounting Standards on Accounting for
Depreciation.

sfmm X’ 3 8 wefoEi ‘A7 o B’ % @t § | 39 g weaRy ‘A7 & s

T o T fopen S @ safes @l ‘B’ @ facfi e 2016 - 17 % form
forRIgrR =1 = 15,000 T1fEes TR @ & St & | gREl & gy § o
gt fr=fefaa 2

fereror gty ‘A’ Ty ‘B’
RIS Jeieh F 30,000 ¥ 50,000
feptran forersror stfafem & sr=rfa @k fohtan | = 40,000 T 1,00,000
S X & g T UGIC] < 8,000 T 24,000
STV S T YA 6,000 T 18,000
fwior quf g <6t feifer 31.3.2010 31.8.2013
USieha o & graftEt & Fmion & fo e

T T ST Z 70,000 T 1,20,000
a1t &ffmr < Hfiftem T 1,500 ¥ 3,000
fefaiaa stfafera g Suersy § .

() @ ‘B’ fmior % fore, fofe o g e w2 1,20,000 % = A @
31.3.2017 %! T 30,000 T SIS ST <F AT |

(i) e X’ T 50,000 fi A8 % da9 W M T 10,000 If HE AT W™
w u st for. gro s fobr o

(ili) 38 9 &% EE T 1,50,000 HT H Th Al gE HY, S A H
FffEH, 1961 i 910 80G o 7efT TgHifed 8, faam |

(iv) 384 99 & gRE T 7,500 A9 TTEey qhien X @9 fhU |

Mqeh! T gl o 2017 - 18 & fow, #fmm X 1 Fa sl am H
HfYhe T B |

15



Mr. X’ owns two house properties, ‘A’ and ‘B’. Property ‘A’ is used by him
for his own residential purpose, whereas property ‘B’ is let out to a
tenant for a monthly rent of T 15,000 throughout the financial year
2016 — 17. The other particulars in respect of the properties are as

under :

Particulars Property ‘A’ | Property ‘B’
Municipal Valuation T 30,000 T 50,000

Standard Rent under Rent Control Act < 40,000 ¥ 1,00,000

Municipal Taxes paid by Mr. X’ ¥ 8,000 T 24,000

Maintenance Charges paid < 6,000 ¥ 18,000

Date of completion of construction 31.3.2010 31.8.2013

Interest on home loans for construction of

properties from Nationalised Bank < 70,000 ¥ 1,20,000
Fire Insurance Premium Payable T 1,500 < 3,000

The following further information is available :

(1) Out of interest of ¥ 1,20,000 on home loan taken for construction
of property ‘B’, an amount of ¥ 30,000 was outstanding payable as
at:31.3.2017.

(ii) Mr. X was employed by ABC Ltd. on a monthly salary of
T 50,000 plus monthly travelling allowance of ¥ 10,000.

(ii1) He donated during the year ¥ 1,50,000 to a charitable trust
approved under Section 80G of the Income Tax Act, 1961.

(iv) He spent ¥ 7,500 for his health check-up during the year.

You are required to compute Total Taxable Income of Mr. X’ for the
Assessment Year 2017 — 18.

STH-P-LOMA ' 7



Q4. (a)

(b)

(c)

STH-P-LOMA

Th S 1 AT Teh UTeh & H9l & (o Toh TG WIed 3N § | M9 ¥
I AR & 37 TTEh & W@l h FE-g8qd H 2 | 3 gl w oy
Ity oA T A9 3191 & shigd e =g |

A bank has received an application from a customer for a loan. You have
to investigate on behalf of the bank the accounts of the customer.

Highlight those points you would like to concentrate upon.

THHR S, ‘qEMH IeAd’ IR ‘HuHmE UMIREr s g
I | Farse 6 yshm wra-fufor § st fha yer fefa fre o @ |
Define ‘Normal Wastage’, ‘Abnormal Wastage’ and ‘Abnormal

Effectiveness’. State how these are treated in Process Costing.

N A’ o e & Sl 2015 F TF AR R %1 SHURR W
fohan | 58w Wt 37k fam 3 9 1979 % = 70,000 # A W @l o1 |
#HH ‘A’ T HEH B ST 2016 H T 17,00,000 % Wiiher 9T swn 3R dofiga
Tdlheh 4 FH HBM 1 oA 1.4.1981 H T 1,00,000 FRm | W

qerebifa gaehiss (6.9, 91E.) frfofad 2
forcia ad RIRCIERC S
1981 - 82 100
2015 - 16 1000
2016 — 17 1200

P o 2017 - 18 % Rre G atfirem @ s i o B | 30
S T H T R A A’ % g R S A e, o B
8, &1 gara +ft i |

15

15
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Mr. ‘A’ inherited a residential house from his father in January 2015.
His father had bought the said house in the year 1979 at a cost of
T 70,000. Mr. ‘A’ sold the house in June 2016 for a sale consideration of
T 17,00,000 and the registered valuer has valued the said house at
T 1,00,000 as at 1.4.1981. The Cost Inflation Index (CII) is as under :

Financial Year CII
1981 — 82 100
2015 - 16 1000
2016 - 17 1200

You are required to compute the income from capital gains for the
Assessment Year 2017 — 18. Also suggest the actions, if any, that may be

taken by Mr. ‘A’ to avoid tax on capital gains.




@us B
SECTION B

R L L LT CS— G g v

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

STH-P-LOMA

“foriia TERE T @& oY SrRreharie B § |7 SIS e
HIT |

“Profit maximisation is the goal of Financial Management.” Critically
examine.

forfta frort & SiRaw-aftafsy & e gqem womar w ==t $ifsm |

Discuss the Risk-Return Trade-off in financial decisions.

Hel SR 3R S 919R o o fader Shifsw |
Distinguish between Money Market and Capital Market.

FHrfi o foem 4 fafe sgue = fuifa w0 h ofie Gt 6 @
Discuss the various methods of deciding exchange ratio in merger of
companies.

S ST W gRT SaaTfed fohe T qedieh wiHe 1 o hife | su 1R
Toh i oft =men i |

State the valuation formula put forward by James Walter. Also explain
the logic behind it.

Teh ST Ty’ Y 2600 gepzat afd o 2,000 9 e T T S=d
2 | 9fd 3T AT & e ferfafag € -

X
ST | TS Uk gt 800
Jeaet Asigdl 400
Suftery @ 400

U =t ° ges™ & T 2:60 9@ ot aftyfoa @ | ETeTTEe STER TR
IY IcUTe G ®9 Y S @1 2 | 9ot s 3UR W e ¥ | usH ¥ gy
o gl &1 go R ST @ |

/)

10x5=50

10

10

10

10

10



frfoaftaa sifaftea saepr ot Suersy 2 -

sitga rarer
el 1T Te A gt ver o | 4 T8
91e] e (ARl 100%, 99 TE 39T 50%) 1 9T
ffda a= 1 98
TSR I 39 Y gwfd 6 FwiTg
TARR gRT 3R T 1At 4§18

ST TET S ATl Fohe 39 T 60,000 2 |
Frot & fore fraer wrefEfia 36 saweehar &1 aitehed HIT |

A company sells 2600 units of ‘Mixer’ at ¥ 2,000 each, annually. The
details of cost per unit are as follows :

=3
Raw and Packing Materials 800
Direct Wages 400"
Overhead Expenses 400

Overhead expenses include ¥ 2-60 lakhs on depreciation. Production is

evenly maintained over the year, on a weekly basis. All sales are on
credit. Materials are introduced at the beginning of the process.

The following additional information is also available :

Average Period
Raw Material and Packing Materials in stock 4 weeks
Work-in-Progress (Material 100%, Labour
and Overheads 50%) 1 week
Finished Goods 1 week
Credit Allowed to Debtors 6 weeks
Credit Allowed by Suppliers 4 weeks
Cash balance to be maintained is T 60,000.
Calculate the Net Working Capital Requirements of the company. 20

(b) Yol e % fafema § e i g i foe=an S |
Discuss the role of SEBI in regulating the Capital Market. 15
() ‘Gt v’ =i uftenfya Hifvw | GSt qwifin de1 S 9 SRRl Sme
hifsrg qem gt Twifm At feufaat =1 off sasy |

Define Capital Rationing. Explain the factors leading to Capital
Rationing and also state the situations of Capital Rationing. 15

STH-P-LOMA I




Q7. (a)

(b)

(c)

STH-P-LOMA

31.3.2016 ! AT B 11 99 & fU ‘Tewmr el fo1.” @ wwafR seer
ﬁmﬁf@ﬁ%

-
Sfoerdl SRR et (Y% T 10) 50 AT@
12% §ig Y T 1,000 hT 37 @
ferspa 84 ATE
feor @A (IS 1 Big) 6-:96 ATE
IESIPASICIS 1-49
lH HIAT HAHId 27-55%

AT A ‘ 40%

S9! qREhe T 8

Q) YT e

(i) EIH oS

GGii)  9fd IR el

The following information is related to ‘Alpha Co. Ltd.” for the year
ended 31.3.2016 :

X
Equity Share Capital (¥ 10 each) 50 lakhs
12% Bonds of T 1,000 each 37 lakhs
Sales 84 lakhs
Fixed Cost (excluding interest) 6:96 lakhs
Financial Leverage 1-49
Profit Volume Ratio 27-55%
Income Tax Applicable 40%

You are required to calculate

(i) Operating Leverage

(i1)) Combined Leverage

(iii) Earning Per Share 20
SUR YEY% o G T or@rati i Ifeufa ot goed & srgdieror § swmre &l

S Tt qeheileh! sl T8 HIFTT |

Explain the techniques used by the Credit Manager in monitoring the
status and the composition of Accounts Receivables. 15

AR Y9 AT BIAT 8 ? HIARTA YR % T hl 3N 3@ e & fog
od3rt 7 T HR |

What is Commercial Paper ? Explain its significance and the
pre-conditions for the issue of Commercial Paper. 15
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Q8. (a)

wa.%. f7. % 31.3.2014 37 31.3.2015 % qeq-9 Fefafad €
S 31.3%2014 31.3.?2015
serard] 2 4ol 75,00,000 |- 1,02,50,000
| e ffer 42,50,000 |  50,00,000
AT T 15,00,000 18,75,000
13% U9 Tesh T 100 T 58,00,000 43,50,000
=] gqdTe 30,00,000 32.50,000
AT SATHTST 7,50,000 9,10,000
A L % fIT grauH 22,50,000 24,75,000
Egl 2,50,50,000 | 2,81,10,000
et 31.3.2014 | 31.3.2015
T 3
giH 10,00,000 7,75,000
EGRSIRE 68,00,000 |  61,20,000
R RCREIE ] 75,12,000 | 1,07,95,000
[GER! 25,00,000 21,25,000
Tk 33,00,000 27,50,000
Foft 24.,45,000 36,20,000
T Td S 14,93,000 19,25,000
& 2,50,50,000 | 2,81,10,000
F=fRaa s1fafes gEaTe 3uersy § -

(1)

(ii)

2014 - 15 focfir ad & wraft 9 o0 o9 W sfaadt e w1 fime

foram |

OTAT T 1.4.2014 1 10% Hiftrew w2 fami=m fopam |

$o Maw ® T 75,000 H AH W = AT AT R ATH H HH
amfera fftr orar # shfge fopam |

¥ § T 23,50,000 h AN Arelt YU T T T 6,25,000 A &=
T | gifed ged T 8,00,000 T |

STH-P-LOMA 19

(iii)

(iv)
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(v) G T WRiF o STRE I8 T 209 Geast™ S | |
(vi) ffr Td wae &1 g A A1 fase & o | |

(vii) =¥ o SHE T 4,50,000 T & &L= ram T o |

31.8.2015 ! AT B I 99 o oI, 3TUehl Tehe! TaT8 faemor S e

2 |
The Balance Sheets of S.K. Ltd. as at 31.3.2014 and 31.3.2015 are as
under :
Liabilities 31.3%2014 31.3.?2015
Equity Share Capital 75,00,000 1,02,50,000
General Reserve 42,50,000 50,00,000
Profit and Loss Account 15,00,000 18,75,000
13% Debentures of ¥ 100 each 58,00,000 43,50,000
Current Liabilities | 30,00,000 |  32,50,000
Proposed Dividend 7,50,000 9,10,000
Provision for Income Tax 22,50,000 24,75,000
Total 2,50,50,000 | 2,81,10,000
o 31.3.2014 31.3.2015
i v
Goodwill 10,00,000 7,75,000
Land and Building 68,00,000 61,20,000
| Plant and Machinery 75,12,000 1,07,95,000
Investment 25,00,000 21,25,000
Stock 33,00,000 27,50,000
Debtors 24,45,000 36,20,000
Cash and Bank 14,93,000 1‘9,25,000
Total 2,60,50,000 | 2,81,10,000
/4




(b)

(c)

TH-P-LOMA

The following additional information is available :

(1)

(i1)

(iii)

(iv)

(v)

(vi)

(vii)

During the financial year 2014 — 15, the company issued equity
shares at par.

Debentures were redeemed on 1.4.2014 at a premium of 10%.

Some investments were sold at a profit of T 75,000 and the profit
was credited to General Reserve Account.

During the year, an old machine costing ¥ 23,50,000 was sold for

NN Tdo cxreas SR
T 6,25,000. Its written down value was ¥ 8,00,000.

Depreciation is to be provided on plant and machinery at 20% on
the opening balance.

There was no purchase or sale of land and building.

Provision for tax made during the year was ¥ 4,50,000.

You are required to prepare a Cash Flow Statement for the year ended
31.3.2015.

‘STt Yot §LEAT ol g I | o Y srggeay ISl e &%
e o gea femml 1 faaemn it |

Define ‘Optimum Capital Structure’. Discuss the major considerations in
the Optimum Capital Structure planning of a firm.

Frafafad e Ul & Wete %l qHEEy

(1)
(ii)
(iii)

RSl AT
dohlel (Arg fAeior) ST

AT STTad AT

Debt-Equity Ratio

(11) Acid Test Ratio

(111) Inventory Turnover Ratio

(iv) Operating Profit Ratio

(v)

Current Ratio

5]
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CS (MAIN)EXAM:2018  fa41% DETACHABLE
FIfier @ A@TEte (e 1)

COMMERCE AND ACCOUNTANCY (Paper 1)

Fratfa wwg - #9902 ity 3% ;250
Time Allowed ; Three Howrs Maximum Marks @ 250

wya-ux T faim agew

o weAt 3 we 3 | od frefafen vas o = sy o
=0l s We W ur wvet # famfim # o Rt ofle et ST A w0 2
il &t g v Wl &9 ot © |

Wi T 1 #% 5 st § A § @ v e § 0-4-50 U uE e el A
W & I Gifan |

Wi W9 /W & S 9Ees | iR T g )

usl % T =ot Ao # fra o e Fe o=a aed way-e o e omam #, sl o

e w1 wE SeE wE-we-T (wdin) oem § qe-me w e wmm w fEr e
=tfen | el wom & afifes g el mom # | e w S aF T e
wel § g Hi, et fafitEe ®, @ smee e wen aifeg
afe s B, A ST #iwer = 9oA Hif, war I e i )
7T & IRl T weE R St | 3 s w8 8, @ we F Fe 5 e S s
A1 T S st e B | we-we-gwe g § w9 g U an 96 6 6 w9
B & w2 S A |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting guestions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
EMGLISH.

Candidate has to attempt FIVE questions in all.

Questions No, 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section,

The number of marks carried by a question/part is indicated against it

Answers must be written in the medium authorized in the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. Mo marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of guestions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

Tus ‘A SECTION ‘A’

fpfafag wel # # WS W S S 150 Y A g
Answer the following in about 150 words each : 10=5=30

AT WS AT U Wl @ ey | e syt i el € 7
Explain the concept and nature of accounting standards. Why are these needed 7
10

F-g ot wrn waadm fofe & vae ot € 7 oad fadensd w0 Ad #
wHET |

What are the costs used in managerial decision-making ? Explain, in brief, their
characteristics. 10
s afufmm ¥ weta, e abad’ wfs o= s o oo
“Fravlt’ =afr & o ver fom 2@ 2 7

In what way does the liability of tax of a “not ordinarily resident” person differ from
that of a “resident” person under the Income Tax Act” 10

q 35D W 35 E F i, @ddl @ g e % fon st s deed &
g wEaET 1 BEErE |

Explain the major provisions of compulsory tax audit for claiming deduction under

section 35 D and 35 E. 10
W SIETE & WeTdT o eeg H weE |

Explain, in brief, the functions of cost accounting. 10
v a9 wim fafiz @ 31 W, 2017 W g feefafea @

Triied 7 arrferat ¥
20,000 i 20,00,000 | Tl 25,000
(wfer 91 2 100) W T 1,50,000

H99 U 3.00.000
12% fed=r 5,00,000 | T 80,000
w=iE 2.70,000

fid=m == 1,20,000 el 60,000
L : @ W A 35,000
X yRfiF =g 20,000

3,00,000 | ey = s w@En 19,580,000
29.20.000 29,20,000

EGT-P-COMA 2



fifafor St o Ffert 2 -

(i) et @ wla 9 795 % w0 A fw = # | 5w g, o wfy A
Z10 3 10,000 3 Sl § aafE R s 2

(i) Fedmeardl o ow fodem =ma 9 wrm @ gl 33 ¥ ) afgff % =
#H, 129% fesd=r 1 14% REsx # ofaffa =< o s 8, 25,00,000 @A 9w
2|

(iii) #erl # 7 fawer fa s ¥ fF @ @ ¥ o TR & of e #os0%
o SiEE F aaar d9 g F s daEt (afe S 7 10) # ofiafi ww
T | 22,00,000 F AR A9 AT $ ol B e W feen R

(iv) 9 sFerl &t st & foo iR Aqee gmam @ feer g @ ug andsia
dsit =it S5 F fg e @ TE W 50,000 $RE SR (wfy 9eR 210) W
Frif gedl 2, @ S of W amEeT W 5 2 | 9w el gof afiee
gml

(v) Hfr g wE W F2,00,000 W FREA oo @ 9= fE wiah s e =

¥2,10,000 %= fim e 2 | wfem =mw g 25,000 1w femn wmn 2
AT e Wiateat sifam sk ke F g e w1 ged 9 dER
aifen |

The following is the Balance Sheet of }:i'!t'z Ltd. as at 31st March 2017,

Liabilities v Assets ¥
20,000 Equity shares 20,00,000 | Goodwill 25,000
of F100 each Land & Buldings 1,50,000

Plant & Machinery 3,000,000

12% Debenture 3,00,000 | Fymiture £0,000
Outstanding Stock 2,770,000
debentures interest 1,20,000 | Debtors 60,000
Cash at Bank 35,000

Creditors 300,000 | Preliminary expenses 20,000
Profit & Loss Alc. 19,80,000

29.20,000 20.20,000

3 EGT-P-COMA



2.(b)

The following is the scheme of reconstruction :

(1)

(ii)

(iii)

(1v)

(v)

Equity shares are reduced by ¥95 per share. They are, then, consolidated into
10,000 equity shares of ¥10 each.

Debenture holders agree to forego outstanding debenture interest. As a
compensation, 12% debentures are converted into 14% debentures, the amount

remaining ¥ 5,00,000. -

Creditors are given the option to either accept 50% of their claim in cash in full
settlement or to convert their claim into equity shares of F10 each. Creditors
for ¥2,00,000 opt for shares in satisfaction of their claims.

To make payment to creditors opting for cash payment and to augment working
capital, the company issues 50,000 equity shares of %10 each at par, the entire
amount being pavable along with applications. The issue was fully subseribed.

Land and Buildings are revalued at ¥2,00,000 whereas plant and machinery is
to be written down to #2,10,000. A provision amounting to 5,000 is to be
made for deubtful debts.

Pass necessary journal entries and prepare the company’s balance sheet immediately
after the reconstruction. 20

forlt weelt w1 g Wi wevE weRel W & e Wl B | weles aqwE |
a% war = & Fr v when # e afy (GEw) W over R

e efa wfa & e 7=

© T (A) 2% 25 4 wfy zad

4 (B) 4% 50 ¥ wfy zard

& () 2-5% 60 H wia =

YT WER 9 ¥

ECIA WEH T Wl At wEE Al
AU 12,000 10,000 9,000
b [ 16,000 5,000 4,900}
Tt == 2,000 3,400 1,590
w7 Y = 3,500 2,005 2,004

EGT-P-COMA 4



WEH T H 13,560 F o # wEfE B9 F 4,000 Al 48 0 | s W
3 Fegmed 59 VR A1

&FH TR

T 3,850 SERTEAT

= 3,600 FHTET

Ht 3,500 sersal
WA @Td aAEa TF 9w At @ ifen B e s W 20% W oW w4 ', Wi
i fosra Ae wearfea weis = fam @ | 15

The product of a company passes through three distinct processes to completion.
From past expericnee, it 15 ascertained that the normal wastage in each process is

as under :

Process Wastage Sale value of wastage
A 2% 25 paise per unit
B 4% 50 paise per unit
C 2:5% 60 paise per unit
The expenses were as follows : F
Particulars Process A Process B Process C
Materials 12,000 10, 000 9,000
Direct labour 16,000 5,000 4900
Manufacturing expenses 2,000 3,400 3,590
Other factory expenses 3,500 2,005 2,004

4,000 units were initially introduced in process A at a cost of F13,560. The output

of each process was as under :

Process Output
A 3,850 units
B 3,600 units
C 3,500 units

Prepare process accounts and also work out the sale price per unit of finished stock
s0 as to realize 20% profit on selling price.

5
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2.(c) ﬁﬁﬁ?ﬁﬁgﬂmﬁmaﬁﬂaﬁtmqﬁﬁiﬁmﬁmﬁﬁﬁﬁ%w

oy & 7

What are the provisions of inclusion of the income of 2 minor child and the wife of

an assessee in his total income 7 15
3(a) w40 ad) i Fake ad 2018-19 F fou w-amg g <t wmoen Hife

z

R § faa @ 2,00,000

T o e | ardeEEE deie Hie

(afe fam =@y & " 6 W) 6,00,000

g FOA & REIR § e (o A

(Z2at9e & =g )

(T T T2,50,000 FT 20% 9 W W A g N wmen § A

26,00,000 =1 10% F 2 #) 2,50,000

g g us, foaw a8 e B, ¥ WH 9@ W Y 82,000

o W A o (30% & 8 ve = FEe) 70,000

5 Fit el SEEt 9T =

TG F AW H ST 1,17,000

— AEfem qF & M 1,450

= W%Taﬁ%%m Bt{m

— e et O & AW 70,000

ATH 67 ot = wd i Afeww Gfeem w R omn =

(m o i, fesm =af) 8,000

anfert gt % waen W e w6 A seE st w fee
w1 S At (s o sfy-afee gt domm & fen s @) 6.,90,000

ST O U ST W 76.000
Trier afmfya aufd e =i A 5,000
Frefor = 2014-15 # FEftm 1% 9% FEEE & s w1l 26,000
T 10, 2017 & wF B W ¥1,15,000 § ST 99 F @

(7 & =R = T1,70,000 ) 1,15,000
wer wfrsy faftr @ran # s w@ U9 UE H K 5w o 163,000

EGT-P-COMA 6



3.(b)

Compute the taxable income of X (40 vyears) for the assessment year 2018-19,
¥
Net income from trading business 8,000,000

Long-term capital gain on transfer of debentures
(if computed without indexation) 600,000

Long-term capital gain on transfer of hsted debentures
(computed after indexation) (X wants to pay tax at the rate of

20% of ¥F2,50,000 and not at the rate of 10% of ¥6,00,000) 2,50,000
Share of income from HUF in which he is a member 82,000
Winning from horse races (net of TDS of 30 per cent) 70,000
Interest on bank fixed deposits :

— Deposit in his own name 117,000
— In the name of minor son 1,450
— In the name of minor daughter 8,000
— In the name of major vnmarried daughter 70,000

Expenditure incurred for medical treatment of his 67 years
old elder brother (dependent of X, being a person with disability) 8,000

Repayment of loan taken for part-time studies of
major daughter for graduate course in management

{loan is taken from a notified charitable institute) 6,90, 000

Payment of interest from the aforesaid loan 76,000

Donation to the aforesaid notified charitable institute 5,000

Brought forward loss of a discontinued business

pertaining to the assessment year 2014-15 26,000

Purchase of a work of art on November 10, 2017 from a friend

for ¥1,15,000 {market value is, however, ¥1,70,000) 1,15,000

Deposit in Public Provident Fund account and purchase of

NSC IX issue 1,63,000
25

U FAr & " A e famdl # mmengd B e forss aat F frafo & e
fmw far s 2 | wewt g AT ¥ WA S W 3 S WEE & oS-
A # S £ 7

State the points 1o be considered while determining divisible profits in case of a
company. What are the auditor's duties m regard to payment of dividends by a

company 7 15
7 EGT-P-COMA



3(c) R ware fran @ wefim wiodm Swe WS 6 wHE wEEE SR #

qHATE |
Explain, in brief, the main provisions of Indian Accounting Standards regarding
cash flow statement. 10
A(a) 319, 2016 F quw s fufie F feafafe 99 2
o (3fE) 7 W (%) ¢
g ma waA 30,72,000 | #w1 9E (4,00,000 40,00,000
e T Ay 33,00,000 | $EE F10 WEOF) -
=i 7,50,000 | 12% oT9H 30,00,000
fafira e 8,70,000 | =mw-wifq @ 2,62,500
Tefie 2,50,000 | ¥ fa= | 3,70,000
a4 i T 406,500 | 9ER 400,000
=T A 75,000 | fawa 41,50,000
WEN SiE ATHI 302,500 | @wETg Wity 2,50,000
erie 18,50,000 | suien = 35,000
yrifirs =09 50,000 | (01.042015 S WrEHH)
A RAT 9,79,800
AT = 68,350
EGE] 2,02.250
EolE 21,100
e WUMH W 1,80,000
1,24.67,500 1,24,67,500

Frafafiaa afufes st sy 2

(a) WE UH WARED W 15% JE FE

(b) wrifirs =59t & 25,000 F =2 @W TEA

(c) =my =d @1 fad=e =m arh

(d) FErt ¥ fau wfew ol 92 5% WET = WEaE

(¢) W8 &% & fou 50% & W 8 wEYE W

(f) 31\, 2016 F w=iw £9,50,000 91

(¢) @At efigfd g 25,000 % v @ W wet fdw ww w R
FrAT & wfem o e |
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The following are the balances of Bhushan Co. Ltd. as on 31st March, 2016 :

Debit . 4 Credit s

Land & Buildings 30,72,000 | Share Capital 40,000,000
Plant & Machinery 33,00,000 | 4,00,000 shares {@ ¥ 10 each
Stock 7.50,000 12% Debentures 30,00,000
Sundry Debtors 8,770,000 P/L Ade. 2,062,500
Goodwill 2,.50,000 [ Bill Payable 3,70,000
Cash at Bank 406,500 | Creditors 4,00,000
Calls in arrear 75,000 | Sales 41,50,000
Interim Dividend paid 392,500 | General reserve 2,50.000
Furchases 18,50,000 Bad Debt 35,000
Preliminary Expenses 50,000 (Provision on 01.04.2015)
Wages Q.79 800
General Expenses 68,350
Salaries 2,02.250
Bad debts 21,100
Debentures interest paid  1,80,000

124 67 500 1,24,67,500

The following additional information 15 available :

{a) Depreciate Plant & Machinery by 15%

(by Write off 5,000 from Preliminary Expenses

{c) Half-year's Debenture interest due

(d) Credit 5% provision on Debtors for doubtful debts

(e) Provide for Income Tax @ 50%

(f) Stock on 31st March 2016 was ¥9,50,000

(g) A claim of ¥25,000 for workmen's compensation is being disputed by the
COIMpArny.

Prepare Final Accounts of the company.

aby ' F wmdE gee-a we afiEt fir smder @9 € s | Fend
' st #-froardt afigafogt & <= fadga $ifvo |

“The audit of banks is the audit of balance sheet and advances.” Explain. Distinguish
between performing and non-performing assets. 20

20
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4.(c)

S.a)

3.b)

S.c)

5.(d)

S50e)

e s o IR e e e e e e o e T e
i ofter ey s &) owm F yey #, wAE AvE Faiw & S #

T |

“Standard costing 1s universally accepted as an effective mstrument for controlling
costs in industries.” In the light of this statement, explan the objectives of standard

costing. 10
guE ‘B’ SECTION *B°

Frafafaa vt § @ wois = F0% F9 150 = A7 Sl
Answer the following in about 150 words each ! 10=5=50)

v faeftg fofl, whef (Red), ifer o aom @ % 99w @
T AT g it |

Critically examine the relationship between the key financial decisions, retumn, nisk
and market value. 10

Yot fasemm, owvaE. fsewn oF et sed o (sl o A
ST ) WA WE W A S § AT WOeh 979F | Weds 61 o s o
TETEA TH FHET ATRUTAT & FE0 o S |

“ABC Analysis, FSN Analysis and Inventory Turnover Ratio are the most commonly
used tools of mventory management.” Explain each tool in brief and state the
reasons for their popularity. 1

frer Fotam weem 3t Siflaw =1 wnfae @ & Fafafm o8 & fFEEn S
sifas gurafia gz fafe vd Fissaa g fafl )

Discuss the following ways of incorporating risk in the investment decision making
process : The Risk-Adjusted Discount Method and The Certainty Equivalent
Method, 10
" aral i fasfte ot & we, gt oftosan, ao FelEt o wefia
T 9 g o wwE B, Il = we ve W\ F wel oS w
formn =1 wepan & | At A FetiaRn W Aoy weE difae |

“Financial markets can be classified based on types of financial claims, maturity of
claims, claims representing new 1ssues or outstanding issues, timmg of delivery and
nature of its organisation structure.” Summarise the classification in brief. i

= Huitg #, ‘fEfed & g vaw infae wewne @ e difi ) mr aee &

Wil = & Faton & T Gefea g0 - weltes s5mmm o w8 7

Explain the rating methodology used by CRISIL in debt rating. What symbols are
used by CRISIL for determuning the risk level of a debt instrument 7 10

EGT-P-COMA 10



6.a)

6.(b)

w3, Fifs foafifm s AR i s e = w2

[EESIE]
(A) 9ur frgm (2 @@ #) 10-00 9-60) 12-00
(B) wuw sty (Rt #) 30 45 60
() zan Fm (ferm = wfte) 5 4 6
(D) TuR WamEA F wEE (¥ WE ) 0-40 025 | 050
(E) fta g safy (Rt ) 45 50 70

Frrt fam W 40% FEEM WIE S R AU ¥Rl § | 3 Ew W sEws
qftefe @ (e s fed) wfted 200 % | @@ o o =d @ 365 fom & | s =1 wema
2 fE el & fau w-m gaw-wafy-fee st 3o 2

ABC Ltd. is considering the following credit policy alternatives :

Particulars F;‘;Tit;;g DE’T“ Df“;'"
(A) Credit Sales (¥ in lakhs) 10-0:4) 960 12-00
(B) Credit Period (days) 30 45 Gl
(C) Bad Debt (% of sales) 5 4 6
(D) Cost of Credit Administration (¥ in lakhs) 0-40 025 0-50
{E) Average Collection Period (days) 45 50 70

The company expects to achieve a contribution of 40% on sales. It has the required
rate of return on investment of 20% p.a. Assume 365 days in a year. You are required

to suggest which credit period option is more suitable to the company. 20
‘fipfera swdityw’ &t foafafaa s e 2 .

— Wi 9§ ¥ 4.00

— it w wfEE = 18%

— St g aifea ofwfE 5 (2 giw fed) 15%

af% Gree wuE 40 WA ? 50 WRWE 60 wiayw € 7 a1 9w qige o SR
Wiy S o Fem g v

11 EGT-P-COMA



6.(c)

T.a)

The following information is available for KRISHIV Corporation :

— Earning per share F4-00
— Rate of return on investments 18 per cent
— Rate of return required by shareholders 15 per cent

What will be the price per share as per the Walter Model if the payout ratio is
4() per cent 7 50 per cent 7 60 per cent 7 15

it S wile st goh amm (sEwoatdl) s @R o fol e @
St o F fay R R St & et g € ) wEw # weweed |

“The Weighted Average Cost of Capital (WACC) of a firm, depends on many factors
which are bevond the control on the investment and financing policies of a firm."

Explain in brief. 15

e ffis wue AR Sea g aeeE geEl B H uw & fafmin s@ R oarem
A aredl # | sEE a3 feer @ - ue, Ao alee argfdeant § s wE W
TE, T EweETE e e
Tady adwm st & whed so00 2fE 6 e #2125 wh g F o w
sTgfet et ot geal wafdE A2

afe wew @ ey ffetn g 2 @ s fog amees Suwon @ aEE
F10 @@ BNl TE Ui 99 % v S9E AGATHE S9e 6 €2 W T8 |
sfafes wardt wma (gm w1 @) S " 71 A wh o gt | ueEs
we & T W ofedsfa amm 230 wfy gfe 26 | s 35 wfmm S
seria 2 | = i & o gl s 15 whee ) serlt B sl el
sasawaT gig af #q 7,500 gfe wfy =f & | wDv faft % s w gm oW w®
wratier 5% 25 wheE # )

FAT wi weme aifvn fe et ared smgfdeat & sl wae =fey s w9 W@
feprtor wrem = ife | @y =7 = firm enn ARt wieEd st & faE 6000
gfEl &t smavaEar B, 9% |

EL| 1 2 3 4 5
F1HT 15% T FGAE g5 | 0870 | 0756 | 0658 | 0572 | 0-497
T1 Tt w1 adoE og=r | 0870 | 1626 | 2283 | 2.855 | 3.352
15% % '

EGT-P-COMA
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T4b)

Namya Ltd, wants to prepare the feasibility of manufacturing one of the components
needed for its finished product. It has two options of purchasing from its present
supplier or to manufacture it in-house.

Its present supplier has shown the willingness to provide at F125 per unit for the
company s requirement of 6000 units per year.

If the component is manufactured in-house, it requires equipments costing
210 lakh and is expected to have salvage value of ¥2 lakh after the expiry of five
vears. Additional fixed cost (excluding depreciation) are estimated to increase by
71 lakh per year. The varable cost of manufacturing each component will be
30 per unit. The company is subject to a 35 per cent tax rate. Its cost of capital
is 15 per cent for this project. The company’s projected annual needs is at 7500 units
per year for 5 years. The tax relevant rate of depreciation is 25 per cent based on
WDV method.

Advise the company, whether it should continue buying from outside supplier or
start its own manufacturing. Will your answer be different if the requirement of the

company is only 6000 units per year ?

Year 1 2 3 4 5
The present value of 0-870 0-756 0-658 0:572 0-497
T1 at 13%

The present value of an | 0-870 1-626 2283 2-855 3352
Annuity of F1 at 15%

20

‘g At fafiee & S s 9ot 25,00,000 B, (dfE = %10)
forar AT S smEvas g ww % oo, s $3,00,000 S STEdt @
Fifit =t == fo, e Pefife ar sRm e e fer wm @ #

AT & g afi e e | W R

A ;¥ A6 S W ve 2 W R dem @ 10 wiewm wiied e 1w
el |

A gl 239w, S W 10% wioEd = w s |

AT T A S A U T2 A 8% Wi A o et el % e 8

Forecire Ao whdRe o TEETE AT F 1,50,000 A WIH G R IR Sl R | S W

35% & o N & | S99 AAT o He S |
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T.4c)

8.(a)

Mayur Manufacturing Ltd. has equity share capital of ¥5,00,000 (face value
F10). To meet the requirement of expansion plan, the company wishes to raise
¥3,00,000. The company is considering the following four alternative sources 10
raise the funds :

Plan A:  To have full money from the equity shares.

Plan B ©  Toraise F1 lakh from equity and F2 lakhs by borrowing from financial
institution (& 10% rate of interest per annum,

Plan C :  To raise full money of ¥3 lakhs from bank at 10% rate of interest per
ANNUIML

Plan D : %1 lakh in equity and ¥2 lakhs issue of preference shares at 8% per
annum dividend.

The company is expected to have eamings of ¥1,50,000 after the expansion

programme. The tax rate applicable to company is 35%. Suggest the suitable plan.
15

frefrr it 35 v o gevre Fed A Frefetan st @ oRonfe o
g it
(i) e dqum (ufie dR smuE)
(if) =ATH HCEHW AIE
(i) sitem wwe FEly
(iv) fafrfaa Ot = aREf
(v) HiHT — #a wI
Define and evaluate the following ratios used for analysis of financial statements :
(1) Acid-test ratio
{if) Interest coverage ratio
(iii) Awverage collection period
(iv) Return on capital employed
{v) Price — earming ratio 15

frer 3 T 3 e s B 3 -t @ R s 8§ 7 afimf
w3, ot i aabE W 2f @ R e Rfw w H e Rt
il i

What are the different bases for establishing the exchange ratio in case of a merger

How the boundaries for exchange rate is deterruned from the view pomnt of
acquiring, acquired and combined firm ? 20

EGT-P-COMA 14



B.(b)

8.(c)

R # g gl gEE g B REee Fifng
Discuss the state of the venture capital industry mn India. 15
iy v s firer el foR G weEn ool fremr @ e St @ o g g

afirdrat @1 @aa difm | Feafafes st = w1 e, ok v e
e w0k, GRSy T arfdds wee T wER ww R S oad wfE wwe €

sy Fafiree v om Ffitte v wiflaw aoft # € | ow fafies & e o 4t el
2 | wm fafiee & aw oFl, W o R O 2| e fae el €

foram T fafies wam fefires
fraer of=ma @ (2) 10,00,000 10,00,000
Y AT (F) — 3,000,000
Ei Eiay s — 10%
tfaadt deflem 22 14% 18%
e gEft AR 14% 14-52%

e e T T fafivee % 1,00,000 w9 & ) G o I @ wT R ) w9 f
ARl = S
State the assumptions made in Modigliani and Miller Proposition-1 that the capital

structure is independent of capital mix. Explain with an example that how arbitrage
process justifies the theory, using the following data.

Shyam Ltd. and Ram Ltd. belong to same risk class. Ram Ltd. has no debt capital.
Shyam Ltd. has both debt and equity capital. Other details are as under :

Particulars Ram Lud. Shyam Litd.
Net Operating Income () 10,00,000 10,00,000
Debt Interest (¥ ) — 300,000
Debt Capitalisation Rate — 10%
Equity Capitalisation Rate 14% 18%
Average Cost of Capital 14% 14-52%

One investor is holding ¥1,00,000 worth of equity shares of Ram Limited. What
arbitrage will he resort to 7 15
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COMMERCE AND ACCOUNTANCY (Paper I)
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Jferaa 3iF : 250

Maximum Marks : 250

qgA-u el g et
FOAT Ayl % I 3 | gd Freafafea v@w smew B s ue
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Wl W /WA % e Sga A fow ww € |

el & IR St 7w A ford wm =it feer s@@ s vay-uF & fm wn R, sk =

AT 1 TE Ieog WI-H8-ITR (FLH1.U.) et & q@-y8 R e v w= e s
=1fen | Sfeifaa wem & afafes a= ot wmeam § fo@ 7o S| R @ 3/ 7@ e |
vl # yieg @, st fafifde 8, 1 seror feror sem =nfew |
qfe smavae €, d SUgeh sl w1 w9 Sy, qar s fifse fifrg |
T % IORI G AT HAITER Y SEAt | afe Frer ARt &, q U & IR H IvEr i s
=1¢ 9% S siva: fear mn @ | veE-we-Iw yfEr # @t Sier g I8 a1 36k 3 H e
&9 ¥ HeT ST A1 |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWQ SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

@US ‘A’ SECTION ‘A’
fraforfaa weal § ¥ S o1 IO FERT 150 U=al A I

Answer the following in about 150 words each :

w7 e o forg @ror Safeai s @ & Qe @l odl § | 98 SHa e % e
Y fore R i € 7

Explain why the companies buy back their own shares. How is it different from

issue of bonus shares ? 10
o B AT o JfE anens @l wdt & aa wwa fAuRer G
“HT9=’ | 99T AT GeHd © ? A9 T o qaEEl ® fhe YR v w4 ?

“Recognition of revenue presents two basic problems, namely timing and
measurement”. Do you agree ? How would you solve these two basic problems ?

10
a9 R ) @ 9 At Ul weH gata & atfis o e ver fatfa w5 s
frear af & g9 W G @ a2

What do you understand by the term Annual Value of house property ? How would
you determine the annual value of let out house property which remained vacant
for part of previous year ? 10
%aa@ﬁ%wmﬁ%q% ‘F e AR gell ana @ foe weR B
l

Explain with suitable examples how ‘Shut-down Cost’ is different from ‘Sunk Cost’.
10
W i wE faget @ we fif, &7 o = f danda s e

AAIEF H AW H @Al =i |

Explain five major points that an auditor shall keep in mind while conducting audit
of a Charitable Trust. 10

a1 fofiree ofk wa fafies =1 womem 1 sk, 2019 # sk St qiia & ot foan
T | QAT HUET % FRER B G & e e g fafies’ & am & uE 9
Foft = g | 31 |, 2019 i fRfy F sEr, = fafee ok @ fafiee &

(% =@ #)
frao aa fafies = fafies
(A) gTfaeT :

(i) T ISt
Rt (3100 UA) 2,000 1,600
15% 3mSR (Vs <100 1) 800 600
(ii) qeaTea sTRfdra 200 160
(iii) amT=T ARfEaa 400 300
(iv) sFfaQw @ 160 120
(v) 12% FO-u= (WS 100 ) 192 160
(vi) =T qrired 408 190
4,160 3,130
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(i) Tt ufwataar 2,400 2,000
(ii) =Te] uReafar, wor a9t e 1,760 1,130
4,160 3,130

Afafer gaAY

(1) @ fafies sk 7@ fafiee & siftmrel drafat & = weelt & 100 wha &
15% M A seR-seR gear § e fHu 2

(2) 7 @t 7 v forfiee ok @ foafiee & 12% fed=t & 7l st & wafw
T H 16% HRO-99, T100 wfd SR o< Toemr @ arfs sae sat @
mm”rwﬁaﬁl‘%l

(3) =& B faffies 3 v fafies & uds fFadt IR & fog 1.5 3Radt Qar qun
fafis & w3 SFd R & fou o e R S foen | s B
& qAH AR 100 3Hfhd T T 7 |

st ‘“fea & ey & Al @ v e anden feu @ % gs=TE 01 s
2019 &I =% B ferffiee &1 qom-99 JaR AT R |

Sun Ltd and Moon Ltd were amalgamated on and from April 01, 2019. A new
company called Black-Hole Ltd was formed to take over the business of the above
two companies. The balance sheets of Sun Ltd and Moon Ltd as on March 31, 2019
are given below : -

(¥ in lakhs)
Particulars Sun Ltd Moon Ltd
(A) Liabilities :
(1) Share Capital :
Equity shares of ¥100 each 2,000 1,600
15% preference shares of 100 each k00 600
(i1) Revaluation Reserve 200 160
(i) General Reserve 400 300
(iv) Surplus Account 160 120
(v) 12% Debentures of ¥100 each 192 160
(vi) Current Liabilities 408 190
4,160 3,130
(B) Assets :
(1) Fixed Assets 2,400 2,000
(i1) Current Assets, Loans and Advances 1,760 LBO
4,160 3,130
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Additional Information :

(1) Preference shareholders of Sun Ltd and Moon Ltd have received the same
number of 15% preference shares of 100 each in the new company.

(2) 12% Debentures of Sun Ltd and Moon Ltd are discharged by the new company
by issuing adequate number of 16% Debentures of ¥ 100 each to ensure that
they continue to receive the same amount of interest.

(3) Black-Hole Ltd has issued 1-5 Equity shares for each Equity share of Sun Ltd
and 1 Equity share for each Equity share of Moon Ltd. The face value of shares
issued by Black-Hole Ltd is ¥100 each.

You are required to prepare the balance sheet of Black-Hole Ltd as on April 01, 2019
after the amalgamation has been carried out using the “Pooling of Interest Method”.

20
2.(b) & fafmin Fufai S w=em =R fFrafafaa €, oo e @ folr axdt @ -
foraTor HAAT T HAAT qTE
ST SUFNT 90% - 60%
fasht (3 @@ #) 540 300
gfad] @rE (3 9@ #) 396 225
fraa @mE (3 9@ #) 80 50

7% A 5¢ T yeae st faen s R, aReem Hifw

() Toeifim doat 6 dge-wr fosft otk S8 &R | a@ar &1 9 |
(1) 80% &wan ST R faefia o= i srweniar |

(i) T 75 @@ @ gArHr Afla e & fore fafa @u & fafern |

(iv) v foeifia @a= T 75 @@ & T A affa = F gEar W yEfed ®1, 9@
Fra Suftema & 5% 6t gfg = aarg T & fou fosht Sma 7 ot wfasaan

gfg 6t sravaswar gl ?
Two manufacturing companies which have the following operating details, decide to
merge :

Particulars Company X Company Y
Capacity Utilization 90% 60%
Sales (¥ in lakh) 540 300
Variable Cost (¥ in lakh) 396 225
Fixed Cost (¥ in lakh) 80 50

Assuming that the proposal is implemented, calculate :

(i) Break-even sales of the merged plants and capacity utilization at that stage.
(i1) Profit of the merged plant at 80% capacity utilization.
(iii) Sales of the merged plant to earn a profit of ¥ 75 lakh.

(iv) When the merged plant is working at a capacity to earn a profit of ¥ 75 lakh,
what percentage increase in selling price is required to sustain an increase of
5% in fixed overhead. 15
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2.(c) =i Hifsu fF smmeR e & foe faifct & smawia feafa e yer fatfa

&l St ©
Discuss how the residential status of an assessee i1s determined for income tax
purposes ? 15

3.(a) A v i # ek wHEd € sk sadn wftar ffafea €
(i) 99 — 30,000 T wfawTE
(i) TEME WA (S I Fa gaEt i # i g ®) - 999 H 60%
(iii) gl dvm aemT § siveE - 3,000 ¥ wiowTe
(iv) UsF A fERR o6 SRR — 3,000 ¥ wiowTe
(v) ST Toama & wrfed a6 o sW & 9Raed " - 2,800 ¥ wfaATe

(vi) wfafgfs wer (37 7éM & forw) - 3,000 ¥ whwre

(vii) TR WAl — 2,000 ¥ WiwHTR
(af R & =M anfhm & stfafEl w 12,000 ¥ =@ f)

(vii)) 3¢ Tryes fram 6 gfaen ¢ v 2 | oo fam & aaw wE 2,000 ¥
mgf&aéﬁné%lwﬁeﬁqaﬁm? T H TR Iah fsit
SyEn vg fear @ fomam sfafea q=2 75,000 7 % |

(ix) 97 01.10.2018 ¥ TH AtaR AR Hher f gher ¢ 7 2 v v =
I 3,000 T WRMIE TWHR gRT WA foram s <@ @ |

(x)a%so,OOO?ggm@ﬁqaqeﬁméﬁzﬁwﬁwﬁﬁﬁW%
TR

(xi) 01.10.2018 H IR 3 f7arh & Q oM@ T H F HRHR Gl & foig
" 625% F Famdt s ) R femn | @ ww § 9w @ 10,000 wfowTe
01.01.2019 & WK & | 01.04.2018 T R T o il =TS R 9-25% 4t |

(xii) THR F fireex T A a9 feafafaa €
(a) Saa sar sifies
w@d & fow 10,500 T (S Tfsr &1 <@ ?)
golt & ferw 12,000 T (S fyr v @@ )
wi & foru 8,000 ¥ (s Tyt v @@ ?)
0% 9 % forg 8,000 ¥ (S IH IR A el R
W] 98 ERgar | difsd ®), (i afyr w=mE eeR )

Toft <t wifrRRmi 2014-15 % od o § <t Wi o4 |
(b) ufectsh widiEe we & s fhw — 5,000 ¥
() /T T N Hoo § UG W@ & IEh S B — 6,000 ¥
(d) Shew s e & wem &g forg & o R A (99 9E) - 36,000 °
Qﬁ_qn'_t'l'qﬁl?f&rl"l:
(i) 99 I=
(i) ¥RT 80 C & d&d el & foru agess v |
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Mr. X is a Government employee at Ludhiana and is getting following emoluments :
(1) Salary — ¥ 30,000 per month
(i1) Dearness Allowance (enters) — 60% of salary
(iii) Contribution in Notified Pension Scheme — ¥ 3,000 per month
(iv)- Employer’s contribution to Pension Scheme — ¥ 3,000 per month
(v) Transport Allowance for commuting between home and office — ¥ 2,800 p.m.
(vi) Deputation Allowance (for 2 months) — ¥ 3,000 per month

(vii) Entertainment Allowance — ¥ 2,000 per month
(During the year, he spent ¥ 12,000 on entertainment of official guests)

(viii) He has been provided with a rent-free accommodation. The licence fee for the
accommodation has been fixed at ¥ 2,000 per month. The government has
also provided him with furniture items cost'ng ¥ 1,00,000 (WDV - ¥ 75,000)
for his personal use.

(ix) He has been provided with the facility of a servant and watchman w.e.f.
01.10.2018 and the government is paying ¥ 3,000 per month to each of these
servants.

(x) A laptop costing ¥ 50,000 has been given to him for his official as well as
personal purposes.

(xi) On 01.10.2018 he took a loan of ¥ 2,00,000 from his employer to buy a car
at a concessional rate of interest of 6-25%. The repayment of loan started w.e.f.
01.01.2019 @ < 10,000 per month. SBI rate of interest as on 01.04.2018 was
9-25%.

(xii) During the year savings made by Mr. X were :
(a) LIC Premium :
For Self ¥ 10,500 (sum assured ¥ 2,00,000)
For Spouse ¥ 12,000 (sum assured ¥ 1,00,000)
For Mother ¥ 8,000 (sum assured ¥ 1,00,000)

For Major Son ¥ 8,000 (not dependent on him but is suffering from
disability) (sum assured ¥ 50,000)

All life insurance policies were taken in the previous year 2014-15.
(b) PPF Deposits : ¥ 5000
(c) Tuition Fees of Second Son studying in a College ¥ 6,000
(d) Repayment of Housing Loan from LIC'(Principal Portion) — ¥ 36,000
Calculate :
(i) Salary Income
(i1) Qualifying amount for deduction U/S 80 C. 20

SDF-U-COMA 6




3.(b)

3.0¢)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

e A AT FT EHIAA 7 UF WG SIE FUICA < STAvEh ded 1 B & ?
Tqeh GREHTT FT € ?

What do you understand by budgeting ? What are the essentials of effective
budgeting system ? What are its limitations ? 15

forr st o frafkor (weEidr) worel = S R 7 g wemEE e
faeior yorelt & form R firm @ 7 fomm smenfa @i frafor yomedt @ < @A
& N A WE ST |

What is Activity Based Costing (ABC) system ? How is it different from Traditional
Costing System ? Explain the Steps to implement ABC system. 15

S SR AaEEaT H WY HfC | g & et afafy
ﬁmﬁ‘q@) IR sefarfaa geafafy ﬁaﬂmaq%ﬁﬂg & o9 e
IWWW%ASG%W%Wﬁ#ﬁWWEﬁ

Explam the nature and need for depreciation. Distinguish betwecn straight line
method and diminishing balance method of depreciation. What disclosures are

required to be made in financial statements as per AS-6 on depreciation accounting ?
20

ﬁaﬁ%ww%?%mﬁ@ﬁmﬁaﬁtmﬁm
|

What is Responsibility Accounting ? Explam the prerequisites and the problems in
its implementation. 15

araRy 6 sawn Jamwien ¥ foe yoar fw e § 7 e offerfat @ =<
WHR Tt Frot & F=_T H ARY T Fehdl © ?

Explain how investigation is different from that of Auditing. Under what

circumstances the Central Government can order for investigation of a company ?
15

gusg ‘B’ SECTION *‘B’
Fraferfaa weAl 3§ A wde &1 ST 9T 150 =t F S

Answer the following in about 150 words each :

Yam sttt fraw fofa 6 Sfua e AT ST R, feeg 9w et i
TG I AR & GHH Uahlfeh el § || qHien Sifor |
“Maximization of profits is regarded as the propei objective of investment decision,
but it is not as exclusive as maximizing shareholders’ wealth” — Comment. 10
o Y ST I TSI WG <l AT BT STHERYT aRAT =TfeT || 9 3 wend
T 7 FT sgEr i el ?

“A firm should follow a policy of very high dividend pay-out”. Do you agree ?
Why or why not ? 10
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5.(c)

5.(d)

5.(e)

6.(a)

SemEd-Shuw fasewn # serfiar fag & smen Fifa |

Explain ‘Indifference Point’ (IP) in EBIT-EPS analysis. 10
wrafies SR R fidias TR & o= fadea $if |
Distinguish between Primary Market and Secondary Market. 10

“gewrtt fiftr % e & wlft & FRy oo wom fey @ SR a2 1
T FIF & R hifeg |

“Investing in securities through Mutual Fund is a better choice than direct

investment” — examine the statement. 10
F F F SEmt and o frefafea faeo wem awar ®
o Wi I ARG Wfd s — T 70
U AH I AR Wid swE - ¥ 35
9 AFa wfa gohTE - T 55
Fd ana did 3E - % 160
o wfd 3 —~ 3 25
foor qea wfq s - T 185
AfReh AR : '

(i)ﬁmaﬁﬂﬂ?@mﬁ%ﬁqeﬁﬁm%l

(if) Aol 3fEcA STeT WET WiskAn A el © |

(ifi) TR A G Th wE & Ty wie # wa € |

(iv) smafdfeafalt grRT UF AE F IER W R |

(v) SGRI & A W SER g ® |

(vi) Fogdl % e # 11 were @ foers g € |

(vii) SaRerdl & WA § TF 7 A o B € |
(viii) TH-1ITE IAIGT g o= SAal € |

(ix) T 3R F& & A% 2,50,000 T @ H 1T H S E |

ATTE I I 1,04,000 IHEAT H Frmsiea & wX @ fa-dwn w3 & fog
mmaﬁsﬂaﬁgftaﬁ%gq@ﬁﬂwéaﬂm%lmugmm%%
Qi a9 ¥R U BN T & =Jdl € | woigd 3R Sufer s yeER Suihia eid
% 3k 52 wER 1 a¥ & @Hged ¢ | R WK HUIR UF "E & W € |
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6.(b) -

A proforma cost sheet of a company provides the following particulars :

Raw Material Cost per Unit
Direct Labour Cost per Unit
Overhead Cost per Unit
Total Cost per Unit
Profit per Unit
Selling price per Unit
Additional Information :
(i) Raw Materials are in stock on an average for 1 month.
(ii) Materials are in process on an average for 1 month.

- 70
- ¥ 35
- ¥ 55
- Z 160
- ¥ 25

- T 185

(111) Finished goods are in stock on an average for 1 month.
(iv) Credit allowed by Suppliers is 1 month.
(v) Credit allowed to Debtors is 2 months.
(vi) Lag in payment of wages is 15 weeks.

(vi1) Lag in payment of Overhead expenses is 1 month.

(viii) ;th of the output is sold against cash.

(ix) Cash in hand and at bank is expected to be ¥ 2,50,000.
You are required to prepare a statement showing the working capital needed to
finance a level of activity of 1,04,000 Units of production. You may assume that
production is carried on evenly throughout the year, wages and overheads accrue
similarly and a time period of 52 weeks is equivalent to a year and 4 weeks is

equivalent to a month.

20

frafafaa gl @, wog it @1 w9a &, w W A afEme

forararamdt & A wae F1 IR Hfsg .
31, 2019 9§ & wIfi )

R A R ARG — ¥ 1,00,000
fafsrar - ¥ 1,50,000
LD - ¥ 12,000
star wifiey - ¥ 3,000
g™ - ¥ 10,000
siffes gAY

frazo 01.04.2018
[ A T 18,000
W fae ¥ 7,000
TTER T 8,000
wWIh ¥ 20,000
e dad T 2,000
Tded ST WifEm T 1,000

D

01.04.2019
3 25,000
T 4,000
T 6,000
T 25,000
3 3,000
¥ 1,000
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From the following information of a firm, calculate the cashflow from operating
activities by applying Direct Method :

(For the year ended March 31, 2019)

Cost of Goods sold —

Sales -

Salaries -

Insurance Premium  —

Depreciation -

Additional Information :
Particulars

Debtors

Bills Receivables

Creditors

Stock

Salaries Outstanding

Prepaid Insurance Premium

¥ 1,00,000

¥ 1,50,000

T 12,000

T 3,000

T 10,000
01.04.2018 01.04.2019
¥ 18,000 T 25,000
T 7,000 T 4,000
T 8,000 Z 6,000
T 20,000 Z 25,000
T 2,000 I 3,000
T 1,000 Z 1,000 15

6.(c) ot G fofa & defim few sma Sorm @ we Al

Illustrate the Net Income Approach relating to capital structure decision making.

15

7.(a) ety forfiee aot fRy domEt @ @ & & fae 10 9r 2 @0 safakes
T dTed! § | P & o frew & s g wfduRka s % €9 7 2,10,000 ¥
Iuersy € | fafes =R frafafea € -

() o — 3fFadt o

(i) T i @G ¥ 1,80,000 TF

(iii) 01 B ARE T 1,80,000 F G

(iv) 33 wfd (R
(v) ATHI A

(vi). STy # sfera fowmm )
(vii) I TR g wld AR

(viii) & A T

SDF-U-COMA
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— 30% — 70%

—  10% (IR ¥ 9=a)
—  16% (I | 9ga)
- 4

—  50% (M =)

— 10%

T 44

- 50%



7.(b)

Fmae! Freafafed s #
(a) afafces fa sem &q wlvew frafor |
(b) afafes o it SX-uv=g siad @r @ et |
(c) wicrenia sma wa fFadt Gft A ar & faio |
(d) sfafes fo &t w-uvaq @ wRifera sitea @r@ 1 afee |
Akash Limited wishes to raise additional finance of ¥ 10 lakh for meeting its

investment plans. It has ¥ 2,10,000 in the form of retained earnings available for
investment purposes. The following are the further details :

(1) Debt — Equity Mix —  30% - 70%
(i1) Cost of Debt up to ¥ 1,80,000 —  10% (before tax)
(111) Cost of Debt beyond ¥ 1,80,000 — 16% (before tax)
(iv) Earnings per share — T4
(v) Dividend pay out —  50% of earnings
(vi) Expected growth rate in dividend — 10%

(vii) Current market price per share - T 44

(viii) Tax Rate — - 0%

You are required to :
(a) Determine the pattern for raising the additional finance.
(b) Determine the post-tax average cost of additional debts.
(c) Determine the cost of retained earnings and cost of equity.

(d) Compute the overall weighted average after tax cost of additional finance.

20
freafafaa smeert & smoet 31 7 2019 &1 ‘@ fofies &1 gemas duR & ®
e, AT ~ 1601 |
SIG IS GRIG - 1-110: 1.

AT 3Tad — 6T
S AN AT — 20%
=GR - 192 WER
fer afwafa smad ~ 1257
arfafoar wa snfiem o1 9ot & s - 025:1
S RO W g W °§ FqAd — 051
fer ofeufs =1 9 999 & g ~ 120:1
¥ & TR\ fo - 7,50,000 ¥
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7.(&:)

8.(a)

8.(b)

8.(c)

- ' ..as
R

From the following information, you are required to prepare the balance sheet of
A Ltd as on March 31, 2019 :

Current Ratio - 1-60 : 1

Liquid Ratio -  10:1

Inventory Turnover — 6 times

Gross Profit Ratio - 20%

Debt Collection Period — 192 months

Fixed Assets Turnover — 1-25 times

Reserves and Surplus to Capital -  0-25:1

Long Term Loan to Net worth - 05:1

Fixed Assets to Net worth - 1.20:1

Sales for the year - F7,50,000 ‘ 15

o dioa, @ g ? |09 uH, G0 F Hed M- 8 ? TS ged Al AqY
THATT | 9% o UF SiRew W Ry W) arawsd giawd $ 9R § En oanr g 2
What is CAPM ? What are the components cf CAPM equation ? Explain the

meaning of each component. What does it tell us about the required return on a risky
investment ?7 ' 15

ﬁ%w&mww%?ﬁ@ﬁﬁmwmlﬁ
gl & fore semme it 9 Tl fafim aae @ e St |

What do you mean by corporate restructuring 7 Outiine its objectives. Explain the
various techniques used for corporate restructuring. 20

‘g1 AR’ T R ? T sl R Wl WS Hif |

What is ‘Money Market’ ? Discuss its features and functions. 15
arfifsas a9 & s yerf w == Hifg |
Discuss the various functions of a commercial bank. 15
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CS (Main) Exam, 2020  fg@iv¥ DETACHABLE

i 9 @RS (ver-w= 1)

COMMERCE AND ACCOUNTANCY (Paper I)

feiRa @ : div a2 3iferras 37 : 250
Time Allowed : Three Hours Maximum Marks : 250
wer-ax Tt A s
: Fo Wl ¥ v 3 ¥ g Prafaiye wdw ae w eegds w9

=] e U & S 2 wudt § Rl € R ik s I A BN €

e @ g Tt UE F IR A € |

T G 1 3R 5 AfEd € T O # A wdw gg A FA-9- O I g el de
qeAl & I g |

W Y /A ¥ s Sad ama fou g € |

Tt ¥ IR SHt W § f s Tifse e S e waa-u7 | foen e R, sk
e 1 WE ST W-Hg-SR (FE.U,) g & qu-78 | fifde wm ) fe s
arhen | Sfvaa e ¥ afifes s forelt wream & ford T SR W A o T e |
At # wsg o, stet e R, @ smERwr fern s =nfew |

e smaEs B, N S st H wa Fifvrg, T s ffde i |

FEEt F TR 6 AT FAEER A I | afe wrer R, 9 % W B A S
TR e IR Iva: R T B | w-ae-IR YR § grell D9 g I8 A1 I I H @Y
9 ¥ HET AT AR |

QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

L(b)

1.(c)

1.(d)

1.(e)

2.(a)

gusg ‘A’ SECTION <A’
fraforfea vt § ¥ v@® F1 I T 150 9T F A

Answer the following in about 150 words each :

U W R y=rew fRarwamal @ Ase F it fdier Hifg |

Distinguish between Net Profit and Cash from Operating Activities. 10
fer aReufwat @ awa & il ges = € 2

What are the various components of cost of fixed assets ? 10
ara FeEw ok e # = h ¥ fiw fadigw St |

Distinguish between cost control and cost reduction. 10

=EEE T wSW A S R e (@1 froerr ) & defta s
g &1 quie hifsg |

State the provision of law relating to carry forward and set off of business loss. 10

S et o o e aRA W O aar whes e Al gt w fEw
HAN S fadem R |

Discuss the special points that an auditor would take into consideration while
auditing the accounts of a banking company. 10

Sis fafties 3w gefie o fomn Rt 2,00,000 SR ¥R Al ¥R T10 =
weaa feeafafeaa s=f @ fam -

Waed & a6 —  F1ufd IR

A & T —  F5ufa R

(F2, Nfirw & Tm)

Ygell W1 ) —  F3ufa ™R

(s & 3 wfgw =)

gifem | w® —  F3ufa ™R

(veeht | % 3 wigw =Q)

23 3 H 3,27,000 MR F forq 3maeT T frd sk 30 s 9 =@ WeR amefea

fébw | ,

R wrefea

() i 3reea — 38,000
(i) 3m&eT & 2 WK ImEfd  —  1,60,000
(i) &Gt & 1 WK s — 2,000
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2.(b)

T41,000 1 %S AEGH H goa amvm R (41,000 WA F ameEt @,
e # smeies @ gon) | ¥ @ 9w R Pl Red 100 9 W ¥ Ry
sifc wi AR ) T A A 15 AEER B ST W RET T ek 16 TEeR @
A W 9 fy IR W Gl fopar @ |

IR e R For smavae wHe (e W) wlifat St (Rem aviw ¥) |

Z 1td issued a prospectus offering 2,00,000 equity shares of ¥10 each on the
following terms :

On application — %1 per share
On allotment — %5 per share
(including premium of ¥2)

On first call —- ¥ 3 per share
(3 months after allotment)

On final call — %3 per share

(3 months after first call)

Application money was received for 3,27,000 shares on 23rd April and allotment
made on 30th April was as under :
Shares allotted

(i) Allotment in full — 38,000
(ii) Allotment of Z of shares applied for —  1,60,000
(iii) Allotment of 1 of shares applied for — 2,000

Cash amounting to ¥41,000 (for 41,000 shares applied for upon which no allotment
was made) was returned to applicants forthwith. The amounts due were received on
due dates except with the final call on 100 shares. These shares were forfeited on
15th November and reissued to 4 on the 16th on payment of ¥9 per share.

You are required to give the necessary journal entries (without narratives). 20

q &t fafies @ & ol & S o=t @ | R © o B 1,00,000 T
IArA #1 ¥ frafafas arm st @ .

(%)
U |t — 59@
TaE 5 — 8¥@
it s/amr sufes — 6 @@
fer sram gufeaa — 59

T W T ¥22 R | WR A W IR A @ier s @ A ot Br wRam
Safera 1 =t e wg 9 fafa § 32 W @ = @ sam
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2.(c)

3.(a)

=1feq :

(i) RS ST =T A1 @le Wi, A A gT R PR et S @ @ A
Suersy glaamd fafsra gift 2

(i) PR IueE D g swar fRe @l W F 21,50,000 R R W Q@
ST gl §, = @ faola | ?

A B Ltd manufactures auto parts. The costs incurred for processing 1,00,000 units
of a component are as follows :

(T in lakhs)

Direct material — 5
Direct labour — 8
Variable factory overhead — 6
Fixed factory overhead — 5

The purchase price of the component is ¥22. The fixed overhead would continue to
be incurred even if the component is bought from outside although there would be
a reduction of ¥2,00,000.
Required :
(i) Should the part be made or bought when the present facility released remains
idle in the event of purchase ? and

(i) If the released capacity can be rented out to another company for
1,50,000, what would be the decision ? 15

e i ARl Ffe | e frmt F smwia fiyes fame @@ afssa glve
FT qAET P BT § ?

Define perquisite. How are rent free accommodation and medical facility valued
under income tax rules ? 15

Y¥ o I ¥ @ e awiva € ) QA e awkwE ses g atnga € |
g gefaal o1 ferur 3@ 9K R -
wwfa (1) wmfw (1)

4 3
aiffer wyfafaae qearea —  1,20,000 1,15,000
aiffe St fomn — 1,50,000 1,75,000
it A foreman — 1,00,000 1,65,000
frmfor oof g & fafx —  31.3.2009 31.3.2009
T & TRE 3 WA & — 12% 8%
e & e awfadl & e & fog,
fog g o ) =™ == = 55,000
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3.(b)

3.(c)

YA R amfy Mo vl o= fan @ ) wmfa 1 W o s 1 Y I wwmia
FE H T Fufor ad F foag K

Hd1E
() Yo wmfa @ afinda wnfer g & fag 39w ¢ ek
(i) T|& fog wRw s@m |

Y has two houses in Chennai. He has self-occupied both the houses. The particulars
of the houses are as follows :

House (I) House (II)

b L2
Municipal value per year — 1,20,000 1,15,000
Fair rent per annum — 1,50,000 1,75,000
Standard rent per year — 1,00,000 1,65,000
Date of completion of construction — 31.3.2009 31.3.2009
Municipal taxes payable during the year — 12% 8%
Interest on amount borrowed for repair
of both the houses during the current year — Nil 55,000

Y has paid the municipal taxes for House II only. It is due for House I. Compute the
house property income of Y for the assessment year.

Advice : :
(i) Which house should be opted by Y to be assessed as self-occupied ? and

(ii) State the reasons for it. 20

1w /aR|O (P/V) GO ¥ AU FT AI9d ® 7 OTER T0ET S et © 7
To-forsae fawwmw Stzdt § saht «=n Swfia € 2
What do you mean by P/V ratio ? How is it computed ? What are its uses in BEP

analysis ? 15

YO A9 Ud AT 39eqd &1 391 Aaed § ? WehH ona faior § e
fore waR frefa fen wan @, wE fifg |

What is meant by normal wastage and abnormal wastage ? State how are they treated
in process costing. 15
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4.()  wose fafies A 31.03.20X1 7% H g Frafla 2

-
2000 ¥Rt 9=, wiy = 100 — 2,00,000
1000, 6% 9N, Wed® T100 e 1,00,000
FRIYA hI AT ARE>T — 12,000
RS AER = 50,000
wrht gfeafmad = 2,00,000
=1e. wikaatagi — 65,000
et afwafEt s grfwre — 1,06,000
el ufkaaft w1 gesie — 48,000

frfafya @ = gof senfy v =mem $ e o6 .

() M H TS5 wAF R Iv-fnfra fer w3k 90% YR w1 Yo (W)
forar |

(i) FH GREl F FA @ RN TR 59,000 Frr T ok W fn IR
¥20,000 % SR IR (WRk A #F A) ff sefeq Ry W

(ii) SRR 9 T B 30,000 F A R TeHT T PreF 1 R 9 v I
* ¥ TR W R wF g e T |

(iv)ﬁwﬁaﬁﬁaﬁi%mwmqr@gammﬁaﬁgq,m@%mwl
gAftatn & for s stravre s (Fea w9)) wiifat 4R w2

The following information relates to Cloud Ltd as on 31.03.20X1 :

L4
2000 Equity shares of 100 each — 2,00,000
1000 6% Debentures of ¥100 each — 1,00,000
Interest on Debenture outstanding — 12,000
Trade Creditors - 50,000
Fixed Assets = 2,00,000
Current Assets _— 65,000
Fixed Assets revalued at — 1,06,000
Current Assets revalued at — 48,000

The following scheme was duly agreed and approved by the court :

(i) The shares were sub-divided into shares of ¥5 each and 90 per cent of the
shares were surrendered.

(ii) The total claims of debenture holders were reduced to ¥59,000 and in
consideration of this, they were also allotted shares (out of surrendered
shares) amounting to ¥20,000.
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4.(b)

4.(c)

5.(a)

5.(b)

5.(c)

5.(d)

5.(e)

(iii) The creditors agreed to reduce their claims to 30,000, % of which was
satisfied by issue of equity shares out of those surrendered.

(iv) The shares surrendered but not re-issued were cancelled.

You are required to draft the necessary journal entries for the reconstruction. 20

yaria frsaea & won A Aeegyt et @ gee # faeem fifvg |

Briefly discuss the important methods of measuring divisional performance. 15
fasrsa ww w=ar € 2 ot et 3 ghfvaa son fs @iy & e oot § @
a5t fopar wmam ?

What is divisible profit ? How could an auditor ensure that the dividend is not paid
out of capital ? 15

gus ‘B’ SECTION ‘B’
freafofaa uwt # ¥ ws &1 IR T 150 vt F Qv
Answer the following in about 150 words each :

MEA 1 WR TAEH Aled W Fiforg ok 50 wea & savfa e feafy & i
HfT svmfe At 8, o Hifs |

Explain Gordon’s share valuation model and state in which case dividend policy is
irrelevant under this model. 10

ifgn fam & e e & fog ddem-d swe (Swmw) @i fadEm
Hfora |

Discuss the Decision-Tree approach for evaluating risky investments. 10
R A ara ok (SR i ar@ 7 & FAEr w7 gt @ R Fi 7

Out of cost of equity and cost of debt, which one is lower and why ? 10
TR frE yomelt & weat B F8w 7 foamm fifvg |

Briefly explain the components of Indian financial system. 10
wafrs s # aiefrat & I =S f faltmt =@ osasg |

Enumerate the methods of issue of securities in the primary market. 10

7 URC-U-COMA




6.(a)

6.(b)

6.(c)

TF IRAAT @ Tl kg WETE 3 AR €

EL] kg waTEg ()
0 = (=) 1,00,000
1 =— 40,000
2 — 50,000
3 — 40,000

St A 10% ¥ |

ot e ;. () ko A f osEfy (- diftas)
(i) Yg T T (AT I 47)
(iii) g % g Fu Gt f sl (Reasfs 3-dw dif)
(iv) "wEa g (Nfwefafardt $3m)

The expected cash flows of a project are as follows :

Year Cash flows ()
0 — (-) 1,00,000

1 — 40,000

2 — 50,000

3 — 40,000

The cost of capital is 10 per cent.

Calculate : (i) Payback period
(ii) Net present value
(ii1)) Discounted payback period
(iv) Profitability Index

PR 3R &R Afed ® I A T, TEUHT AT A A% IV F FW At

¥ I @1 oar €, oy difsa |

Explain how with managerial intervention cash balance is maintained within

limits using Miller and Orr model.

freafafaa srmat = e fifvg o st ga Fifvg -
(i) uReufmEt | wfawa (3R 3 ©)

iy faffm it ) wfewar (s s <t §)

(i) R w| wfwa (3R s 3)
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Define and compare the following ratios :
(1) Return on Assets (ROA)
(ii) Return on Capital Employed (ROCE)
(iii) Return on Equity (ROE) 15

7.(a) ﬁwﬁr&maﬂa@ﬁav&%ﬁﬁlﬁznwﬁﬁﬁuﬁmﬁAaﬁB%mﬁa
‘WHTTﬁﬁI'Q:
(i) v S oA

(i) fofa sAew &t wEn
(ili) 99 IS 6 Ty

T
farsht 90,000
gfadt s 45,000

gftfeafe 1 15,000
gfdfefa i 20,000

e fasfg s
TISET A 20,000
TrsHT B 10,000

Calculate degree of
(i) operating leverage
(i) financial leverage
(iii) combined leverage
from the following data under situations I and II and financial plans A and B.

?
Sales 90,000
Variable cost 45,000
Fixed operating costs :
Situation I 15,000
Situation II 20,000
Fixed financial costs :
Plan A 20,000
Plan B 10,000 20

9 URC-U-COMA




7.(b) mﬁﬁ%wqﬁmwmma@%ﬁ%@aﬁmﬁmﬁ%ﬁm

R & @ ¢ | FeataRea siwe Sawew €

(¥°00000)
g fafiee | o fafies
9 T d 40 20
R W H gen (amEt #) 5 4
dt /€ sruT 10 8

7.(c)

EGLERIE
() T fafies ok o fufies & ¥ 1 SR T |
(ii)m%ﬁéamaéﬁﬁ%gaﬁmﬁa%%ﬁqaﬁmmmﬁ
& e |
Gii) foem ¥ o T ffies ¥ a9 | wen |

X Ltd is contemplating taking over Y Ltd by issue of shares based on market price
of shares. The following data are available :

(¥°00000)
X Ltd Y Ltd
PAT 40 20
No. of equity shares (in lakhs) 5 4
P/E ratio 10

Find :
(i) Market price of shares of X Ltd and Y Ltd
(i) Number of shares to be issued by X Ltd for taking over Y Ltd
(iii) Number of equity shares of X Ltd after merger. 15

Wwﬁﬁ%&ﬁ%%ﬁﬁzmaﬁ%ﬁmwéﬁﬁ%waﬁa%m
fafea € 7

What are the powers vested with the SEBI to protect the interests of investors in the
stock market ? 15
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8.(a)

8.(b)

8.(c)

S FRARYE IT wrEenl &1 30 RF @ SUR W it € | soh adum fasht
HER TS50 NG ¥ | WA G ARE 10% € R fuh @ aRewli ww s
0-85 & |

Sfa IUR s&fr | SeER 60ﬁammﬁmﬁﬁﬁaﬂzﬁ%|wm%m
& T fooht <5 e siftres =g Soh | fooR & T gEa WO W sEE 1% @ TR
2% B W@ |

SUR Al S | N W UG 9T UHE B YA HY | o H S9Em % iR
T F 360 fe7 5w |

Zenith Corporation provides 30 days credit to its customers. Its present level of sales
is ¥ 50 lakhs. The firm’s cost of capital is 10 per cent and the ratio of variable costs
to sales is 0-85.

Zenith is considering extension of credit period to 60 days. Such an extension is

likely to push sales up by ¥ 5 lakhs. The bad debt proportion to sales would rise from
1 per cent to 2 per cent.

Evaluate impact of extension of credit period on profits. Ignore tax and assume
360 days a year. 20

ol TR & TF ot A (AT AR ToH) A # wE Rl |

T FH H RS AT 15% R S RO AT G ® | T S AT WIS AR
TAH VYO G5 ARTT T BRM ST KW G SIATT 40% & ?

Explain NOI (Net Operating Income) model of capital structure.

A firm’s cost of equity at zero leverage is 15 per cent. What would be its overall cost
of capital at 40 per cent leverage under NOI model ? 15

Trg fraker & s w1 W € ? Wusmd (wfee wfafim @ fed) & )
wo<h @ frafkor seiyomeh | we fif |

What do you mean by credit rating ? State the credit rating methodology followed
by CARE (Credit Analysis and Research) 15
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CS (Main) Exam, 2021
AT & AT (I¥-93-1)
gqg : dH U AfereRaq 37 : 250
T~ Tt fasie argRe
(s % T i S R g e

TR T8 T § S A woel A fawifa € qun e o onht 31 A B gu R

whenefl # Fa uiw TE F IW A T

YA & 1 3R 5 AfaE & qun 9 § ¥ IS @ve ¥ FH--FH T T AR A T $ I AN
T T/ F IF I9F g Ry w ¥

T % I I Witha W § fo@ s =fee, faen 3g@ snus yaw-va # e mn R, ofR 3w e @ e
IPE TH-H-IW (Fo Hio Yo) Yf&rent & gays W ffde wm w foran s e SfgRaa mem & stfafes o=
Foreht mmem & fo@ Y I W N 3 T el

A # wee-dm, st faffde R, &1 sgeer e s e
I} FaES B, A IUGH AlHS H 9 hiforg, qun IR FAfde Fifm)

TE1 % ITU I AT FAFER H @R | AR Fe TE A, @ wE F IW B A A ol wR g8 I e @
T /| TH-HE-IW JEH J el Siel g3 U8 A IqF FW I WE ¥ ¥ FE T AR

HXS-U-COMA

COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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@us—A / SECTION—A

1. fr=fafea gt # ¥y 1 S e 150 v=dt § v

Answer the following questions in about 150 words each :

(@) T@H AHH-3 (To THo-3) hit Hewn 489 § Ty HIRm)

10x5=50

Briefly explain the significance of  Accounting Standard-3

(AS-3).

(b) FHEARI Wik fasheq A5 (Fo TWo 3o dio) F Hew 6 fad=mn Ff)

Discuss the importance of Employee Stock Option

(ESOP).

(c) A ATIG T GER ANTd 97 8¢ 3aTe01 Afed GHATEY|

What are sunk cost and opportunity cost? Explain

example.

(d) e feufa T FR-9R § = gey R?

Plan

with

What is the relationship between residential status and incidence

of tax?

(e) it Fro <Y TrRETHIE | Hafd W@ vRqett i faaer i)

Discuss the key aspects in respect of audit of insurance company.
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2. (a) X fafiRs i vy fufive gEem (3cfem) & sgaam@ # A) T wwafEl 3 aamed o 18
Fdt Xy fafie s =1 fola forn Rt sifira $5ft ©20,00,000 #ft, it € 10 wfd IR
% 200000 3ffe At J fenfra drftl 31.03.2021 F FFafEl % Jo@-99 38 THFR 3

faraor X fofaes Y fafies
) ®
I. 3%@ qa e :
1. IRy ffy .
(@) I GSh 2,80,000| 5,00,000
(b) ol T sfemy
(GIERCRAITEEIGI)) 60,000 3,10,000
2. Iy=fad el :
8% Fl&ra o 2,20,000 —
3. 91 qfre ¢ _
AT < 1,08,000( 2,80,000
Fo 6,68,000| 10,90,000
II. yfwEafEf
1. sry=fera gieuft
aftguft, 99 @ 390 2,50,000| 5,90,000
2. 97 iafar
(a) ATg 2,70,000| 1,00,000
(b) =R T 88,000 2,84,000
(c) % H e 60,000| 1,16,000
FA 6,68,000| 10,90,000
forerm wwafaat i fweft @ ol #, 78 76 B SR s =i 1 R, 5w 5
R gEard fran ST R
(1) X fafies & womat &1, XY fafite & 8% ®wa 10% Hifem W St &, fuern
Eici]

(2) Y fafire 6 iy, @93 @ 39w=R 1 g=a €6,10,000 fFwifa fFn mn

3) X fafies & =muis wr=i it ol ®9 | agel 38 @ W@ X fofies &1 % 9w afwmms
T @ S @ | afl @ smaries 391 @ prae R S R

(4) X fafies & =nfa €1,00,000 & v fafies &t =nfa € 3,00,000 o
o T ye=t @ I e

() 34 3murR N A Fife, e w® Xy fafiee & 9@ i fFemm sufE F st S
T WS TR <
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(@) 1 33, 2021 H, Fom il = wmer o gon, Xy fafite =1 goa-va TR it
(i) X fafiee i gl A 9= A ¥ S viafdat afita smavas sda Rt $iftm)

X Ltd. and Y Ltd. were in telecom business. Both the companies took a decision
to amalgamate and a new company XY Ltd. is to be formed with an authorized
capital of ¥20,00,000 divided into 200000 equity shares of 10 each. The

Balance Sheets of the companies as on 31.03.2021 were as under :

Particulars X Ltd. Y Ltd.
® ©
I. Equity and Liabilities :
1. Shareholders’ Fund :
(a) Share capital 2,80,000 5,00,000
(b) Reserves and Surplus
(Profit and Loss A/c) 60,000 3,10,000
2. Non-current liabilities :
8% Secured Debentures 2,20,000 —
3. Current Liabilities :
Trade Payables 1,08,000 2,80,000
Total 6,68,000| 10,90,000
II. Assets :
1. Non-current Assets :
Property, Plant and Equipment 2,50,000 5,90,000
2. Current Assets :
(a) Inventories 2,70,000 1,00,000
(b) Trade Receivables 88,000 2,84,000
(c) Cash at Bank 60,000 1,16,000
Total 6,68,000| 10,90,000

The Assets and Liabilities of the existing companies are to be transferred at
book value with the exception of some items detailed below :

(I) The debentures of X Ltd. are to be discharged by issue of
8% debentures of XY Ltd. at a premium of 10%

(2) Property, Plant and Equipment of Y Ltd. was valued at ¥6,10,000

(3) The Trade Receivables of X Ltd. are realised fully and bank balance of
X Ltd. are to be retained by the liquidator and the Trade Payables are
to be paid of the proceeds thereof

(4) Goodwill of X Ltd. was worth ¥1,00,000 and Y Ltd. was worth
¥3,00,000
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You are required to—

(i) compute the basis on which shares in XY Ltd. will be issued at par

to the shareholders of the existing companies;

(i) draw up a Balance Sheet of XY Ltd. as at 1st April, 2021, the date of

completion of amalgamation;

(iti) pass necessary Journal Entries including bank entries for closing the

books of X Ltd. 20
(b) fTafmior dmea # =t wvra woneh wefia wA % Rigrl we = @ aueE)
Explain the principles and steps in setting up a good costing system in a
manufacturing organisation. 15
(€ (i) Feuhreia dsira ufwufet oik ddere gsima afeafl i afenfia Hif)
(i) Feashreia 3R Geferrel Gofma emit W R A o FR Eh /7
(i) Define short-term capital assets and long-term capital assets.
(i) How to compute tax on short- and long-term capital gains? 15
3. (@) i B (49 @), ts fFam =k, 31 7, 2021 H G9W T 9@ 99 @ FEivQ FEfafad
T TEIA Ll 2
ITF IR -Gl § I o @ F faveww § ol sifwet &1 g 9w 2 —
®©
o et s | W R 4,00,000
o 0 F us W F forg X (P) fafiee & ymw uft fres forg 9z frow 4 ant @
T af & forg sresha o @1 o (30 W e aut § %1 & 7d o @
T I8 W A, 2020 F R FEAARa g3 #) 3,00,000
o IR, S 3T e i R, | IwER fren 1,20,000
o i % U | IwER fen 1,60,000
o o Fio Tm M A it gon (Faw) 1,40,000
o Wed TR (YE # 3R @ref wie F TleeR g1 yam o mn FJifs
TlieeR THEa % ITFER W ) 3ifow w9 TE 2 wH) 6,20,000
o A Smr-ya @ et ufy 4,40,000
37 STHHR :
(i) 9T 12AA % T8d Usiigha i =8 1 T M e 24,000
(i) ¥ & A < wfes fifY (fo dio who) @ & s = 17,800
(i) IR Arefem FEh F AW R Ak wigsy fifY @ % g 1,50,000
(iv) 9% Fafirn ¥ H fy F miers 71 384 388 F 3/ Afia hi 3,60,000

i B w-Fafor ad 2021-22 F o w-arg g H g iR
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Mr. B (49 years), a resident individual, furnishes the following particulars
pertaining to the year ending 31st March, 2021 :

Analysis of his bank account in his ledger reveals the under-mentioned data—

©
* Rent received for a vacant plot of land 4,00,000
* Amount received from X (P) Ltd. for a house at Pune for which
he had been in negotiation for rent enhancement since last
4 years (this has not been taxed in any earlier year. However,
this house is transferred during March, 2020) 3,00,000
* Gift received from Alekhyo, his best friend 1,20,000
* Gift received from mother’s father 1,60,000
* Winning from a TV game show (net) 1,40,000
* Amount forfeited (initially paid by a buyer of his vacant plot,
since the buyer could not finalise the deal as per agreement) 6,20,000
* Amount received under Keyman Insurance Policy 4,40,000
Other information :
() Donation given in cash to a charitable trust registered under
Section 12AA 24,000
(i) Interest credited in the Public Provident Fund (PPF) account
during the year 17,800
(i) Public Provident Fund paid in the name of his minor daughter 1,50,000
(iv) He owns agricultural lands at Malaysia. He has derived
agricultural income therefrom 3,60,000
Compute the taxable income of Mr. B for the assessment year 2021-22. 20

(b) TTEE I R 87 T AN H AHARY
What is right share? Explain its advantages. 15

() TH HREA & IR A WMt A 3R B A ot ¥) qF A W 5% TR gwa ¥ 3R wfEwn
BW 2% | 39s53 % Faer & $o it aga 7& aa 71 g, 2021 % dwm, wfwm A § €6
wfd 31 1 AT 1 @t B 10000 FHEAT ST h T off| = G 39 TR of -

AT A yf#aT B

®) ®
|t — 6,140
q 10,000 6,000
Eelicop] 6,000 4,600

ufse A @ frfa (3m=ege) 9300 sergal off | ufsmn B ffa 9200 saaf ot
TSR TRET AU STETHIRT B /S @l R i
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In a factory, the product passes through two processes, A and B. Loss of 5% is
allowed in process A and 2% in process B. Nothing being realised by disposal of
the wastage. During July, 2021, 10000 units of material costing ¥ 6 each were
introduced in process A. The other costs were as follows :

Process A Process B

® ®
Materials — 6,140
Labour 10,000 6,000
Overheads 6,000 4,600
The output was 9300 units from process A. The output of process B was
9200 units.
Prepare Process Accounts and Abnormal Loss/Gain Accounts. 15

4. (@) ABCHFFH U (3g) T ¥ 39 Q@A & foweiywr § whe gl 8—

for arma #1,00,000 a4 % forg
gfterd] @ ¥ 40 vfg A

fosra 7 ¢ 140 ¥fa A5

gHal 2000 At wfe o

(i) w-frese g (dfto $o do) =1 war Afvm)

(i) ¥60,000 w¥ ARFd A & forg J=h s archt F+ i wE@n w1 g Hi |

(iii) (i) W@ (i) % Tore w=n 3 2, ARk wia A fosw e s_eER € 120 & S 87

(iv) 3R FF €4,000 Affes fRR @ F @9 yfd af 600 A it & ol B,
39k (i) S wfe A @ SATg T % forg fasea e @ @ afew?

ABC company produces tables. An analysis of their accounting reveals—

Fixed cost ¥1,00,000 for the year
Variable cost ¥ 40 per table

Selling price ¥ 140 per table
Capacity 2000 tables per year

(i) Find the break-even point (BEP).

(i) Find the number of tables to be sold to get a profit of ¥60,000.

(i) What will be the answer for (i) and (ii), if selling price changes to
¥ 120 per table?

(iv) If the company can manufacture 600 tables more per year with an
additional fixed cost of ¥4,000, what should be the selling price to
maintain the profit per table as (i) above? 20

(b) ‘@i fiola o F o w gue vomeh R1” wwege| sueh ferdiwared i wamsw)

“Accounting is an information system for decision making.” Explain. State its

characteristics. 15
() F-SA@YhET F1 7 Toh Il H GHHIFY | F-AWINEF FH B FHAT 87
What is tax audit? Explain its objectives. Who can be a tax auditor? 15

HXS-U-COMA/7 7 [ PT0.



@uvs—B / SECTION—B

5. frfaRed vl # @ Y% 1 IR @ 150 wed) & A
Answer the following questions in about 150 words each : 10x5=50
(@) <ian-vfawa fafma-wem (feep-fed 3e-31T) w1 7 fordia folaw 3 so% 7ew < gwgmsw)

What is risk-return trade-off? Explain its significance in financial decision
making.

(b) FTEEan st TEAT 1 qReIfa i) e fufes-awl 6 faaem i)
Define optimum capital structure. Discuss its determinants.
(c) IS T wRm 27 it Tt % Rt 6 wwEET)
What is capital rationing? Explain the principles of capital rationing.
(d) T afa el I Segiie # 9aw § wHemsy)
Briefly explain any five innovative debt instruments.
() wréam T H) wgw 3 & S §h R (o Ho Tho) % wew w1 FHEEY

Explain the importance of venture capital financing (VCF) in promoting
start-up enterprises.

6. (@) Y TEeS fufite % y@ few & 3 e E—afE@s X R ufEe T Y A W omE
2| v X & fou €34 g i e ara it srawasa B @ iR ahaem Y ¥ g
¥3-3 FUg il JRMF ara Fi S Bt 21 A gRESEIe & foag Sifan-ge | 8% B
e X % fore Sifam fiftem st 2% @ iR ufEismn v fae 4% )

2t gfEise % yenfi A stdate iR ffvraa geamm o i g e §

qRAISAT X RIS Y
T | g Qe sr=aate |dlo o (CE)| yeaiRia g si=aale |do $o (CE)
1 18 FIs -85 18 FIs ‘90
2 F2:0 e 75 F1-8 FIe -85
3 2.0 FI -60 £2:0 FIg 75
3 81 & foe do o THo :

af1 a2 aF¥3

Hio dflo THo @ 8% 926 ‘857 794
Hio dlo Tho @ 10% 909 826 751
o dio Tho @ 12% -893 797 ‘712

A foga foawon @ fauiia hifsg fe—

(i) Sian-wmEtE g2 R fafy (feh-rgees femre= © Agg);

(i) TAfvaam qeamm gftei fafyr (wfe shrace st Ave);

1 ITN b A1 TRESHIS § A HH-H gREem iR A St =i )

HXS-U-COMA/7 8



The Zenith Enterprises Ltd. has two investment proposals—project X and
project Y. These are mutually exclusive. Project X requires an initial outlay of
¥ 3-4 crores and project Y requires an initial outlay of ¥ 3:3 crores. The risk-free
rate is 8% for both the projects. The risk premium rate for project X is 2% and
project Y is 4%.

The expected cash inflow and certainty equivalent coefficient for projects are
given below :

Project X Project Y
Year| pxpected Cash Inflow | CE | Expected Cash Inflow| CE
1 ¥ 1-8 crores -85 ¥ 1-8 crores 90
2 ¥2-0 crores 75 ¥1-8 crores -85
3 ¥2-0 crores 60 ¥2:0 crores 75

The PVF for 3 years :

Year 1 Year 2 Year 3

PVF @ 8% ‘926 ‘857 ‘794
PVF @ 10% ‘909 826 ‘751
PVF @ 12% ‘893 797 712

From these details, determine which of the two projects should be accepted by
using—
(i) risk-adjusted discount rate method;

(i) certainty equivalent approach method.

(b) uTE i F1 R? T e S SUR-IEA FI FHAH B H WA AHGS! bl FHAE

()

What is credit policy? Explain the criteria involved in assessing the credit-
worthiness of a customer.

i § Wfde A e h Raea-vimn & =t ft frem i)

Discuss the phases of operating procedures of monetary policy framework in
India.

7. (@) XYZFGH 60% &Hd T HM B, Td 9§ 48000 FHEA! Hl I (fefad A god

aﬁm’mreﬁ%:
F=1 AT 75 ufd 315
g 3 w30
It (afadaefie) ¥ 2 ufd 318
3yfemd (fer) 1 wfd s
@ ¢ 2 wfq 38
[CERR Q) ¢ 13 wfa 3918

20

15

15
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91 ieafEl @ S 39 YR 3

®
T 71 4000 ST AT W 20,000
916 FE 1000 THFET AFTG W 8,000
TR 7T 3000 FHIFAT AT | 33,000
fafaa TR 78,000
A & WHER 30,000
N 1 MR 3,000
Gl #1 S 6,000

I i Fgd! AT H @ gC e Fivew e w0 R 6 1.1.2021 @ 59 I 80% WA W
FW FAT e | AfTE I H @A FY AT AawTw Aafen wEia §Sh FH qa1
H v B awiE f fia, wegd @@=l f /R wfa w6 o e § 9 aeae
7dt B | TTER! I TgEd SR A Y, YRl gR TR 3UR IR w1y @ weighl W@ @l &
wraH & faers g i wifa 3 /@)

XYZ Co. is operating on 60% capacity, producing 48000 units per annum at
the following cost price structure :

Raw material ¥ 5 per unit

Wages ¥ 3 per unit

Overhead (variable) - ¥2 per unit

Overhead (fixed) ¥ 1 per unit

Profit ¥2 per unit

Selling Price ¥ 13 per unit

The current assets and liabilities were as follows :
]

Raw material 4000 units at cost 20,000
Work-in-progress 1000 units at cost 8,000
Finished goods 3000 units at cost 33,000
Sundry debtors 78,000
Creditors for goods 30,000
Liability for wages 3,000
Liability for expenses 6,000

In view of the increased demand for the product, it has been decided that from
1.1.2021 the unit should operate at 80% capacity. You are required to
ascertain the additional working capital as would be necessary in view of
additional production. The price of materials, rates of wages and expenses and
selling price per unit will not be changed. The period of credit allowed to
customers, credit allowed by suppliers and also time lag in payment of wages
and expenses shall remain the same as before.

HXS-U-COMA/7 10
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(b) e fafive $ frafafad defra @ @

gsft F & g% god aT9IR e Fid ghayfa
@ i}
30000 &l T\, T 100 IH 30,00,000 120
10000 8% 3FftmM T, & 100 IAH 10,00,000 108
20000 10% 99, & 100 Y% 20,00,000 105

FA B I 3R AWM W 5% e R F WY 20% A Dfva FA A I9fR 7)1 P
(FRARZ) F A QW 30% A Tl astiw W 10% 21 Fret A Gt A wiRa sfed drm
(S0 To Hlo Hio) 1 IRbHeH—

(i) T A R F w9

(i) SR qed ¥R & &9 §;

A F Y FfT)

Shasun Ltd. has the following capital structure :

Sources of Capital Book value | Market value per security
®© ®©
30000 equity shares of ¥100 each | 30,00,000 120
10000 8% preference shares of ¥ 100
each 10,00,000 108
20000 10% debentures of ¥ 100 each | 20,00,000 105

The company is expected to declare 20% dividend on its equity share with a
growth rate of 5%. The corporate tax rate is 30% and corporate dividend tax is
10%. Calculate Weighted Average Cost of Capital (WACC) of the company
using—

(i) book value as weight;

(i) market value as weight. 15
(c) v a8 & 3mgo 3TRo o To i yfirew A fae=mn )
Discuss the role of IRDA in Indian insurance sector. 15

8. (@) T F Gt 100 It MW F WA T 100 FAL B | HA R IR F FHLA W

fire @ ¥ sroelt e forftg o, S enf g gom R, o wmft w €6 wfa e amiw it A

#i A o W@ ) R g Sifaw ol d et @ 3w S ® 10% @1 AT -fier

(THo THo) Wiy i wEMT ot Fmfafaa & Iw g

(i) =8 T w AW R Ao w1 aRewad ffvg, e (1) am Dia wRm T R e
(2) wnwiw a7 e e 2

(i) T8 W FF e 3w e R, et faw o € 10 g ® 3R @ $20 wg
T FRY 38 9§ A =Ed §, S R S e 9 it g 6 aiee FiRg|

(iti) &9 1 ged T R, AR (1) s N FR R mn @ SR (2) aiw wifva @ e
T R

HXS-U-COMA/7 11 [ P.T.O.



A company has a capital of ¥ 100 crores with shares of ¥ 100 each. The shares
are currently quoted at par in the market. The company is planning to declare
a dividend of ¥6 per share at the end of current financial year which has just
started. The rate of capitalisation for the risk class to which the company
belongs is 10%. Using Modigliani-Miller (MM) model, answer the following :

(i) Calculate the price of the shares at the end of the year, if
(1) dividend is declared and (2) dividend is not declared.

(ii) Calculate the number of shares to be issued assuming the company
pays dividend, has net income of ¥10 crores and make new
investment of ¥20 crores during the year.

(i) Find out the value of the firm, if (1) dividend is declared and
(2) dividend is not declared. 20

(b) & Tafmion g6 § wrergEh yevA hit fafim qeiet 1 g8 guemsn)

Briefly explain the different techniques of inventory management in a

manufacturing unit. 15
(c) &Ed Al o AFEY i &F § F@ Rl i s hifs)
Discuss the key reforms in banking sector in line with BASEL norms. 15
* k Kk
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CRNA-F-COMA
FTioTeT & w@ttat / COMMERCE AND ACCOUNTANCY

T91-9A 1/ Paper 1

IRgia aa7 : &7 a2 aL EL Sferwan 3% : 250
Time Allowed : Three Hours : CN\LSER\“CES WA\N\] E“}\h‘-a V| Maximum Marks : 250

T9A-uR wraeeft favie argew

FUIAT T¥1 & I 34 @ YT AT e HF39 H1 AT g

7 a1 77 & it 31 @vst 7 favifra & aer Rt sk st @9 F 99 5w 8 1

q&TTelf F1 FoT qier Fol & I 37 8 |

o7 G891 1 3R 5 7 & 7o i ¥l § @ 9% @08 @ H9-8-%7 Uk Y97 g foea] a7 5 & e A
% Y97/9T & 3% Ia% am e mw § |

Y] & I I Mferpa Areq § @ 5 wiky, e g s yav-va # far mr 8, ik 3w arery a1 e
Wm—w—m(ﬂ.mq)gﬁw%g@-wwﬁﬁvmwﬁmmaﬁq/mﬁwm%sﬁﬁam
fadt arem & forg 1@ 3o W FIE 31 7 AT | :

5wl # 9z #i1, TE [l 8, HT1 SR [T T TIRT | ;

I STTTIF §, T ITYH Hlhg] BT TIT FHorT, TA ITH TCTIT [ FHow |

F1 & IeR1 & T FAFAR F T | TR BT TE 8, 7 7 F IR # T # T a8 a7 o S £ T
& | ¥7-Tg-IR (7..T.) a1 § @Icht DigT 577 758 1 3% 377 F T §Y & HIT T TR |

Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered. to. ‘
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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wus A
SECTION A

Q1. FraferRaa wwai #§ & Ueke TT I I 150 IS5 | G

Answer the following questions in about 150 words each :

(a)

(b)

(c)

(d)

(e)

LRNA-F-COMA

sm-aTe SfEd IR R B @ 2 fed sl g fe-fee ofifeufe ® &
SRR o6t Trifira femam moaeRar @ 2

What are Sweat Equity Shares ? Under what conditions can these

shares be issued by a company ?

nfafafenufa are-fufor (THd) = dd R 2 wHtd. el Fa
forfir worfifa w1 wmefa et 2 2

What is Activity-Based Costing (ABC) ? How does ABC system support

corporate strategy ?

ST AHIY #1 R 239 Hoy W ETHiEr & daedi i Hfqse HifT |

What is Interim Dividend ? Specify the duties of an auditor in this

regard.
% s TeT ¥ fu s AR w0 § affid weEt # @a § e
Hif |

Explain briefly the steps involved in preparing the budget for an

industrial organization.

Rt AUFRm & WEuE % arid Tk @ e # v Ea Hi e B ogfd
34t s < forelt gEt Hia fit 3T ¥ FA & A9ETEl Bl AT |

State the exceptions to the provision under the Income Tax Act
regarding set-off of loss from one source against income from another

source under the same head.

10

10

10

10

10




Q2. (a)

CRNA-F-COMA

319, 2021 % € feafies ok &t feafies & qo-u9 39 v 2 -

u fafire (3) | &t fafirs (2)
I - EfeFrdt va e
1. sunss fafy
(%) A ‘i?ﬁ.
srferspa oft
T 100 fd I 5,00,000 &
T 10 fd I=W e 10,00,000
tgfraa frifia Ooft 5,00,000 4,00,000
(@) 9= ug Irfusy
ISihTa g9 1,00,000 _—
_ A G 35,000 4,00,000
2. Fy=fea efica
gifara o ot 2,50,000
rgfera o 1,00,000 =
3. < IR ’
fafay Ser 1,55,000 1,80,000
FA 8,90,000 12,30,000
II - afEvafeat
1. Iafd giemafaat
Tt fmmafoat 4,00,000 8,00,000
g 40,000 1
2. =q it
wih = 1,00,000
I 4,50,000 3,30,000
FA 8,90,000 12,30,000

Wwﬁa%mw%q%ﬁ%@maﬁ%ﬁ%@ﬁm%mmaﬁm
A1 wrafE g Ffefaa saeeenett = wher e mn .

() ufafies i 9@ i gouda T S R
(i) U fafire & goasm $ s=hrn afdr © 20,0002 |
(i) € fafiRs d g% 2 IR F v H IS HET A7
(1) ST W Piea & &9 8 ff fafies & 10 9= ok



LRNA-F-COMA

(2)

AU & ATYFR H ORI FE & e gt To6d I f
v fafids & qov-99 ¥ 9@ U4 gousE & Gy ° AEvEs
mm%m,aﬁmﬁzﬁ%gmm%mmwas

AR oI o IR TGI8 |
IR
@) T gfawa o1 Gy Fyior s ;) 3k
ID) |9WeH % 1 %1 goq-9 (Fgr) vefifa w2 |
Balance Sheets of A Ltd. and B Ltd. as on March 31, 2021 are as
follows :
| ALtd. (%) | BLtd. (%)
I - Equity and Liabilities :
1. Shareholder’s Funds
(a) Share Capital
Authorised Capital
Share of ¥ 100 each 15,00,000 —_
Share of ¥ 10 each i 10,00,000
Issued capital fully paid 5,00,000 4,00,000
(b) Reserve and Surplus
Capital Reserve A 1,00,000 —
General Reserve 35,000 4,00,000
2. Non-Current Liabilities ‘
Secured Loans — 2,50,000
; Unsecured Loans 1,00,000 —
3. Current Liabilities
Sundry Creditors 1,55,000 1,80,000
Total 8,90,000 12,30,000
II - Assets :
1. Non-Current Assets
Fixed Assets 4,00,000 8,00,000
Goodwill 40,000 —
2. Current Assets
Stock — 1,00,000
Others 4,50,000 3,30,000
Total 8,90,000 12,30,000
4




(b)

LRNA-F-COMA

It was proposed that A Ltd. should be amalgamated in B Ltd. Following
arrangements were accepted by both the companies :

(i) Goodwill of A Ltd. is considered as valueless.
(ii) Arrears of depreciation in A Ltd. amounted to ¥ 20,000.

(iii) The holder of every 2 shares in A Ltd. was to receive :
(1) As fully paid at par, 10 shares in B Ltd.; and

(2) So much cash as is necessary to adjust the right of the
shareholders of both the companies in accordance with the
intrinsic value of the shares as per their balance sheets
subject to necessary adjustments with regard to goodwill and
depreciation in A Ltd’s Balance Sheet.

You are required to :
(I) Determine the composite of purchase consideration; and

(IT) Show the balance sheet after amalgamation.
¥e v fafiee adum o wh T Syfdeal & T 3T T 30 Jfd i
W @lie @ 2 | gfd vl 89 % s s fefafea @ waE ®

() 39 3I9HW & fmior ¥ U rd-Teenierd Wi @ld @ @ g e o
W T 18,00,000 a1¥es TRt @F@ qur T 12 uid fAffa Iwww
iad- amTa St |

(i) 39 3YHW H §AH & € T T wefia @lidt a @mg s e w
F 30,00,000 aTf¥er Torft @rra qan T 10 gfa fffa sy afEdi=
AT AT |

Fr) I afier HATEvEhdl 5,00,000 3HFAT B hI GHEAT 8 3R 30 914

HET 6,00,000 $HEAT b S hl TRATEHT 8 | Y TETfod A1 IY-TF=ierd

e § A formehl SgwiEn S ? U SYET H AEYIH AT b WY

TehETd IATST | '

Great Ocean Ltd. is currently buying a component from a local supplier

@ T 30 each. As the supply is irregular, the company is considering the

following two proposals :

(i) Buy and install a semi-automatic machine for manufacturing this »

component, which would involve an annual fixed cost of
T 18,00,000 and variable cost of ¥ 12 per manufactured
component.

" (ii) Buy and install an automatic machine for manufacturing this

component, incurring an annual fixed cost of ¥ 30,00,000 and
variable cost of T 10 per manufactured component.
The annual requirement of the company is expected to be 5,00,000 units
and the volume is expected to increase to 6,00,000 units thereafter.
Would you recommend the automatic or semi-automatic machine ?
Justify your recommendation with necessary computations.

g

20

15



(c) ¥ qou M 8 ? Th W Wb S fo6 Q 7Ta o fw w e mn R,
aifes e =t Fuifd w0 A gl ot serm 2 s Hifvm |

What is Annual Value ? Illustrate the procedure of computing the
annual value of a house property which is let out throughout the

previous year. 15
Q3. (a) T, St Us B4 A HHUR B, 31 4E, 2021 F THIG B9 9T 9§ h 3 H
ffafiga foewor weqa s 2 -
’ T
R SR 2,88,000
TS Wl ' 57,600
Wﬁmwﬁwﬁfﬁ@ﬁ%ﬁm)ﬁmmm 40,320
o At d e o1 siveE 40,320
s sifesr fafyr (vt wug) & 9w w s 28,000
TG 24,000
S7faRr® Q?-?TC"

() e e g B #R &, R TereE aun Sen s gegd
=3 e A e foman | #R et qun wEiea % st % faw
H T |

Gi) 38 e § fFEgw smaE W vem fh mn, e R fei
1 ¥ 2,500 ¥ AT forren feam | 3@ v e a0t o ardgged 99
(-HEIRR) & T HA h ufa fich, e amma wa:
¥ 16,000 AT T 24,000 <ft, F=f% 01.04.2020 i I uferfgd o
A T 9,000 AT T 14,000 T |

(i) TN & Sflgd W T 480000@@%%%@39%%?4
T 24,000 1 Sfie sftwr siftem e o |
H-fAgir a9 2021 - 22 F T T % FA Iq1 H TR AT |

X, an employee of a firm, furnished the following particulars of his
income for the year ended March 31, 2021 :

z
Basic Salary 2,88,000
Dearness Allowance 57,600
Own contribution to recognized Provident Fund 40,320
Employer’s contribution to the above fund 40,320
Interest on balance in recognized Provident Fund 28,000
Bonus 24,000

LRNA-F-COMA g



(b)

(c)

Q4. (a)

LRNA-F-LOMA

Additional Information :

(1) X was provided with a small car for which the employer paid all
the running and maintenance costs. The car was used for official
as well as personal purposes.

(i)  He was also provided with rent-free accommodation at Kolkata for
which the employer paid a rent of ¥ 2,500 pm. He was allowed to

use one refrigerator and an air-conditioner costing ¥ 16,000 and
T 24,000 respectively, while their written-down values as on
01.04.2020 were ¥ 9,000 and ¥ 14,000 respectively.

(iii) Life insurance premium of ¥ 24,000 was paid by his employer on
an Insurance Policy for ¥ 4,80,000 on the life of X.

Compute the taxable salary of X for the Assessment Year 2021 — 22.

AGHA WHH-9 % AR TIES Weg ! Te HIfVT | 3 7g1 H1 Fasg A
‘Toe’ vieg H aftifera A€ it St | wre hit fosht @ TR @ FHE A=A
farert =nfe 2

Explain the term ‘Revenue’ as per AS-9. State the items not included in
the term ‘Revenue’. When should revenue from sale of goods be
recognized ?

IR d@ieh h IFuren 9 faRivarstt # Tase Hifvw | vt @ yore
% @ A 4 fafga = 6t fed=m Al |

Explain the concept and features of Responsibility Accounting. Discuss
the steps involved in implementing such an Accounting System.

P A e i & s et A Ric e ¥

aft : FNiE@T 5-F 25
g 49 @T 3-TF 12
FE, 2022 FE % AN IcdTed HRHA 7000 IHIFE T HW I oAT; Saifh

T8 ¥ SN aad § 8100 IHISAl 1 Icdted TR TET 9T | 40000 W
gmft & T 1,65,000 % e Hod W S T |

S, 2022 WEH * Iad feeie @ frefafga ofom wma gwoc
gl §ift o WM i — 35800 diE, YAE FH — 17200 =R
— ¥ 59,400 |

I ATt qen oW T & o FfT |
7

20

15
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(b)

(c)

LRNA-F-COMA

The following details have been extracted from the cost records of a
company : :

Material: 51bs@ T 5 - 25

Labour : 4Hrs@<% 3-% 12
The production schedule for the month of January, 2022 required the
completion of 7000 units; however 8100 units were actually produced

during the month. Purchase of materials of 40000 lbs was made at a
total invoice price of ¥ 1,65,000.

Production record for the month of January, 2022 revealed the
following :

Materials requisitioned and used — 35800 lbs, Direct labour — 17200 Hrs
- ¥ 59,400.

Calculate the appropriate material and labour variances.

AGTH T AN a5 & gura shi fqa=mn Shifsm |

Discuss the impact of behavioural sciences on Accounting.

quaTe HEIAHT T ARG Hd T Tk @i g faem fer 9 A
vq@ fagati i foa=m Hifsm | |

Discuss the major points to be considered by an auditor while conducting
the audit of charitable institutions.

20

15

15



wvs B
SECTION B

Q5. FrfeRaa weAl # & Tk 1 I TRIHT 150 Wegt | GG

Answer the following questions in about 150 words each :

(a)

(b)

()

(d)

(e)

Q6. (a)

CRNA-F-COMA

it ity Hrwa-fafor aisa’ i saren ST |

Explain ‘Capital Asset Pricing Model’.
mﬁfaﬁamsﬁmmﬁqaﬁaﬁﬁ?ﬁqﬁﬁﬁaﬁeﬁmﬁﬁ
ST HIT |

Briefly explain any five risks faced by the financial institutions in India.
i fola & aTee wisa i faasmn il |

Discuss Walter’s model of dividend decision.

gsft wrorea Fola & ey #§ wfowa i ag-onaftes q@ T @ Hi foes
i |

Discuss the problem of multiple internal rates of return in relation to
capital budgeting decision.

RRUTER! <l Guft Y 3Tfirehan HH & Iexd H AT HIWT |

Explain the objective of maximising the wealth of shareholders.

frffaa atfhel & qoM-T3 a1 AT frew dar Hifv :
<

(%) I/ YA | 9,60,000
(@) wrefE geft 3,64,000
(M) S rfufaewd 60,000
Sl g :

(i)  =el U S

(i) cafta g9 - 15

(iii) ETHea U - 080

(iv) @b @M JAE - 0-20

(v) by TEd U — 4

(vi) oA I aed — 36 fea

(vii) ¥ed ISt WG @™ — 10%

M ofife fF #8 owe afierafal af € | e Rt #§ w6,
I T 3R Uhe & HAfais 15 aimmtral & g | sf<m =i
YRR Wi § 20% ATt 2 | 91 &, T a8 4 360 fea 7@ i |

g
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10

10

10
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From the following data, you are required to prepare a Balance Sheet

and a Statement of Profit and Loss : 20
, 4
(a) Share Capital 9,60,000
(b) Working Capital 3,64,000
(c) Bank Overdraft 60,000
Additional information :
1) Current Ratio - 2
(i)  Quick Ratio - 15
(iii) Proprietary Ratio - 0-80
(Fixed Assets/ '
Proprietary Fund)
(iv)  Gross Profit Ratio - 0-20
(v)  Inventory Turnover Ratio - 4
(vi) Trade Receivables Turnover - 36 days

(vii) Net Profit to Paid-up Capital — 10%

Assume there are no fictitious assets. In the case of current assets, there
are no assets other than inventories, trade receivables and cash. Closing
inventory is 20% higher than the opening inventory. Also assume
360 days in a year.

(b) T HF A ISt wemen § Frafolea afdfaa €

>
Sferadt 9Rr Ooft : (2 100 3fe W) —  40,00,000
gfearia am — 20,00,000
% AT IR — 20,00,000
7% FO9T —  4,00,000
Fa 84,00,000
FHo Wl foR FwrA % fom-dme 3 %5000000@3113@%1%&11%
fere faferfaa forepea Sueew § -

() T 259 IR HfRm W 40,000 R ST w1 feiam

(i)  10% AME AIW *1 e

(iii) 8% Forg=l w1 friae

g A TR T g R gfrdt IR, iftmm R wE wues fm-diwer H
feufa & /e (d.4.) EmE waw: 21-4, 17 991 15-7 81 |

e o et oraht oft W 129 ffa et R | SR 1 & 50% |

mmmwmmmmm%mmm
ﬁmﬁmm‘-ﬂ%l
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(c)

Q7. (a)

LRNA-F-COMA

Capital structure of a company consists of the following :

z
Equity Share Capital : (Shares of ¥100 each) — 40,00,000
Retained Earning — 20,00,000
8% Preference Shares — 20,00,000
7% Debentures —_ 4,00,000
Total — 84,00,000

The company requires ¥ 50,00,000 to finance the expansion programme
for which the following alternatives are available :
(i) Issue of 40,000 equity shares at a premium of ¥ 25 per share

(i) Issue of 10% Preference Shares

(iii) Issue of 8% Debentures

It is estimated that in the case of equity shares, preference shares and
debentures financing, the PE ratios would be 214, 17 and 15-7
respectively.

Assume the company earns 12% on its capital with the income tax rate
of 50%.

You are required to evaluate the three financing alternatives and
recommend the best alternative suitable for the company.

HET TR 1 8 ? T foehféa qg1 aeir i feasivand wase hifse |

What is money market ? Explain the features of a developed money
market.

T FHE 3O AW Aot S @@ FA F faw T 20 9/ w1 Afafer fam
JeHT IRt B | 38 E (a9 % 39T ¥G T 4,20,000 Yfauria m & w9 A
IS R |
Hfafeen foramor fFreferfiaa € -
()  wodfrEd o — 30%/70%
(i) U H A T 3,60,000 TH — H A T 10% B;
¥ 3,60,000 % 1§ — X d Td 16% B;
(i) iAW AT T 82
(iv) NI YA A HT 50% &
(v) o 8 Infem afg =t 10% @
(vi) Wfd SRR =] 99K goF T 88 R
(vii) T S 50% &
st Afafes fod Jem 2q wfaew, sifafes o it s-averq siwa @rm,
yfaaia 1 it @ra aun awar gt (3fradt) i e v Pt e R

fafr fod it w-avarq Tmw wwifha shwa amma i moE oft il |

o

15

15



(b)

LRNA-F-COMA

A company wishes to raise additional finance of ¥ 20 lakh for meeting
its investment plans. It has ¥ 4,20,000 in the form of retained earnings

available for investment purposes.

Following are the additional details :
1) Debt/Equity mix — 30%/70%

(i)  Cost of debt upto T 3,60,000 is 10% before tax;
Beyond ¥ 3,60,000 is 16% before tax;

(iii)

(iv)

Earnings per share is ¥ 8
Dividend payout is 50% of earnings

(v)  Expected growth rate in dividend is 10%

(vi)

(vii)) Tax rate is 50%

You are required to determine the pattern for raising the additional
finance, the post-tax average cost of additional debt, the cost of retained

earnings and the cost of equity.

Also compute the overall weighted average after-tax cost of additional

finance.

e fofiee & ffafea afte Toe @@ @ 31 94, 2022 H @9 89 9™
g8 & foU d@T AF®-3 & FTER T fGfy & we v faamor daw

Current market price per share is ¥ 88

i |
Hftre Tevg @At
(31 uT=, 2022 ® TUTH g a1t a4 @ fore) (T °000 ®)
T T
01/04/2021 &1 A9 100 | Imafderatatt =t gram 4,000
Wﬁ‘ﬂﬁ%‘lﬁ’hﬁ 600 mﬁawﬁﬁt@r@ﬂa 400
el @ wiftaat 5,600 | SUREAT 400
79q giEFafat i fashi 200 | FIGH TE A 200
£ 500
ATHT 100
S U T YA 600
31/03/2022 i Y 300
6,500 6,500
7z :
ST % YT IS Tehg AU T8l 8 |
V74

20
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LRNA-F-COMA

From the following Summary Cash Account of Z Ltd., you are required
to prepare Cash Flow Statement for the year ended March 31, 2022 in

accordance with AS-3 using the Direct method. 15
Summary Cash Account
(for the year ended March 31, 2022) (% in ’000)
L4 %

Balance on 01/04/2021 100 | Payment to suppliers 4,000
Issue of Equity Shares 600 | Purchase of fixed assets 400
Receipts from customers | 5,600 | Overhead expenses . 400
Sale of fixed assets 200 | Wages & Salaries 200
Taxation 500

Dividend 100

Repayment of bank loan 600

Balance on 31/03/2022 300

6,500 6,500

Note :

The company does not have any cash equivalance.

W(ﬁﬁz)mw@m%?mwbqﬁmaﬁw
Hifvm |

What is corporate restructuring ? Explain the techniques of corporate

restructuring. 15
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Q8. (a) m%ﬁk%wﬁamaﬁmmwﬁﬁmﬁwﬁaﬁa
IS | YR IREATEH 56 afe hi TUHT HEA B |

T a ATH-ZI @t
(31 |T, 2022 St TETE A AT a8 & ferw) (T AT H)
T T
ARIh T fersht | 640
=l qTd o8 | rf<m =i : |
Ftonefiq 60 | =T A 32
LRI IS 40 | Trmiomefi wrl 80
F 480 | AR = 60
LELY 50
i == 30
ehed TN 124 |
812 812
HETGT Td JLEh = 32 | g% @™ 124
forsht v foawor = 16
g A 76
124 124

-9 (31 |1, 2022 ) (T T H)

IR s | ofeafyat -
o gft 600 | 4f% w@ WaA 300
Bl 320 | @ T Al 480
SIERCRAERCIG) 76 | I :
TGN 84 | =T W 32
fFotonefim v 80
LRI IS 60
A 104
T 24
1080 1080
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(i) <Rl 1 Afw A R F IR AT ¥ T 8 W@ A D |
(i) TSR 1 IR Ay T 24 g R |
(i) 3% 3R fasha el IUR & aR W fFe o § )

From the following information as contained in the Trading and Profit &
Loss Account and Balance Sheet of X Ltd., you are required to calculate
the operating cycle period. 20

Trading and Profit & Loss Account
(for the year ended March 31, 2022) (T in lakh)

g T
To Opening Stock : By Sales 640
Raw Materials 28 | By Closing Stock :
Work-in-Process 60 Raw Materials 32
Finished Goods ' 40 Work-in-Process 80
To Purchases 480 Finished Goods 60
To Wages 50
To Manufacturing Expenses 30
To Gross Profit 124
812 812
To Office & Administrative Expenses 32 | By Gross Profit 124
To Selling & Distribution Expenses 16
To Net Profit 76
124 124

CRNA-F-LOMA 4]



(b)

(c) _

LRNA-F-COMA

Balance Sheet (as on March 31, 2022) (¥ in lakh)

Liabilities g Assets g

Share Capital 600 | Land & Buildings 300
Loans 320 | Plant & Machinery 480

Profit & Loss Account 76 | Stocks :
Creditors 84 Raw Materials 32
Work-in-Process 80
Finished Goods 60
Debtors 104
Cash 24
1080 * 1080

Additional Information :

(i) Closing balance of debtors is ¥ 8 lakh more than the opening
balance of debtors.

(ii) Opening balance of creditors is T 24 lakh.

(iii) Purchases and sales are made on credit basis only.

_@h%aﬁmmﬁaﬁﬁméﬁﬁ%@maﬁﬁéﬂmﬁﬁm

Discuss the role of commercial banks in the economic development of a
country. ' 15

TffRrT T firer dies (T WS TH Aied) % IIER SF-TUA NihA
T I |
Explain the Arbritrage process as per the M&M Model. 16

/]




CIVIL SERVICES (MAIN)EXAM- 2023

I & STty (SvA-a3-1)
fuifa g : &7 T i 37 : 250

TyA-u wreeeft o srgRm

(W A ¥ @ Frafafas Féwt #t Fwn aaurigds ufew)
T A T & S D @vet & fwfia § qon Rt ik ol AN F B g R
vhenefl /i Fa@ utg T F IW A §)
W wE 1 3R 5 Afvar § aun 9t el # ¥ 70 @vs § FH-V-F9 T T AR o 9T 6 SW )
YAF TH/MT * iF 366 qA e T §)
T % I 36 Wiitpa mem § o s =i, fae sga e yaw-ua #§ fen e R, oiR 5| mem w we
IPE TH-TE-IN (Fo Hio To) Yfeen & gays | Fffe wm w frn s =ity wiftera mem & sifife
I fordt mem & fo@ T I W A 3w T fe)
A § we-di, sEf fafifde R, # sigar e s nfiw)
Ife EwEE A, A UG AThS F1 997 HIRT a9 h weaan Ffde i)

T % I A FAGER F Sh | afR Fer T D, AT F W AH WA A Seh TR 98 IR i
T R TA-HE-IW Y § @it SieT 3N U8 A1 IqSH W H WE FY A H WA AR

SKYC-U-COMA

COMMERCE AND ACCOUNTANCY (PAPER-I)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@us—A / SECTION—A

1. frefafas st 8 F yels &1 SW e 150 wss) & AR
Answer the following questions in about 150 words each : 10x5=50

(@) FAET ERT AR A A9H Gl (FFNF) VT aqd 27 IR A am @i F wro o Gl
1 T HIfST)

What is meant by buyback of shares by companies? Explain the reasons and
sources of buyback of shares.

(b) “‘ma & I i ufgw # A orEr e A it yfE B st @ 217 feogof
Hifs |

“Cost Accounting is becoming more and more relevant in the emerging
economic scenario in India.” Comment.

() THIR-TWHER W1 F WAl H1 AGI-THE A GHE T d@]-908F g1 far 6t 91 el
Y@ Al 1 G HIfg |

Explain the major points to be considered by an auditor while auditing the
accounts of a non-profit organization.

(d) @ AHH-12 (To Tho-12) F AR T IJFEHI % A@iH qGeR H 689 § =
|

Briefly explain the accounting treatment of Government Grants as per AS-12.

(e) “TF FWRE T FaA AT AW W H A & fog Iwerh } afew w1 ol 79 o o F
for ft s e 1”7 T Hifvy

“An assessee is not only liable in respect of his own incomes for tax purposes
but his liability may extend to some other incomes also.” Explain.

2. (a) ABfafies #1 31 W, 2022 i goa-1 fF=fafaa @

¢
1. 3f@Fh & e
1. ours f[fy .
(@) W qfiﬁ -
16000 §¥a1 319 @ € 100 % 0 wed 16,00,000
(b) RfEfaf wa ity (<) 21,40,000
2. yEfdd S :
8% U 28,00,000
Fia == 1,40,000

SKYC-U-COMA/6 2



3. e I ¢
fafay R 9,00,000
AT QTR 20,000
Fd  33,20,000
1. gReeafoat
1. yafera simeafmt
fd, waq qu 99 28,00,000
2. e giEefEr
% 2,00,000
fafay I_R 80,000
fraw 30,000
% T Fadl 2,06,000
Y § Tl 4,000

FA  33,20,000

Trft aRewfrEt v w9 @ Aftmfcra ) T e A 9IS 9y R E | Qe % g
ﬁ%mm%:

(i) WA W H T 10 97 TN 0 Ved dxar 7w # Iufawiim e e

(i) TR IUfIISA F UTEN, TS VU AN Uiar F 90% FEA N wHidd wm, qife
ITH! FUMT YR 9T WHeR] B W TR St owh, R sreavEas ® a9 3 ® W
feq smg

(iii) ¥ GWia 379 # ¥ 100000 FHar 379, & 10 ufd, S Fo9H uRH & oY 8% Aftmm
3w, € 10 wfa i wew, § seat faan s

(iv) FO9F YR F1 FA IE1 HHR € 10,00,000 F 1 @) W 100000 femE 37w,
& 10 wfd of wew, % frima g wge forn som

(v) Tafe" AR F 2@ A 80% | T STTW qo AT H THdG 7w ¥ €10 wfd F gof
TEH AT 379 S ek Fge TR smem

(vi) @wfda 3w, it frifia =& g &, frea o= feg s

T& wHa g T @it geEdl qun 2w g A B wiga R, s s
wfafeal a1Ee o A AR R % 918 B FEGHI B geH-UF AR IR

SKYC-U-COMA/6 3 [P.T.0,



The Balance Sheet of AB Ltd. as on March 31, 2022 is as under :

4
I. Equity and Liabilities
1. Shareholders’ Funds :
(a) Share Capital :
16000 Equity Shares of ¥ 100 each fully paid 16,00,000
(b) Reserves and Surplus (-) 21,40,000
2. Non-Current Liabilities :
8% Debentures 28,00,000
Accrued Interest 1,40,000
3. Current Liabilities :
Sundry Creditors 9,00,000
Income Tax Liability 20,000
Total 33,20,000
II. Assets
1. Non-Current Assets :
Land, Building and Machinery 28,00,000
2. Current Assets :
Stock 2,00,000
Sundry Debtors 80,000
Investments 30,000
Cash at Bank 2,06,000
Cash in Hand 4,000
Total 33,20,000

The fixed assets are heavily overvalued. A scheme of reorganization was
prepared and passed. The salient points of the scheme are the following :

() Each share shall be sub-divided into ten fully paid Equity Shares of
¥ 10 each

(i) After such sub-division, each shareholder shall surrender to the company
90% of his holding, for the purpose of re-issue to debenture holders and
creditors so far as required and otherwise for cancellation

(iii) Of those surrendered, 100000 Equity Shares of ¥ 10 each shall be
converted into 8% Preference Shares of ¥ 10 each fully paid for debenture
holders

SKYC-U-COMA/6



(b)

()

(iv) The debenture holders’ total claim shall be reduced to ¥ 10,00,000. This
will be satisfied by the issue of 100000 Preference Shares of ¥ 10 each
fully paid

(v) The claim of sundry creditors shall be reduced by 80% and the balance
shall be satisfied by allotting them Equity Shares of ¥ 10 each fully paid
from the shares surrendered

(vi) Shares surrendered and not re-issued shall be cancelled

Assuming that the scheme is duly approved by all parties interested and by the
Court, draft necessary Journal Entries and Balance Sheet of the company after
the scheme has been carried into effect.

e T T Pt F T I F IR FA R Ao o @ & S R € 150 fa e
¥ feam A R I 6 w7 wfy @ 10000 FHEE W G §) FFER F @ @ wdA
w1 s ¥ (WA—A @ wR—B), Al 3 W% wA f I awar wfa wd
10000 %At & Fefi—A 9 wurh @ra sfa &€ € 4,00,000 Bt 3R 10000 FFEE H
fsh W iy o € 5,00,000 F1 @ BT TAR—B A TRt @ gfi ad €2,80,000 Bft
3R 10000 TH1Ea! Hi el W wfy 3§ € 3,20,000 1 1N BT | IREHE AR AT AR H
e s w9 A @R Ht B

foeh B R@ T W AT WA ) e 3erEE g, SEeht o iR

A newly setup manufacturing company is planning to produce a product that
will be sold for 150 per unit. The demand of the product is estimated at
10000 units per year. The company has the choice of two machines
(i.e., Machines—A and B), each of which has a capacity of producing
10000 units per year. Machine—A would have fixed costs of ¥ 4,00,000 per
year and would yield a profit of ¥5,00,000 per year on sale of 10000 units.
Machine—B would have fixed costs of ¥2,80,000 per year and would yield
profit of ¥3,20,000 per year on sale of 10000 units. Variable costs behave
linearly for both machines.

Calculate the volume of sales at which the costs of two machines will be
indifferent.

W STER A, 1961 % Eer fanda fRify & = yrfma 27 e & e o
=fs i Prardta R frg R Ruifa /s R, e @ ==t fifvw)

What is the relevance of residential status as per the Indian Income-tax Act,
19617 Discuss in detail how the residential status of an individual is
determined for income tax purposes.

20

15

15
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3. (a) T=fRed gam & nur W, 9fF @R ¥R FR qa X fifiee grr oda 2022 # w81 T
Rt @l Y ToET Hf
yward
faator fAffa 3eare
A B @

IRy @i (T #) 8,000 9,600 6,400 24,000
Yy gt (T 1) 16,000 16,800 | 24,000
g weigd (T ®) 12,000 12,000 12,800
Iy (T ®) 11,200 4,800 32,000
rfm =i (T 1) 4,000 4,800 3,200 12,000
AT T (%) 33% 25 25
IR Wi F forg

IR-gisean @y (T H) = 1,600 1,600 8,800

sl & dRF R H TIE ARG R Gedifehd FHI1 I § G AR IR B IFI—C A T

Tl W geAifeha T Stman #1 3@ ovafy 3 <R fash € 2,80,000 i)

From the following information, prepare Process A/cs and calculate the actual

profits earned by X Ltd. for the month of April 2022 :

Particulars slkares 1 Fipished
A B C Stock

Opening Stock (in @) 8,000 9,600 6,400 24,000
Direct Material (in @) 16,000 16,800 24,000
Direct Wages (in @) 12,000 12,000 12,800
Overheads (in ) 11,200 4,800 32,000
Closing Stock (in ) 4,000 4,800 3,200 12,000
Profit on Cost (%) 331 25 25
Inter-process Profit for
Opening Stock (in ¥) — 1,600 1,600 8,800

Stocks in process are valued at prime cost and finished stock has been valued
at price at which it received from Process—C. Sales during the period were
¥ 2,80,000. 20

SKYC-U-COMA/6 6



(b) o A, 3§ fardt, 3 werrl 1 @t B, R faawo el @

Teh—I TehTH—II
e forran (fertmn Fre=

fufm F =wia) (T H) 38,000 36,000
TRUTfT JeiwA (T ) 40,000 45,000
3fea T (T H) 50,000 60,000
aredfaes R (T #) — 45,000
Ta o # e R T TR W (€ H) 6,000 7,250
Aty < fiftem (€ ®) 500 4,500
qrt gfaen R (37 feg 31em) (T H) 600 750
M & Fmio ¥g IW R | =W (T ) 22,500 5,750
a3 =1 TRt (37 foreg o1em) (T H) 750 750
rafer 1 3TE g & fem g ey ® fag

TR w

filo A 1 w-Rufw 9§ 202223 H FEW I@ A WA Fifvw) THFR—I F FE
Ht 2022 F gaN, Fafh wEE—I 1 FEin 2012 # gen) T@ oRfEf % aRom B TR
SAfufrm % TauE! % STFER FH Ig=a o smem?

Mr. A, resident of Chennai, owns two houses, the particulars of which are as

under :

House—I House—II
Standard Rent (under the Rent
Control Act) (in ©) 38,000 36,000
Municipal Valuation (in ) 40,000 45,000
Fair Rent (in ¥) 50,000 60,000
De facto Rent (in ¥) - 45,000
Municipal Taxes paid during
previous year (in ¥) 6,000 7,250
Fire Insurance Premium (in ¥) 500 4,500
Water Benefit Tax (due but
outstanding) (in ) 600 750
Interest on Loan taken to
construct the house (in ¥) 22,500 5,750
Rent of Lease (due but
outstanding) (in ¥) 750 750
Use of Assets Self-occupied Rented for

Residence

Compute the Taxable Income of Mr. A for the Assessment Year, 2022-23.
House—I is constructed in February 2022, whereas House—II in 2012. How
will the outcome of this situation be treated as per the provisions of the
Income-tax Act? 15

SKYC-U-COMA/6 7 | P.T.O:



(c)

4. (a)

“‘TraEr-gigm A ®9 A SgEuE (FRETE) T R i ageruE § et SR A
= wfsean 6t =men Hifve)

“An audit is not essentially an investigation.” Why? Explain the general
procedure followed in an investigation.

Afafiee 3 € 10 7&%F ¥ 160000 R ¥ fog € 2-50 vy R A e w, Framgar 27,
arréaaamﬁam:

3MAET F gE—F 3 9fd AW

e & THa—F 4-50 fa IR (SHfem F @)

ugel T W—F 2 ufd AW

Tt 9 rfm 9t R—F 3 wfd =R

340000 ¥} % forg smae ww ge, fl @ 20000 0 F fog emded @i R Ry 7 @ik
3% o7 A R e ) A9 e B gl e W R T eEe WoyaE R
T e TR 3T 7 e U % wf TR e wm

Fiha, e 4000 I afea forg g 9, aeea R F e T W g ok 9% AR
TRl R H PTAE T HA W I MR A Fea o @)

W, S f% 2400 Wi 1 urRF o1, A #/iA B Pram A F e w R wfRw At F ar
IqH AW H F=q F o )

e FhY T A # @ 4800 TR A €8 W AWM A R A f wew T W R wn, Rt
Fiya & wft s IR Wit ¥

MY A e (Fha 98) wfafdat dfm)

A Limited invited applications for 160000 shares of ¥ 10 each at a premium of
¥ 2:50 per share payable as follows :

On Application—® 3 per share

On Allotment—% 4-50 per share (including premium)
On 1st Call—¥ 2 per share

On 2nd and Final Call—¥ 3 per share

Applications were received for 340000 shares, out of which applications for
20000 shares were rejected and money refunded to them. The allotment was
made pro rata to the remaining applicants. Money overpaid on application was
used against allotment money due.

Kapil to whom 4000 shares were allotted failed to pay the allotment money and
on his subsequent failure to pay the first call, his shares were forfeited.

Ramu, the holder of 2400 shares, failed to pay the two calls and his shares
were forfeited after the final call.

Of the forfeited shares, 4800 shares were re-issued at the rate of ¥ 8 per share
credited as fully paid, including the whole of Kapil’s forfeited shares.

You are required to give the necessary Journal Entries.

SKYC-U-COMA/6 8
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(b) aA TN ¥ F w9 A fum i smuron & o Fifg) e F e geae i g@m
$ « faft @ R s Ry f gan fifv)

Discuss the concept of a division as an independent profit centre. Compare the
Rate of Return Method with the Residual Income Method of performance
evaluation of a division. 15
() T R sfufas, 1961 % Iigar fmfaRea i =men i
() =g
(i) VIR F THY FTH % qGA TH YA

Explain the following as per the Indian Income-tax Act, 1961 :
(i) Gratuity

(i) Leave encashment at the time of retirement 9+6=15

@WUvs—B / SECTION—B

5. FrfRed gt § @ yds F1 IW T 150 TR 7 AT
Answer the following questions in about 150 words each : ' 10x5=50

(@ %o Ho 3o Ao-Fo do THo Frvemw ¥ Tl F ‘Forefrr el forg’ 1 Iugeh IaTE *H
e i)

Explain the ‘Financial Indifference Point’ in the context of EBIT-EPS analysis
by giving suitable example.

(b) st G A o A R §oh s & wpa Pt = fif)

What is meant by capital structure? Discuss the major determinants of capital
structure.

() v ford o 6t Dz Hifa % R hi =ren A
Explain the objectives of monetary policy of the RBI.

(d) Ioh IR T &7 el 3w & e faemm & et s A sfftven i ==l i)

What is capital market? Discuss the role of capital market in the economic
development of a country.

(e) Taemm (woR) 71 27 faea & faftm waerd &1 avia Hifd)

What is merger? Explain various types of merger.
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6. (o) T TafRe st sm-wum Fwfo giaen it sgem =wEd 1 F Teifm yomed e A %

(b)

e weh s 1 e AR @ R 98 SgHH T T @ TR womeft % aRomeeeg wegh §
¥ 13,50,000; wHasht @ § € 4,50,000; I9EA % IRA Gl 'R € 1,50,000; 390
o # € 1,20,000 3R 3 wREeH @rdl § € 90,000 i afies s 2t

wefif yoreht 6 v € 22,50,000 TR H gEEAT @ IR g9 fae € 1,50,000 i T
AN Y IRl B | $ET ST Sfied 5 9 STgAia ' 1 JUIelt @ H@Eifed A % fag
w1 B A Wik e H Y N mewEEa B A v w1 aiffs I
¥ 4,50,000 BN\ 3EH 1 TG IR TWar@E i @ € 1,20,000 Bt At R
R 30% T aEH Jfawad R 12% T §C 1 foafiee #: gama e 5 38 whaem =
R FTA1 AL 41 78K |

TF TP F T 12% @ 5 a9 & fog dio e Tho 3:605 R

Moon Ltd. wants to replace its labour-intensive manufacturing facility. The
company is evaluating a project to install a machining system. It is estimated
that the system will result in annual savings of ¥ 13,50,000 in wages,
¥4,50,000 in supervisory cost, ¥1,50,000 in material losses during
production, ¥ 1,20,000 in inventory cost and ¥ 90,000 in other operating costs.

The machining system is likely to cost ¥22,50,000 and will require an
installation cost of ¥ 1,50,000. Its useful life is estimated at 5 years. To operate
the system, the company requires the services of two trained operators at an
annual salary of ¥ 4,50,000 each. Its annual repairs and maintenance cost is
likely to be ¥ 1,20,000. Assuming that the corporate tax rate is 30% and the
required rate of return is 12%, suggest Moon Ltd. whether it should accept the
project or not.

The PVF of an annuity @ 12% for S years is 3:605.

Frafafaa S 92 T ® TS gau fsh § @ X fafiees 3 feid @ fereh 7?1 se
i 2022-23 & fou st wRidE ISt A SEEEaS 1 q@EigAE @ ) T a8 A/
52 NI € :

FTgATa anfdes fesil—e 87,81,500

osht &t T | Y& @™ i IRaea—30%

TR I € S arelt HEa aRe—14 FHTE
ATER g & IR AT shed rE—7 |uTE

(ForsfY sTrarveanait % awaf #) aftaa Wer—12 wuE
o R T srterel # srmeRfRrRaredl % fw 15% Sie @
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The following information has been extracted from the records of X Ltd.
engaged in large-scale customer retailing. You are required to forecast its
working capital requirements for the year 2022-23. One year constitutes
52 weeks :

Projected annual sales—% 87,81,500

Percentage of net profit on cost of sales—30%

Average credit allowed to debtors—14 weeks

Average credit allowed by creditors—7 weeks

Average inventory carrying (in terms of sales requirements)—12 weeks

Add 15% of the computed figures to allow for contingencies 15
(c) e Pt (g we) @ &7 wra # yfea wearh fft & wrl w == i)
What is a mutual fund? Discuss the types of mutual fund prevalent in India. 15

7. (a) 319, 2022 # Fr=faRaa goa-m e mn g -

fararor afir
4
1. 3@ F ahcd
1. rryws [y .
Ha1 319 gSh 5,00,000
10% AfemE IR i 1,00,000
srfifeat T rftm 92,000
2. Iyfea e :
12% o9 4,00,000
3. =g IR ¢
fafay R 1,00,000
37 fau= 40,000
IR & T yaum 1,00,000
T 13,32,000
II. wRgmfaat
1. 3y=fda sfiemfEr
ot yfemf
(@) T3 giEFaRET
G99 g HEfie 2,80,000
i T WA 2,00,000
iR T ffen 1,56,000
6,36,000
2T : YeAg™ o foIg yrag™ 1,48,000
4,88,000
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4
(b) 31"{\'7 gttt
i (efaa) 80,000
Frem 3,00,000
2. T aiefEf
=1 gigwfal 4,40,000
dea T 4,000
TG IR =9 20,000
Fd 13,32,000
e mu gem-w3 @ FmfaRaa it o i
() FO-|EA A
(i) Tt I

(iii) TR AT AT
(iv) Trf i o @i wE @ g
(v) o iR (Frafen) sigam

The following Balance Sheet is given as on 31st March, 2022 :

Particulars Amount
¢

1. Equity and Liabilities
1. Shareholders’ Funds :

Equity Share Capital 5,00,000
10% Preference Share Capital 1,00,000
Reserves and Surplus 92,000
2. Non-Current Liabilities : .
12% Debentures 4,00,000
3. Current Liabilities :
Sundry Creditors 1,00,000
Bills Payable 40,000
Provision for Income Tax 1,00,000
Total 13,32,000

SKYC-U-COMA/6 12



Particulars Amount

L ¢
II. Assets
1. Non-Current Assets :
Fixed Assets :
(a) Tangible Assets :
Plant & Machinery 2,80,000
Land & Building 2,00,000
Furniture & Fittings 1,56,000
6,36,000
Less : Provision for Depreciation 1,48,000
4,88,000
(b) Intangible Assets :
Goodwill 80,000
Investments 3,00,000
2. Current Assets :
Current Assets 4,40,000
Prepaid Rent 4,000
Unamortized Preliminary Expenses 20,000

Total 13,32,000

From the given Balance Sheet, calculate the following :
(i) Debt-equity Ratio

(i) Proprietary Ratio

(i) Solvency Ratio

(iv) Fixed Capital Ratio from Proprietary Capital

(v) Capital Gearing Ratio 20

(b) TR % fQ F ware faaw w1 w0 v 27 77 Jwve vaE fEw @ frg wER P 27

What is the importance of Funds Flow Statement to the management? How is it
different from a Cash Flow Statement? 15

(c) wr@ fufor (fee o) w7 6% Rw, w6 aw dmeit i s Bk

What is credit rating? Discuss its objectives, functions and limitations. 15
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8. (a)

X fafiee it adum aiffs foht & 24 wfa 398 ¥ & 60 @ra ®1 wRada @va € 16 Wit 79
2 3R e @ € 5 wrE wfd ad R ) 3o adE T wER i e om|fy B @ 91 i el
@, S ft TR B, Tg 1 TEE B W R & forg Fefafaa sgam e e §

ez Hifa 178 | 278 | 3#ER
fosft # 3f& (%) — 8 30
forsht & g=a w0 1 vl 1 2 6

TAAH TR A 25% ¥ i A faht § gfg % 9= weh @@ § €1,00,000 R arfis
gfg &rft|

Forfl 1 fifed Siflaw & ® F fog #9-8-99 20 vfem W @ @, 9w ® fwa H
TEEHAT Bt |

35y qRfeufaa # X fafiee & fog wed et Sfee Hifa = anfi?

X Limited has its present annual sales amounting to ¥ 60 lakhs at ¥ 24 per
unit. Variable costs are ¥ 16 per unit and fixed costs amount to ¥ 5 lakhs per
annum. Its present credit period of one month is proposed to be extended to
either two or three months whichever appears to be more profitable. The
following estimates are made for the purpose :

Credit Policy 1 month 2 months 3 months
Increase in sales (%) — 8 30
Percent of bad debt to sales 1 2 6

Fixed costs will increase by ¥ 1,00,000 annually after an increase in sales

above 25% over the present level.

The company requires a pre-tax return on investment of at least 20% for the

level of risk involved.

What will be the most rewarding credit policy in case of X Limited under the

above circumstances?

(b) o FHE F AR | faawo = e g

A fafids B forfige C fafies
r=15% r=10% r=8%
k =10% k =10% k =10%
E=%10 E=¢10 E=F10

Jieet Aigd H1 T Fd §Q AR A1 FHIE1 § § TdH & G9A1 IR &6 Jed H T0FT FA 3

& A PTAE A (i) 20%, (i) 50% @ (i) 0% B
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Details regarding three companies are given below :

A Limited B Limited C Limited
r=15% r=10% r=8%
k =10% k =10% k=10%
E=%10 E=%¥10 E=¥10

Using Walter’s model, you are required to calculate the value of an Equity
Share of each of these companies when dividend payout ratio is (i) 20%, (ii) 50%

and (iii) 0%.

15

() o™ Pt (IR Ffieet) #:0 27 rfeyawen & fawm & fog sem §&f % wmt #1 aviv Fifvw)
Jem dsht oo 3 fafm s w of ==t fifvm)

What is venture capital? Explain the functions of venture capital for the
development of economy. Also discuss the various stages of venture capital

financing.
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